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Preface

These lecture notes are intended mainly for the 7th semester course ”Fluid Dy-
namics” offered by the Study Committee on Civil Engineering, Aalborg Univer-
sity.

The notes join the Danish tradition of education laid down by the textbooks
written by F. A. Engelund and J. Fredsge, but also the transport of thermal
energy is considered.

It is attempted to focus on the physics of flows and the corresponding mathe-
matical description. Thus, many of the equations, which are solved numerically
by the commercial Computational Fluid Dynamics (CFD) programs, are de-
rived and explained. Hopefully this gives the reader a good understanding of the
physics of a flow problem, making it possible to assess the quality of a numerical
solution given by a CFD-program.

Aalborg, March 2008

Michael Brorsen
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Chapter 1

Fluid Kinematics

1.1 Basic Assumptions

In order to find the motion of a fluid it is necessary to establish a mathematical
model able to describe the conditions in the real fluid properly.

A fluid is composed of molecules moving around almost freely, and no global
pattern is present in the placement of the molecules. Shear deformation of the
molecules only demands weak forces, but a compression of the molecules creates
very large repulsive forces.

If a resting fluid is exposed to shear forces, the molecules are always moving in
such a way that the fluid takes a new shape without any shear at rest. Think e.g.
of a glass of water being tilted. This is possible due to the lack of global structure
of the molecules and the very small forces necessary to move the molecules in a
way, which does not cause any compression.

The opposite contrast to fluids is solids, where a global structure of the molecules
(alattice) is present in most cases. Shear deformation is only possible by a defor-
mation of this lattice, and this deformation of the lattice necessitates considerable
forces, because all molecules have to be moved simultaneously. Consequently, a
given shear force on a solid only creates a specific, limited deformation of the
solid.

A water drop with a diameter of 7g5; mm contains approximately N = 1.8-10

molecules. In practice, it is therefore impossible to describe the positions of the
individual molecules in ordinary flows.



CHAPTER 1. FLUID KINEMATICS

Instead we choose to consider the fluid as a continuum, where the mass is dis-
tributed evenly in space. In this way we may use terms like

e density, p, defined as mass per unit volume. The density, therefore, depends
on the number of molecules per unit volume and the mass of the individual
molecule,

e stress, defined as force per unit area. Stresses are in reality the sum per unit
area of of all forces (including the forces caused by exchange of momentum,
see below) between the molecules on opposite sides of a section.

e fluid particle, defined as a fluid body with negligible dimensions. The
size of the fluid particle has to be small compared to the size of the flow
considered, but large compared to the size of the molecules. However,
these demands are not difficult to fulfill, see e.g. the example with the
water drop.

Consequently, the velocity of a fluid particle, ¥ = (v1,v2,v3), is defined as the
average of the velocities of the individual molecules

1 N
= ()
i=1

A large computational reduction is obtained by assuming the fluid to be a con-
tinuum, but a price has to be paid due to the missing description of the motions
of the individual molecules.

In a resting fluid the velocities of the molecules depend on the temperature of the
fluid. Because the directions of the velocities are random in space the average
value is zero, and the velocity of a fluid particle is zero.

In a moving fluid, the motions due to temperature cause an exchange of momen-
tum over a section, and this is equivalent to both a normal force and a shear
force on the section. This effect must be remembered, when considering the fluid
a a continuum.

First it is seen that exchange of momentum is equivalent to a shear force. We
consider two parallel speed walks moving at different velocities, see Figure 1.1.

For some reason the ’pedestrians’ (quotation marks because they are too lazy
to walk in the direction of the speedwalk) find it funny to swap positions. This
results in an exchange of momentum between the speedwalks. All persons are
assumed to have the same mass. Each time a person enters the fastest speedwalk,
his velocity in the direction of the speedwalk is increased by Awv; and his mo-
mentum is increased proportionally. According to Newton’s 2nd law, a force in

2



1.1. BASIC ASSUMPTIONS

ViHAY, 3 VitAv, @:>@—>
S g e

Figure 1.1: Dynamic equivalent descriptions of persons on two speedwalks.

the positive direction of the x;-axis acts on him, and according to Newton’s 3rd
law he is acting on the speedwalk with a force of same size, but in the opposite
direction.

Similarly, the reduction in momentum of the persons landing on the slowest
speedwalk results in a force acting on the this speedwalk in the positive direction
of the z;-axis . The forces acting on the two speedwalks have the same size.

All in all, despite the swapping of persons, the mass of each speedwalk is constant,
but the exchange of momentum is equivalent to two equal forces in opposite
directions.

Consider the flow along a wall, where the fluid particles have increasing velocities
in the the direction away from the wall, see Figure 1.2.

X, X,
A ; A
\ v,
”””””” >7’ \
R .<' . = s K
,k'/ X, y X,
s -
set of molecules continuum

Figure 1.2: Dynamic equivalent descriptions of a fluid.

If the flow is described as a set of molecules (e.g. the speedwalk example), it is
seen that the passage of molecules through section A-A (due the motions caused
by temperature) results in an exchange of momentum equivalent to a shear force
between bodies of water separated by the section. It is so, because the molecules
crossing the section in downward direction on average have the largest horizontal
velocity components.

If the fluid is not described as a set of molecules, it should be remembered to
model the effect of the momentum exchange by introduction of the corresponding
shear stresses in the continuum.
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Because the shear stresses in a fluid are mainly caused by exchange of momentum,
they are independent of the normal stresses. It is therefore unfortunate that
shear forces in a fluid are sometimes called friction forces, because friction forces
between solid bodies are proportional to the forces in the direction of the normal.

The size of the exchange of momentum depends on the temperature-dependent
motions of the molecules, i.e. of the type of fluid, but also of the velocity gradient
in the flow.

It is therefore natural that experiments have shown that the relation between
shear stress and velocity gradient can be described by Newton’s formula :

Ov
7’21:,“'67%; (1.1)

where 791 is the shear stress component in the x;-direction on a plane perpen-
dicular to the xo-axis, and p [ Nm~=2 s=Pa - s] is called the dynamic viscosity.
The name is adopted, as unit of force (N) is part of the unit for this type of vis-
cosity. Viscosity is a measure of the ability of the fluid to flow freely. Normally
w1 primarily depends on the type of fluid and the temperature.

Often, however, we apply the quantity kinematic viscosity defined as:

v= % [m2s~!] (1.2)

This quantity is introduced, as the the ratio px/p often appears in the equations
describing flows.

In a resting fluid we have dv;/0z5 = 0 everywhere, and Newton’s formula there-
fore correctly predicts the absence of shear stresses in a resting fluid.

Notice that in a flowing fluid we have 72 = 0, where the tangent to the velocity
profile is 'vertical’, i.e. if vy /0zo = 0.

1.2 Compressibility of Fluids

A fluid volume, X, subject to a small increment in pressure dp from p to p+ Ap,
will experience a change in volume of AX from X to X + AX. Experiments
have shown that the relation between Ap and AX reads:

AX=——="-Ap (1.3)

|



1.2. COMPRESSIBILITY OF FLUIDS

where K is a constant, called bulk modulus of the fluid [ N/m? ]. The minus-sign
is present, because the volume is decreased, when the pressure is increased. For
water e have Kygter = 22 - 108 N/m?2.

For small values of Ap equation (1.3) can be rewritten to:

dx
dp=—K -2 14
p e (1.4)

Integration on both sides of the equation yields:
dX
dp=—-K | —
/ P / X
or

p=—KhX+C (1.5)

The constant C is determined by adopting the initial conditions, where the pres-
sure p, corresponds to the volume X,. This gives:

po=—KhX,+C = C=p,+KInX,

Substitution of C' into equation (1.5) yields:

X
—pe = —Kln—
p—p "X,

Finally this expression is rewritten to:

—e K (1.6)

If the increase in pressure is 1 atm= 1.013 bar= 1.013 - 10> N/m?, the relative
change in volume for water reads:

X R — 0.999054

Xo
This compression is so small that we normally may consider water incompress-
ible.

A bit surprisingly this is also valid if the fluid is air, but only in air flows, where
the flow velocity is small compared to the speed of sound (pressure waves). This
can be seen by adopting a few, simple considerations.

In the first run one has to take the compressibility into account. As the mass of
a fluid volume, m, is constant, the corresponding change in density reads:

Am=A(pX)=XAp+pAX =0 (1.7)

5
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or
AX Ap
— = 1.8
X ) (1.8)
Substitution of this into equation (1.3) gives:
AX Ap
Ap=—-K - — =K. -— 1.
p e P (1.9)

From experiments we know that in the flow direction the change of pressure and
velocity from one point to the adjacent point approximately reads:

Ap = 7%pA(’U2) (1.10)

i.e. an increase in pressure corresponds to a decrease in velocity. The expression
follows from Bernoulli’s equation (see chapter 3).

As shown in most textbooks on basic fluid mechanics, the propagation velocity
of a change in pressure (the speed of sound), ¢, in a fluid reads:

K=pc (1.11)
Substitution of the expressions for Ap and K into equation (1.9) gives:

Ap Ap —1/2pA(v?)  —1/2A(v?) (1.12)
p K pc? N c? '

The order of magnitude of the relative change in density is overestimated if it is
assumed that

‘A(U2)| = |A('U2)‘m¢lz = U?na:c - 02 = U?na:c
where V4, is the maximum velocity in the flow, and in practice one may adopt
the expression

A pl 02
< UYmaz 1.13
5 2 (1.13)

The speed of sound in air is ¢4 & 330 m/s, and for flow velocities up to 30 m/s
the change in density is less than 1 %. In practice flowing air is assumed to be
incompressible in civil engineering problems.

However, notice that some dynamic phenomena like underwater explosions and
water hammers in pipes are impossible to describe at all, unless the compress-
ibility is taken into account.

6



1.3. BASIC KINEMATIC CONCEPTS
1.3 Basic Kinematic Concepts

Below we define some concepts, which are often adopted to describe the kine-
matics of a flow.

e particle path

The path of a fluid particle is the curve in space along which the particle
is moving. This curve can in principle be given as z; = z;(t), where t
is the time. Marking a particle with some dye and taking a photo with
long exposure can visualize the path. It is also a possibility to place small,
coloured spheres with the same density as the fluid, and then record the
motion with a video camera. A subsequent digitizing of the position of the
sphere on each picture (i.e. At sec apart) makes it possible to draw the
path.

e velocity field

The velocity field of a domain is defined as the set of velocities (vectors)
for the particles at a given time.

If the path of the particle, x(t), is known, the velocity, v;, for a specific
particle reads:
dIi
YT
The velocity field is therefore found by determining the position and ve-
locity for all particles at a given time ¢.

= v, (t) (1.14)

However, in fluid dynamics it is normally easier to determine the velocity
field first, i.e. determine the velocity of the particles, v;(zy,t), when they
are at given points zj, and determine the paths later on by integration of
equation (1.14).

A velocity field can be visualized by marking a set of particles and take
a photo with short exposure. Every particle is shown on the photo as a
small line segment proportional to the velocity at that position.

e two-dimensional flow (plane flow)

If the total velocity field can be found by displacing the velocity field of
a single plane perpendicular to that plane, the flow is two-dimensional.
If the flow takes place in e.g the z; xo-plane, we have vy = 0. Moreover
vy = vy (21, T2,t) and vy = va(1, T2, t).

e steady flow

If the velocity field is independent of time, i.e. v; = v;(zy), the flow is
called steady. Notice that the velocity field only gives information about
the velocity of particles, when the particle passes through the fixed point

7
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z. If the same particle has different velocities at two points, acceleration
must be present even though the velocity field is steady! See also Section
1.4.

streamline
A streamline is defined as a line, which at all points has the local velocity
vector as the tangent at a given time ¢,. See Fig. 1.3. If z; denotes the

dx . V.
1 1

streamline

Figure 1.3: Definition of a streamline.

position vector to a point on the streamline, and dz; denotes a vector which
is tangent to the streamline at z;, the coincidence of this tangent and the
velocity vector at x; may be expressed mathematically as v; = k - dx;,
where k is a constant. This gives:

(% V2 (%3
k=—=—"—=—" 1.15
dzr 1 diZIQ d:L‘g ( )
which in fact are two coupled differential equations. Sometimes these equa-
tions can be solved analytically, but a numerical solution is always possible,

if we know the velocity field, v; = v;(xg, t).

It is directly seen that in a steady flow both streamlines and paths are
firm curves. Because a particle that all the time moves along the tangent
to a curve will stay on this curve, it is finally seen that in a steady flow
streamlines and particle paths coincide.

Notice, that this is not the case in unsteady flows.

Uniform flow

In areas where the streamlines are parallel, and the velocity is constant
along a streamline, the flow is called uniform or unvarying. Such a flow
in a pipe is also called fully developed flow. However, the flow is called
non-uniform or varying in areas, where the mutual distance between the
streamlines varies, and the velocity varies along a stream line, see Fig. 1.4.
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streamline

e

uniform non-uniform uniform

Figure 1.4: Uniform and non-uniform flow.

N7 \(
_____ - laminar flow turbulent flow
K; %M
L —

Figure 1.5: Laminar and turbulent flow.

e laminar flow

If we consider e.g. the flow in a pipe, so-called laminar flow is present at
rather small velocities. This flow is characterized by a smooth variation
of the velocity field and if the paths (=streamlines in steady flow) are
visualized by e.g. smoke or dye, it looks like the flow consists of layers
(laminae in Latin). If dye is injected into the flow through a thin pipe, the
colored line will appear sharply over a fairly long distance, see Fig. 1.5.

If the rate of volume supplied to the pipe is constant, the velocity at every
point is constant with time, and the flow is steady.

If the rate of supplied volume is varying with time, the flow is unsteady
and the velocity at every point is varying with time, but in a laminar flow
this variation is smooth.

o turbulent flow

When the velocity in a pipe is raised above a specific level the type of
flow changes from laminar to turbulent. The latter flow type looks highly

9
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restless, because the main flow is full of eddies of different sizes. The
presence of these eddies causes a strong mixing of dye from a thin pipe,
and the coloured line quickly goes blurred in a turbulent flow, see Fig. 1.5.

A time series of the velocity at a point shows strong variations (fluctu-
ations) even though the rate of supplied volume is constant with time.
Turbulent flows are in principle always unsteady.

Normally, it is impossible to describe all the details of the short periodic
fluctuations, and in practice one has to be satisfied by a description of
velocities, which are smoothed with time. All frequencies above a specific
limit are filtered away by use of a so-called low-pass filter. The most primi-
tive way of doing this is by calculation of the mean value of the velocity over
a given time interval. The flow corresponding to these smoothed velocities
is often called the mean flow.

A constant rate of supplied volume leads to a time invariant mean flow, and
the corresponding flow is often called steady turbulent flow, even though it
should be called steady mean flow.

The transition from laminar to turbulent flow always takes place if the
velocity is exceeding a specific value. An observation that is supported by
theoretical considerations, see chapter 5.1. Observations and theory have
shown that the type of flow depends on the so-called Reynolds’ number:

V-L

v

Re= -~ [-]

where

is a characteristic velocity [m/s]

is a characteristic length [m)]

NSRS

is the kinematic viscosity of the fluid [m?/s]

means that Re is a non-dimensional parameter

1.4 Rate of Change

We consider a scalar, ¢, which may depend on both position and time, i.e.

¢ = p(xp,t) (1.16)

Typical examples of such a scalar are pressure, p, temperature, T', or a component
of the particle velocity like v;.

10



1.4. RATE OF CHANGE

We will focus on the changes of ¢ that are observed by an observer moving in
space with the velocity :
dx?bs
Ut = —i- 1.17
If the observer moves the distance dx; away from the initial position during dt
seconds, we know from mathematics that the change of ¢ reads:

asodt—f— 6(pd obs+ 8<pd obs+ 890d obs (118)

do =5 oz, Oz O3

Division by dt on both sides of the equation gives:

dﬁ 67(,0 8<p dl‘Obs 8(,0 dmObs 8(,0 dl’Obs
dt 0t Odxy dt | Odxy dt  Ozz dt
890 3@ b
= i 1.1
ot 8 U (1.19)

after equation (1.17) has been substituted. As the quantity dy/dt indicates how
quickly the scalar is changing, it feels natural to call it the rate of change of the
scalar. Notice that the rate of change is directly proportional to the velocity of
the observer.

If the observer remains on the spot, i.e. U2 = 0, giving

de _ Op
dt ot

it is natural to name % the local rate of change.

Example: Rate of change of pressure.

Around a depression (low pressure) the isobars (lines with constant pres-
sure) are situated as shown in Fig. 1.6. The depression and the isobars are
moving in the negative direction of the z;-axis at the constant velocity 20
km /hour.

A train is moving at the constant velocity Virqin = 75 km/hour in the
direction of the x1-axis.

What rate of change of the pressure (mb/hour) is observed on a barometer
in the train ?

In this case the equation for the rate of change reads:

dp op  Op _
(dt>train 6t * 8 T1 V;T‘”n

11
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1030 mb 1020 mb

: 100 km !

[ [

| | X,
s | >~

: train Virain :

| | 20 km

- >
|

isobar,t=1 hour isobar,t= 0

Figure 1.6: Rate of change of pressure in a train.

Because the isobars are moving 100 km in 5 hours, a decline in pressure of
10 mb in 5 hours is observed at a fixed point. This gives:

dp Ap —10

— ~ — =——=-—2mb/h

ot ~ At~ 5 mb/hour
Furthermore, the pressure declines 10 mb per 100 km in the direction of
the z;-axis, giving:

op Ap -10
— =~ —=——=-0.1mb/k
dx1 Az 100 mb/lm

The total rate of change of pressure in the train therefore reads:

d
(Cf;) = =20+ (=0.1-75) = =2.0 = 7.5 = 9.5 mb/hour
train

Often we are interested in the rate of change corresponding to an observer follow-
ing a specific fluid particle, i.e. we have U = v;. This rate of change is often
called the substantial rate of change or the particle rate of change. Both names
try to invoke the feeling that we are following a specific particle. Sometimes
the substantial derivative is given the special symbol D/Dt, purely a mnemonic
device, not intended to frighten the readers! The part of the rate of change
caused by the motion of the observer (= the motion of the particles) is called
the convective rate of change.

The rate of change of the velocity component (i.e a scalar) v reads:

dvy _ v, Ovrrops
dt — ot ' ox; °

12



1.5. THE CONTINUITY EQUATION

Because we have similar expressions for the two other velocity components, it is
seen that the expression for the rate of change of a scalar can be generalized also
to be valid for vectors, i.e.

dvk 8?1k 8’0/C ob
— . Jovs 1.2
dt ot 8:1:1 UZ ( O)

If the observer follows a specific fluid particle, i.e. U?* = v;, the substantial
rate of change for the particle velocity reads:

dve (_ Dug _ Ove | Ove
dt \~ Dt ) ot oz U

(1.21)

Because this substantial rate of change is the change of velocity per unit time
for the actual particle, it is in fact the acceleration of the fluid particle.

Equation (1.21) can also be adopted to explain why acceleration may be present
in steady flow. Steady flow means that all velocities do not change with time
at fixed points, or we have the local rate of change of the velocity equal to zero
everywhere. But the convective part of the rate of change caused by the motion
of the observer (= the motion of the particles) is different from zero if the velocity
gradient

a’l)k

This is the case for e.g. the flow in a channel of varying width.

grad ¥ =

1.5 The Continuity Equation

Conservation of mass is the basis for one of the most important equations in
fluid dynamics.

The flow through a fized, closed surface of arbitrary shape, A, is considered. The
surface A bounds the volume X. If the outward unit normal to the surface is
denoted 77, the definition of the area vector, djél, corresponding to the area dA,
reads:

dA =ii-dA (1.22)

The length of the area vector is therefore equal to the corresponding area, because
|7i| = 1. The increase in mass inside the surface is equal to the resultant inflow
of mass through the surface. In vector notation this can be expressed as:

/@dX:/—pﬁ-cfA (1.23)
x Ot A

13



CHAPTER 1. FLUID KINEMATICS

X3

p=p (X;,1)

Figure 1.7: The equation of continuity. Definition sketch.

and in tensor notation as:

x Ot A

This equation can be rewritten by adopting Gauss’ divergence theorem, which

in vector notation reads:
/f- J’A:/ dividX (1.25)
A X

and in tensor notation reads:

/lidAi:/ 0L 1x (1.26)
A b'e (9.’Ei

Here divergence of a vector field, ﬁ is defined as

.~ 0 Ol Ol3 al;
divl=—+—+—=

v 81‘1 + 8$2 + 81‘3 61‘i

If the vector field, I[; = —pwv;, is considered, Gauss’s divergence theorem reads:

/—pvidAi:—/ Olowi) 1%
A X 81}1

which substituted into equation (1.24) gives

[ I(pvi)
/Xat dX = /X 0z, dX

dp | 9(pvi)
= X =

This equation is only fulfilled for an arbitrary choice of X, if the expression in
the parenthesis fulfills:

(1.27)

dp  O(puvi)

=0 (1.28)

14



1.5. THE CONTINUITY EQUATION

which is called the continuity equation.

Differentiation with respect to x; gives:

Op  Op - Ov;
at oz, P o,

=0 (1.29)

Following a specific particle the rate of change of the density, p, reads:

dp 8p4+ 9
dt ot 83:1

Equation (1.28) can therefore be rewritten to:

dp ov;
+ 33:Z

=0 (1.30)

As shown earlier, it is a good approximation in many situations to consider a
fluid incompressible, i.e. p = constant < dp = 0 for a particle moving with

the flow. Consequently, the substantial rate of change reads:
dp
P _ o
dt

which substituted into equation (1.30) gives the continuity equation for an in-
compressible fluid:

8vi Bvl 81}2 81)3
= L+ 24+ == 1.31
Ba:i 8:1,'1 8.’132 83:3 0 ( 3 )
or
div =0 (1.32)

15



CHAPTER 1. FLUID KINEMATICS
1.6 Vorticity

A very important vector quantity in fluid dynamic is defined by the cross-product
between the gradient vector d( )/dz; = grad() = V() and the velocity vector
v; = U. The new vector is called the vorticity of the velocity field and is normally
denoted curl ¥ or rot ¢ . In the rest of this book the notation rot ¥ is adopted.
Because the author finds it rather difficult to understand equations where cross-
products are expressed in tensor notation, all equations with cross-products are
expressed in vector notation below. Notice also that in the following the vectors
€1, €3 and €3 denote unit vectors in the directions of the zi-, x2- and z3z-axis,
respectively.

> > > dv dv
€1 €2 €3 612 - 83:2
== 7| 0 ) ) — | 8vi _ owvs
rotv=V x ¥ S e o L — o (1.33)
o 3
v b2 U3 0.~ Ows

In the descriptions of flowing fluids rot ¢’ frequently appears, and in practice it
is important to determine, whether rot v = 0 or not. Fortunately, it is possible
to give a physical interpretation of rot . To do this we consider the motions
of the fluid particles placed on two lines originally perpendicular to each other.
The placement of the two line segments is found before and after the time dt
has elapsed, see Fig. 1.8. The line segment AB turns the angle do [rad] during

X2
/

Fortegnsregning
for vinkler

(vit v dxy, vyt L"i dx;)

8X2 0x
C
6v2 .
dx, ﬁdxl dt
dx; B
A
ovy ovy
(v5v,) (VﬁaTldX]aVz*aTl dx) Zi dx,-dt
> X > X

=0 t=dt
Figure 1.8: Angular motions of line segments in a velocity field.

dt [secs], and the expression for da reads:

9 gy dt

2]

do =
d!l?l + 87;1 d:z;l dt

16



1.6. VORTICITY

This gives the angular velocity:

onp=da B
dt  day + 2 day dt
For dt — 0 we find: 5
s2.dry Qv
axl 2
_ = 1.34
wAB d!El 811 ( )

In the same way we find for the segment AC :

— 24 dz, dt

- dxo + % dxo dt

The negative sign is caused by a negative angular motion for g—;; > 0. The
angular velocity of AC reads:

—du gy
Ozo 2 (9’01
=2 = _——— 1.35
wac dxo Oxa ( )
Hereafter we find the mean angular velocity for the two segments to be:
1 31}2 81}1
Wmea 2 (Wap +wac) 2 (8m1 8302) ( )

If this expression is compared to the 3-component of rot v, it is seen that

1 _
Wmean = 5 (I‘Ot U)B

or
(rot ¥)3 = 2+ Winean (1.37)

Physically it is therefore possible to determine if (rot ¥)s = 0 or not, if we can
visualize Wyeqan. The easiest way to do this is by insertion of a so-called “vorticity
meter” into the fluid. The vorticity meter consists of two plates fixed at a
right angle to each other. The plates may rotate around the line of intersection
between the two plates. Each plate tries to move with the surrounding fluid.
If the meter is not rotating, the two plates are therefore trying to rotate at
equal, but opposite angular velocities. This corresponds to wyeqn = 0 and also
(rot ¥)3 = 0. By subsequent changes of the axis of rotation, it is possible to find
the two other components of rot ¢’ in a similar way.

Of course rot ¥ can be found directly from the definition, equation (1.33), if the
velocity field is known. Sometimes it might be easier to determine rot ¢’ indirectly
by adopting Stokes’ theorem:

/U.d}:/rotﬁ.ﬁcm (1.38)
L A

17
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Axis of rotation

Figure 1.9: Device (”Vorticity meter”) for "measurement” of the x3-component
of rot v.

—_
A%

Figure 1.10: Stokes’s theorem, definition sketch.

where ds is a vector on the closed curve L bounding the surface A and 7 is the
unit normal to A. The left-hand side of Stokes’s theorem is often called the
circulation defined by T' = [, ¥ - ds.

We consider a plane surface with an area A, so small that rot ¥ =~ constant and
71 & constant can be assumed over the area, and the velocity is varying linearly
along the boundary. In such a case Stokes’s theorem reads:

P=> ¥ As=rot¥-ii A (1.39)
L

If A is placed in the x; z2-plane, we have rot ¥ - 77 = (rot ¥)3 and from equation
(1.39) one finds:

—

DL U-As

(rot 7)3 = =L 2%

A

It should also be stressed that in principle the size of rot ' has nothing to do
with the shape of the particle path. To demonstrate this we consider two plane
flows both having concentric circles as paths.

18



1.6. VORTICITY

Figure 1.11: Usage of Stokes’s theorem to calculate (rot¥)s.

Example 1: irrotational flow (rot 7 = 0)

Figure 1.12: Irrotational, rot @ =0 for r > 0.

The velocity field in this example expressed in polar coordinates reads:

U= (vr,v9) = (0, %)

where k is a constant. The tangential velocity component is inversely
proportional to the distance to the origin, and the flow is two-dimensional.
In this flow the two plates of a vorticity meter will be affected to turn
in opposite directions. A plate directed in the radial direction will turn
clockwise and a plate directed in the tangential direction will turn counter-
clockwise. If a physical experiment is conducted it can be seen that the
meter is not turning. We therefore know that (rot @) = 0. This can of
course also be shown mathematically, and in this case it is very easily done
by adopting Stokes’s theorem.
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Example 2: rotational flow (rot 7 # 0)

The velocity field in this example expressed in polar coordinates reads:
7= (UT-,'UQ) = (O,W : 'r)

where w is a constant. The tangential velocity component is thus pro-
portional to the distance to the origin. It is seen that the flow is two-
dimensional, and the motion corresponds to a rigid body rotating at the
angular velocity w. The axis of rotation is perpendicular to the x; xo-plane.

X2

V6:0)~ T

‘Xl

Figure 1.13: Rotational flow, rot ¥ # 0.

X3

Figure 1.14: Velocity field corresponding to rotation of a rigid body about the
T3-axis.

In this case both plates of a vorticity meter are affected to turn into
the same direction (counter-clockwise). Consequently, the meter will turn
counter-clockwise, and we have (rot ¥)s # 0.

Because both plates will rotate at the angular velocity w, we have wy,eqn =
1(w+w) = w. From equation (1.37) it is therefore seen that (rot @); =
2 Wmean = 2 W.

20



1.7. INSTANTANEOUS VELOCITY FIELD

If this two-dimensional flow is described in an x; 2 x3-coordinate system,
it can be seen that the motion corresponds to the rotation of a rigid body
about the x3-axis at the angular velocity & , see Fig. 1.14.

The velocity field may be expressed as:

— — —

€1 €9 €3
T=dx7F=] 0 0 w |=(-wzwz,0)
r1 X9 I3
where & = (0,0,w) is the angular velocity and ¥ = (z1,22,23) is the
position vector to the point at which the velocity is calculated.

This gives:

€1 € €3

P 2| =(0,0,w — (~w)) = (0,0,2w)

8:1:1 awg

Q

rotv =

z3
—wzy wxzy O

If a fluid rotates about an axis like a rigid body, it is seen that both methods
to determine rot ¢’ result in the equation:

rot v =2 & (1.40)

Thus all fluid particles rotate with a rotation vector, which is half of rot v.

1.7 Instantaneous Velocity Field

In general the velocity field can be expressed as:
v; = vi(Tk, t) (1.41)
where xj, is the coordinate to a fixed point and ¢ is the time.

We now want to consider the flow at a specific moment, ty3. Time is therefore
not an independent variable of the considered velocity field, which we name the
instantaneous velocity field . We denote this field

vf”” = v;(zk, to) (1.42)

In the following the superscript “*** and ¢y are omitted to improve the overview.
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Figure 1.15: Definition sketch, instantaneous velocity field.

Furthermore, we only consider the instantaneous velocity field at points close
to point P situated at Zp. The particle velocity at this point is denoted Up.
Similarly, position and velocity at the adjacent point @) are denoted Z¢ and v,
respectively. The following relations are valid:

To—Zp=d¥ and Ug — Up =dU = (dvi,dvs,dvs)
where
0 0 0
dvy = gu d;vl—i—ﬂ dacz—i—ﬂ dzs
8331 P 81‘2 P 61‘3 P
= ) e = grad(vy)| - d (1.43)
9z |p

where |p means that the quantity is calculated at point P.
Equation (1.43) can be generalized to

- 8’Ui
o 3:1:j

dv; drj = grad(v;)|p - dx (1.44)

P

where the tensor g;”i

is called the wvelocity gradient-tensor.

Again, to improve the overview |p is omitted below. However, it is essential
for the physical interpretations to remember that all gradients are calculated at
point P.

The velocity gradient tensor can be divided into a symmetric part and an anti-
symmetric part, which gives
8vi - 1

dv; = —dx; = =
v 3£Ej :I:J 2

81}1‘ 8'l)j 1 8”Ui 8vj

dx; - _
&vj + 8Z‘l) i + 2(8.’1?]' 85171

( ) da; (1.45)
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1.7. INSTANTANEOUS VELOCITY FIELD

This equation can be rewritten to
d’l)i = €45 d$j + W d.’Ej (146)

where the deformation tensor e;; is defined as

- 1 81),‘ 8’[}]‘
€ij = 5(3% o2, (1.47)

and the spin tensor w;; is defined as

1 (’)vi ij
i == — 1.48
Wij 2(am] 6(1:1) ( )
The two tensors written fully read:
d 1/9 d 1(9 d
ER (AR DN (C-RE =)
J— o) o) o} [é) 12}
eij = | 3(5 + 52b) d2s 2 (5 + 552) (1.49)
1.9 9 1.9 d d
3(oey o) 3(Gmy + o) des
and
1/8 d 1,8 9
0 3(om ~anr) 3(Gm ~ aar)
P 1o} 12} 12} 1o}
wii = | 3ozt~ o) 0 2 (o — o) (1.50)
1,0 12} 1,0 12}
2 ddm-gm) o

From the equations (1.49) and (1.50) it is clearly seen that the deformation
tensor is symmetric and the spin tensor is antisymmetric.

By substitution of the definitions:

vt = ey da; (1.51)
dvisp'in = Wiy d:cj (152)

the increment in velocity corresponding to the instantaneous velocity field reads:

dv; = dv®™ + dpsP™" (1.53)

1.7.1 Deformation Tensor

First we shall show that the motions caused by the velocities corresponding to
the deformation tensor, e;; causes a deformation of the body of fluid around point
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P. This is done by placing a coordinate system with the axes coinciding with
the principal directions or eigenvectors for e;;. Per definition, the eigenvectors
for e;; (= e in matrix-notation) are the solutions to the equation

ed¥ = \dZ (1.54)
or, after substitution of equation (1.51)
dv f = \d# (1.55)

To solve this equation means to determine the values of A, called eigenvalues,
for which equation (1.55) has a non-trivial solution dZ, called an eigenvector.

Based on equation (1.54) we might also say that if a step is taken in the direction
of an eigenvector, the observed change in velocity is pointing in the same direction
as the step vector.

From mathematics it is known that any real, symmetric 3x3 tensor always has
3 real values of A\ and 3 corresponding eigenvectors mutually orthogonal.

First we find the eigenvectors corresponding to equation (1.55), which in tensor
notation reads:

€;j dCC]‘ = \dz; < € d.’Ej —Adx; =0 (156)
Introduction of Kronecker’s tensor, d;;, defined as
1 fori=j
5ij =
0 fori # j

gives dx; = 0;; dz;, and equation (1.56) can be rewritten to
(eij - )\61']') dl‘j =0 (157)

In order to find non-trivial solutions to this homogeneous system of equations,
the determinant of the coefficients has to be zero, i.e. det(e;; — Ad;;) = 0. This
gives a 3rd order equation of A\, and the three solutions are denoted A7, A\;; and
Arrr, respectively. Hereafter equation (1.57) is solved three times, where the
values of A are substituted in turn. The three solutions, the eigenvectors, are
denoted (dzp);, (dxyr); and (dzrrr)s, respectively.

All quantities expressed in the coordinate system having the axes coinciding with
the eigenvectors and origin at point P, are now marked by an asterisk ( *).

If e;; is transformed into the eigenvector system, denoted x] x5 x3, it is known
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1.7. INSTANTANEOUS VELOCITY FIELD

that ej; becomes a diagonal tensor with the eigenvalues in the diagonal, i.e.

*

€11 €12 €13 e{l 0 0 )\[ 0 0
* p— J— _
€j = | ea1 €22 €23 =] 0 e 0 |=|0 Xy O
€31 €32 €33 0 0 eis 0 0 Air

If the vector dvfef is transformed into the z] 3 x3-system, the expression for
(dv*T)* reads:

-dvfef ' es; 0 0 dzy '
(dvfef)* = dvgef = 0 e 0 dzs (1.58)
_dvgef 0 0 ez |, | drs
nlp - daj
= | ehlp-das (1.59)
eyl dag

From this expression is seen that the velocity changes due to the deformation
tensor are proportional to the distance to point P. These motions are only

Xp*
X%
A 1
X2 D C
B plan stremning:
Xl e*11+ 6*22 = le_\./ =0

Figure 1.16: Motions caused by e;;.

possible, if the fluid around P is deformed. This is very easy to see, if the
motions of the points A, B, C and D are considered, see Fig. 1.16.

1.7.2 The Spin Tensor

Consider the motions caused by the term from the spin tensor. Due to the
frequent appearance of the components of rot ¢ the definition of this vector is

25



CHAPTER 1. FLUID KINEMATICS
recapitulated:
(rot ¥)q g—zz — g;z
rot7 = | (rotv)y | = g—;’; — g—;’;? (1.60)
(rot ¥)3 g—;i — %
It is seen that the velocity change dviP™ can be written as
d d d d
0 3(g8 —52) 3(52 —32) da
spin. ) 2 ) 2
doi™™ = | 3(55 — oa) 0 2 (522 — 52) dz
1,0 o 1,0 o
2(aer — o) 2(am — o23) 0 p L dxs
0 —(rot ¥)3  (rot V)2 dxy
1
= 3 (rot ¥)s 0 —(rot ¥); dxs (1.61)
—(rot ¥)2  (rot ¥)y 0 b, dxs
This expression is compared to the expression:
€ €5 €3
(rtot@)p x dz = | (rot@); (rot@)s (rotd)s
d.’L’l diL’g dwg
(rot ¥)2 dxs — (rot ¥)3 dxs
= (rot ¥)3 dxy — (rot ¥)1 dxs
(rot ¥)1 dzo — (rot ¥)e dxy
0 —(rot ¥)3  (rot ¥), dzy
= (rot V)3 0 —(rot ¥); dzo (1.62)
—(I‘Ot 5)2 (I“Ot 5)1 0 p dl‘g
The comparison of equation (1.61) and equation (1.62) gives:
— spin 1 — e
do P = 3 (rot ¥)p X dx (1.63)

Because the velocity field caused by the spin tensor is described by the cross-
product between a constant vector and the position vector, the velocity field,
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1.7. INSTANTANEOUS VELOCITY FIELD

therefore, (see example 2) corresponds to a rotation of the fluid as a rigid body
around point P with the rotation vector:

1
u_J'p = Q(I'Ot 17)p (164)

Once more we see that rot 7 # 0 at a point means that a fluid particle is rotating
about its own axis.

1.7.3 Resulting Motion

Based on the experience obtained from the subsections 1.7.1 and 1.7.2, it is
concluded that close to point P the instantaneous velocity field is caused by the
following motions of the fluid:

1) a translation with velocity Up
2) a deformation due to the deformation tensor e;;

3) a rotation with rotational vector & = 1 (rot @) p due to the spin tensor w;;

This is illustrated by the following important example.
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Example 3: Couette-flow

Deformations and rotations are considered in a steady, two-dimensional
flow with the velocity field:

vi = 2kxo , where k is a positive constant
Vo = 0
vy = 0

The velocity profile is shown in Fig. 1.17. In practice this flow is seen
between two parallel, plane plates, if the upper plate is moved at a constant
velocity in its own plane and the lower plate is fixed.

X2

‘VI

X1

Figure 1.17: Couette-flow: velocity profile.

Because vy /0xy = 0, dvi/0zs = 2k and Ovy/Oz3 = 0 and all other
derivatives are zero, the velocity gradient tensor reads:

0 2k O
i _ |y o o
8£ll‘j7
0 0 O
The deformation tensor reads:
[ ov 1/ 0v ov 1/ 0v v,
e (e T 052)  2(oms + 522)
eij = | 3(32+58) e 332+ 52)
|28+ o) 3(G +a2) bar
0 3(2k+0) £(0+0) 0 k 0
= | L0+2k) 0 10+0) | = |k 0 0
3(040)  3(0+0) 0 000
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and the spin tensor reads:

0 @ -E G
wi = L3RS 0 3@
IR Rt )
i 0 1(2k+0) 1(0+0)
= 2(0—2k) 0 1(0+0)
I $(0+0) 1(0+0) 0

The eigenvalues of e;; are found from the equation
det(e;j —Ad;;) =0 &
0—X k 0
k 0—X 0 =0 <«
0 0 0—A
0—=X3=0—=X)-k-k=0

which after solution gives these eigenvalues:

PR
Arr = k
Arrr = 0

g2

v

Bas)
0 k£ O
-k 0 O
0 0 O

The corresponding principal directions (eigenvectors) read:

V2 V2

(dxl)l (777750)
(dxll)i = (?7?70)
(dzL‘[]])i = (0, 0, 1)

These directions are shown in Fig. 1.18. Note that all three vectors are
prescribed to have unit length. Transformed into the x} 23 x5-system the

component from the deformation reads:

—k 0 0 || daz —kdx}

@iy = | 0 4k 0| dus
0 0 0|/ de

0

kdxs
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X2
X*z
(4]
x% 45 N
X3 1
*
X

Figure 1.18: Principal directions (eigenvectors) in Couette-flow.

In Fig. 1.19 it is sketched, how this velocity field will deform an origi-
nally square element (broken line) around P into a rhombus (full line),
because the element is shortened in the zj-direction and extended in the
x5-direction. Thus the velocity field corresponding to the spin tensor ro-
tates the rhombus clockwise (as k > 0), see Fig. 1.20, because

1 1
&= §I'Ot U= 5(0,0, —Zk) = (0,0, —k>

Note that even though the correct size of the motions of the 4 corners
has not been calculated, it is seen from Fig. 1.21 that added up, the
three different motions, translation, deformation and rotation, might be
able to produce the correct motion of the originally square element, i.e. a
translation and a horizontal motion of the upper side of the square.

X2
A ©
/\‘ oy

-

fr/

L-

> X -
1 > X

Figure 1.19: Deformation of the Figure 1.20: Rotation of the fluid el-
fluid element at P. ement at P.
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=Xl

Figure 1.21: Resulting motion of a fluid element at P.

1.8 Velocity Potential

In this section we will consider irrotational flows, i.e. flows with velocity fields
fulfilling the condition
rotv =0

This fulfillment causes substantial computational savings, when the velocity field
is calculated, as the velocity vector flow can be calculated by

¥ = grad ¢

or

Oy

V; =
6Z‘i

(1.65)

where the scalar ¢ is called the welocity potential. It is thus only necessary
to determine one variable, ¢, within the flow domain, because vi, ve og wvs3
can subsequently be calculated by equation (1.65). Due to the existence of the
velocity potential, irrotational flow is also often called potential flow.

First it is shown that a single-valued function, ¢, exists, if the condition rot v = 0
is fulfilled in the flow domain.

To do that we adopt Stokes’s theorem:

F:/17~d§'=/rot17~d/_f (1.66)
L A

If rot & = 0 everywhere on A, we find ' = 0 along the closed boundary curve, L,
to A. In the following we adopt line integrals of the type

Q
/ v-ds
P
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where P and @ are two points on the line, and the integration increment, ds, is
defined as positive from the start point P towards the final point ). Adopting
equation (1.66) on the curve shown in Fig. 1.22 yields:

Q P

F:/ ’17d§[+/ v-dsir =0 (167)
P Q

where index I and II indicate the two parts, which form the total path of the

line integral.

11

1

Figure 1.22: Paths of line integrals between P and Q).

Remembering the sign definition of ds, we find:

which substituted into equation (1.67) yields:

Q Q
/ﬁdsﬁ,:/ ¥ dsis (1.68)

P P

If we choose P as a fized point and ) as a movable point, the definition:

Q
@@:/ - ds (1.69)
P

therefore gives a single-valued function ¢, because the line integral is independent
of the chosen path.

Next it is shown that this definition of ¢ also gives the correct velocity at @, if
the velocity is calculated by equation (1.65).

To do so, the two points @ and Q* are placed as shown in Fig. 1.23. According
to the definition of ¢, equation (1.69), the difference in potential at the two
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points reads:

Ap = 9o —¢q

Q Q* Q
= / ﬁ-d§+/ 17-d§7/ v-ds
P Q P

Q* A:cl
= / (v1,v2,v3) - (dz1,0,0) = / vy dzy
0

Q
= (Ul)m A.’L‘l

Il
T
<
<y
QL
)
|
T
Q
S
Q
)

or

Ap
a AZL‘l
where (v1),, is the velocity component in the z;-direction at the point m. Ac-
cording to the mean-value theorem for integrals, we only know that m is posi-
tioned somewhere between @) and Q*, but the exact position is unknown. How-
ever, this is not a problem, if we let Q* move arbitrarily close to (). This gives:

(V1)m (1.70)

Ay _ 9p

m f A 0 d =
(v1)m — (1)  for 1 — an v P

and therefore

(v1)q = % (1.71)

As similar expressions are found in the xo- and x3-directions, it has been shown

that ¥ = grady, provided ¢ is defined by equation (1.69).

Note that the above-mentioned proof is valid only, if the region, where rot v =
0, is a so-called simply connected region. The formal definition of a simply
connected region is a region, where any closed curve lying within the area can
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be shrunk to a point without leaving the area. Roughly speaking, a simply
connected region is a region without holes.

If we consider the flow in Example 1, where (v,,v9) = (0, k/r), we have rot ¥ = 0
at all points except at » = 0. A region containing the point r = 0 is therefore
not simply connected.

e

1I

Figure 1.24: Region with rot@ = 0 for r > 0.

If the points P and @ are placed as shown in Fig. 1.24, adoption of the two
different integration paths, denoted I and I gives

( )—/Q*d*—Jrk1 — lnk (1.72)
wQ)r = Pv 51 = T27rr— 27r .
and o
k3 3
(‘pQ)H:/P6'd§112—;§7ﬂ"=—§ﬂ/€ (1.73)

It is seen that the potential @ is not single-valued, nor is the the gradient of
the potential. However, the region may be transformed into a simply connected
region by making a slot along a radius through point P, see Fig. 1.25. Along the
two boundaries on each side of the slot velocities and pressures must be equal.
With this slot it is no longer possible to have the origin placed within a region
defined by a closed integration path and the potential () becomes single-valued.

Substitution of v; = d¢/Ox; into the continuity equation dv;/dx; = 0 yields:

0 Op\

%o

or

which also can be written as

0% 0% 0%
ox?  Ox3 Oz

=0 (1.74)
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slot

Figure 1.25: Simply connected (slotted) region.

Thus the velocity potential ¢ fulfills the Laplace equation.

Example: Velocity potential in uniform flow

We want to determine the velocity potential corresponding to two-dimensional,
uniform flow, i.e. a flow having the same velocity, v; = (v,, 0), at all points
giving a rectangular velocity profile. See Fig. 1.26.

Figure 1.26: Velocity profile in uniform flow.

A vorticity meter placed in this flow does not rotate, as none of the two
plates are affected to turning by the fluid, giving (rot ¥)s = 0. This may
also be seen by calculating (rot ¥)s directly. This gives:

s - 8’112 8’1}1 - o
(rotv)s = 9z, 9y =0-0=0

As the flow is two-dimensional, this gives rot ¥ = 0. Thus uniform flow is
a potential flow.

The velocity potential is calculated by usage of the definition equations,
ie.
dp

o )

U1
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CHAPTER 1. FLUID KINEMATICS

which substituted into

dp
= — = 0
2 8%2
gives
0 dj
o4 ) _ = o+ Fle2)
Oxo dxs
or
flz2) =K
where K is a constant. Finally, this gives:
p=v,21+ K

The equipotential lines, i.e. lines where ¢ is constant along the line, are
straight lines parallel to the zs-axis.

1.9 Stream Function

For a two-dimensional flow of an incompressible fluid it is possible to define a
scalar, called the stream function, which has three convenient properties. We
denote the stream function ¢ = (x1,xzs,t), and let the following equations
define :

W

v = _78332 (175)
o

ve =g (1.76)

Substitution of these definition equations into the expression for divergence
yields:

.. 0 Y o (o) 0% 9%y
dive = 8$1< 81'2) +6£L‘2 (81‘1) - 81‘18%2 +8x18m2 0

giving that the continuity equation

81)1 31}2
divi=—4+-—=0 1.77
61‘1 (9.’132 ( )
is always fulfilled. This is the first convenient property of the stream function.
Notice that it is not necessary to assume rot v = 0 in order to define a stream
function, but the fluid has to be incompressible.
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1.9. STREAM FUNCTION

The equation defining a streamline reads:

dzry dxo
V1 V2
or
(%) dl‘l — V1 d.’l?g =0

where dz; is a vector along the streamline. Substitution of equation (1.75) and
equation (1.76) into this equation gives:

0 0
—wdxl + ldmg =0 along a streamline (1.78)
89&1 8&172
If the flow is considered at a given time t = t,, we have in general:
oy oy
dp = —d —d 1.79
w 85131 o1t 81'2 2 ( )

Thus for dz; orientated along the streamline, equation (1.78) gives:
dy =0

or

1 = constant along a streamline (1.80)

This is the second convenient property of the stream function. A third convenient
property is found by considering the difference between values of the stream
functions on two streamlines, see Fig. 1.27.

dx =|dx;|

Figure 1.27: Integration path between two streamlines.

The two points P and @ are placed arbitrarily on each of the two streamlines,
and a curve of arbitrary shape is drawn between point P and point ). This curve
might be considered to be the intersection between a curved surface perpendic-
ular to the flow plane and the flow plane itself. We want to calculate the volume
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CHAPTER 1. FLUID KINEMATICS

fluz (sometimes also called discharge) per metre through this curved surface. If
the volume flux per metre is denoted g, the expression for ¢ reads:

Q Q
q:/ vini|dxi|:/ v;n; dz (1.81)

P P

where n; is the unit normal vector pointing in the main flow direction and dz;
is placed along the curve between P and @. The expression for n; reads:

n; = (7d$2, d!l?l)/d!li

as this gives n;dz; = nydry + naodrs = (—dzedry + dry dzs)/de = 0 and
n = |n;| = 1. Thus the expression for g can be rewritten to:

Q Q
q = / Uinidx:/ (v1 (—dz2) + v dxq)

P P
Q Q
/P ((—%)(—duwggﬁdm) =/P i
= (VI3 =vo—vr (1.82)

The volume flux between two streamlines is therefore equal to the difference
between stream function values on the two streamlines. It is also seen that stream
function is increasing to the right- hand side, when looking in the flow direction.

Example : Stream function in uniform flow

We want to determine the stream function corresponding to two-dimensional,
uniform flow, i.e. a flow having the same velocity, v; = (v,,0), at all points
giving a rectangular velocity profile, see Fig. 1.26. From equations 1.75 we

get
ne—glcu, e v=—umt i)
which substituted into
Vg = 6—1’& =0
2 o1
gives
04 @) _ o 04 Tl g
0x1 dx
or
flz)=C

where C' is a constant. Finally, this gives:
Y =—v,20+C
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1.9. STREAM FUNCTION

The streamlines, i.e. the curves on which 1 is a constant, are therefore
straight lines parallel to the z;-axis. It is also seen that v is increasing to
the right-hand side, when looking in the flow direction.

If the equations (1.75) and (1.76) are substituted into

B, = 22 On
(rot )3 = 0z, O
the result reads:
oty O (P0)_ 0 (_ov
bz = 8:171 8901 81'2 8;1;2
or
2%y 9%

= (10t 73 (1.83)

2 2
Ox{  Ox3

It is seen that the governing equation for the stream function is a Poisson equa-
tion.

If the field of (rot ¥)3 is known at a given time, solution of equation (1.83) gives
the 1-field, which again makes it possible to find streamlines and the velocity
field.

Finally, notice finally that in general it is impossible to define a stream function
for 3-dimensional flow. It is, however, possible to do it for flows symmetrical
about an axis.
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Chapter 2

Fluid Dynamics

2.1 State of Stress at a Point in a Fluid

In this section it is shown that in general we can adopt a stress concept for a fluid,
which is quite analogous to the stress concept normally adopted for solids. In
both cases the medium is considered a continuum, but the causes to the stresses
in fluids and solids are quite different.

In the description of the motion of a fluid body it is necessary to consider the
following two classes of forces: forces acting throughout the mass of the body
(gravitational forces) and forces acting on the surface of the body (pressure forces
and shear forces) from the surrounding fluid.

We consider a surface with area AA and unit normal vector 7, and we imagine
that the fluid is removed on the side in the direction of the normal, but the
forces from the removed fluid on the area are kept. Generally these forces are
equivalent with the force AF and a moment AM from a pair of forces. If we
divide AF by AA and let AA — 0, the result approaches a limit value called

stress vector, 3V, i.e.
AF dF
(AA) == (2.1)
AA—0

However, AM /AA — 0 because both the pair of forces and the distance between
the forces approach zero.

In general &V varies from point to point and it also depends on the direction of
the normal 7. If instead we had considered the forces on the other side of the
surface, the normal vector should then be expressed as —n and the stress vector
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2.1. STATE OF STRESS AT A POINT IN A FLUID

on that side is denoted ~%. According to Newton’s 3rd law (action=re-action)
we get
N =N (2.2)

In order to investigate how the stress vector 7V at a fized point depends on the
direction of the normal, we shall consider at a tetrahedron of fluid cut free from
the rest of the fluid, see Fig. 2.1. Stress vectors on surfaces perpendicular to the

X3

Figure 2.1: Definition sketch, forces on surface of thetrahedron.

coordinate axis x; are here denoted &, where
S i i i
o = (01? 02, 03) (23)

is acting on the side of the surface, where the normal points in the same direction
as x;. Otherwise the stress vector is denoted ¢—*. Thus, the stress vector on the
surface in the xs z3-plane depicted in Fig. 2.1 is denoted &~ !.

The expression for the unit normal 7 reads:
i = ny €1 + ng €2 + n3 €3 = (n1,N2,N3) = n; (2.4)
If  denotes the angle between 77 and €, we have - €] =n; =1-1-cosf or
ny = cos 6

Therefore, n; is often called the direction cosine between the normal and the
unit vector €;. If the expression for ny is substituted into

dA=dAR or dA; = dAn; (2.5)
the expression for the component in the x;-direction reads:
dA;1 =dA-ny =dA-cosf

As 6 is also a the angle between the two planes perpendicular to 7 and €7, it is
seen that dA; is the projection of the area dA on the x5 x3-plane, see Fig. 2.1.
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CHAPTER 2. FLUID DYNAMICS

In the same way it is seen that no and ng are the direction cosines between the
normal and the unit vectors €5 og €3, respectively. Also dA; and dAs may be
interpreted as projected areas, see Fig. 2.1.

For the tetrahedron the sum of the surface forces reads:
Y Fourface = GV dA+GT dA + G2 dAr +570 dAy
= VdA-G"'dA) - dAy — G° dAs

after adoption of equation (2.2). If gravitation is assumed to be the only body
force, Newton’s 2nd law for the tetrahedron reads:

-

d
pdX = pgdX + 5" dA—5' dAs — & dAs — & dAg

Shrinking of the tetrahedron, while keeping 7 constant, gives:

dX  kdAd

A= T dA =kdl—-0 for di—0

where dl is a characteristic length of the tetrahedron. In this way Newton’s 2nd
law reads: A A A
_ SN -1 841 o 842 o3 A3
0=0+4+0¢ T T
o dA dA dA
=N _ 21 941 o 842 o3 043
777 AT qa T A

Here substitution of equation (2.5) gives:

=N

gV =gt

’I’L1—|—62 n2—|—53 ns (26)

According to equation (2.3) o1, 07 and o3 are the components in the x;-direction
of &1, 52 and &3, respectively. We see that the component in the z;-direction of

7N reads:
N 1 2 3
oy = n10]+ng o] +n3oy
1
s
= [ n1 Mo N3 } o7 (2.7)
oy

Similarly it is found that
O’év =n U; + ng a§+n3 ag

and
N 1 2 3
03 = N1 03+ N2 03+ n3o03
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2.1. STATE OF STRESS AT A POINT IN A FLUID

These three equations may be compiled to:

o 03 03
SN
o = [ n1 Mo N3 } o? o} o3 (2.8)
3 3 3

In tensor notation this equation reads:
oN =n; ol (2.9)

In the literature it is often seen that both i’ og ’j’ are written as indices, i.e.

Oji = O'j (210)

%

and this notation will be adopted in the following. With this notation equation
(2.8) reads:

011 012 013
N
o = [ ni N n3 } 021 022 023 (2-11)

031 032 033

and in tensor notation this equation reads:

O'N =MNj 0j; (212)

K2

where 0; is called the stress tensor.

For a solid this tensor is symmetric, and it will be shown below that this is also
the case for the stress tensor of a fluid.

A fluid cube with edge length dx is depicted in Fig. 2.2. The figure are also
shows the stresses creating a moment about an axis through the centre of gravity
of the cube and parallel to the z-axis.

A X2 1923 7| o3 +9932 (4x)
: N 0x3
1 B
— X e ¥ x——%

:T"zz 0

- il

M S il
dx ‘g 023

+ -dx

Figure 2.2: Definition sketch, stresses on a cube.
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CHAPTER 2. FLUID DYNAMICS

The general equation of motion with respect to the angular motion about the
axis reads:

> Meyy =16 (2.13)

where Y M,,: is the moment from the external forces about the axis, I is the
mass moment of inertia about the axis, and 6 is the turning angle. As the
external forces are solely stresses on the surface, equation (2.13) reads:

Z Mepe = (023 + (023 — %L;; dz)) da? d?x
—(032 + (032 — %‘;332 dz)) dﬂchg (2.14)
Radius of inertia of a cube is i = dz/v/6 giving:
I:mi2:pdx3-édm2=pédx5 (2.15)

Substitution of the equations (2.14) and (2.15) into equation (2.13) followed by
a division by dz® gives:
0032

1 Oo 1
5(023 + (023 — 8:8223 dz)) = 5(032 (032 = O3

1 "
dz))=p 5 dz* 0 (2.16)
Letting dx — 0 gives:

1 1
5(023 +023) — 5(032 +032) = 0
unless 6 — oo, but this is not possible from a physical point of view. We therefore
end up with
023 = 032

Considering the motions about the zo- and x3- axis, respectively, we similarly
obtain:

013 = 031 and 012 = 021

From these three expressions of the shear stresses, we see that the stress tensor
in a fluid is symmetric.

From calculus it is known that the stress field corresponding to a symmetric
stress tensor has 3 principal stress directions with principal stress values here
denoted oy, oy and oyry. It is also known that the trace of the stress tensor is
invariant to a coordinate transformation, i.e.

Oii = 011+ 022 + 033 =07+ o171 + 07171 = constant (2.17)

Finally the symmetry yields that the expression for the stress vector acting on
a surface, equation (2.14), may be rewritten as:

N o 5 — . g
O; =My T4 = Nj 0y
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2.1. STATE OF STRESS AT A POINT IN A FLUID

or

O'lN = 045 Ny (218)

2.1.1 Stresses in a Resting Fluid

Per definition, the shear stresses in a resting fluid are zero. Consequently the
stress vector on a plane is perpendicular to the plane despite the direction of
the normal to the plane, i.e. all directions are principal directions and all planes
are principal planes. This causes the size of normal stress at a point to be
independent of the direction of the normal to the plane, which is shown by
considering the fluid body depicted in Fig. 2.3.

dx-tano | O11 94X tana
*dG

X2

Figure 2.3: Definition sketch, stresses on a fluid body in a resting fluid.

As the considered body is at rest, the equations of motion are reduced to equi-
librium equations.

Vertical equilibrium:

1
cosa =09 dr+pg = dz? tana
cos 2

After division by dz, the expression for the stress on the inclined plane reads:
1
0:022+pg5dx tan a

Letting dx — 0, while keeping « constant (less than 90°) gives:
o =02
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Horizontal equilibrium:

dxr
cos a

sina = 011 dr tana

or
g =011

Similarly, turning of the body 90° about a vertical axis gives:
0 = 033

Therefore, the normal stress at a point is the same on all planes through the
point, and the expression for the stress tensor at a point reads:

Oij =0 §ij (219)

where §;; is Kronecker’s tensor.

2.1.2 Stresses in a Moving Fluid

In general the shear stresses in a moving fluid are not zero, but normally they
are very small compared to the normal stresses.

Example : Stresses in Couette-flow

_>VO
Oo
S+ ) 2L 4x,
—» 0Xp
(e}
11 Jo
X dx 11
2 a —~— —>= O+ dx
{ gy
-
(e}
21
X N
o dx,

Figure 2.4: Definition sketch, Couette-flow.

We consider the plane flow between two horizontal, parallel plates, see
Fig.2.4. The upper plate is forced to move at the constant velocity v,. If

we assume that
8 011

3931

=0 (2.20)
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2.1. STATE OF STRESS AT A POINT IN A FLUID

the flow is therefore solely driven by the motion of the upper plate. Due to
the parallel plates the flow is uniform, and due to the constant velocity of
the upper plate, the flow is also steady. The velocity field may be expressed
as:

v; = (’Ul (:Eg), 0)

Consequently, the acceleration of a fluid particle is zero in the z;1- and the
xo-direction, and the horizontal component of Newton’s 2nd law for the
fluid particle reads:

0 0
0= 21 drs - dry + i dzry - dxo
0o 0z
Substitution of equation (2.20) and division by dz; - dzy gives:
80'21 -0
0 T2
or
021 = K(xl)

However, K cannot depend on z; in a uniform flow, and o9; is therefore
constant. As the stress tensor has to be symmetric, we find:

091 — 012 — K (221)

at all points in the flow region.

The velocity field is calculated by adoption of Newton’s formula. This gives
Ovy _ v

O91 = ,ua—g732 = 'udwg (as v1 only depends on z5).

After substitution of equation (2.21) this expression reads:

dvy
Md!l?g

which after integration gives:
K
v =—x2+ K
I

i.e. the velocity profile is a straight line. Due to adhesion between the fluid
and the plates, the boundary conditions read:

v = 0 for a9=

v1 = U, for x9=ua
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The first boundary condition gives K7 = 0 and the second leads to K =
1 v,/a. Therefore, the expression for the velocity profile reads:

Vo
V1 = — X2
a

This flow is called a Couette-flow, and it should be noticed that results
obtained from considering this flow are important, when it comes to setting
up the constitutive equations for a fluid.

2.2 Equations of Motion

The equations of motion for a fluid body are set up by a summation of Newton’s
2nd law for all the fluid particles, which make up the body considered. As all
forces between the particles, two and two, are equal and opposite, the resultant
force on the body only consists of body forces on the volume of the body, X,
and forces acting on the surface of the body, A.

X2

X3

Figure 2.5: Definition sketch, equations of motion.

The body forces (defined as force per unit mass) considered in fluid dynamics are
normally gravity forces, inertial forces (—fl—g) and the Coriolis force. Inclusion
of the latter is only necessary, if we want to describe the motion in a coordinate
system fixed to the Earth, i.e. a non-inertial system rotating with the angular

velocity of the Earth, Q.
In general the expression for the body force , b= b;, reads:

. i =
bzﬁ—d—:—29x6 (2.22)
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Notice that the horizontal component of the Coriolis force can also be expressed
as
2Q sin (lat) ¥ (2.23)

where lat is the latitude of the position and ¥ is ¥ rotated 90°clockwise. On the
northern hemisphere (lat > 0) the Coriolis force is thus orientated to the right, if
one looks in the direction of motion. Normally, the Coriolis force is unimportant
as Q = (27)/(24-60 - 60) = 7.27 - 1075, but for flows with a large time scale or
for flows, where the horizontal components of the other forces are small (flows
in the atmosphere), it is necessary to include the Coriolis force.

Inclusion of the inertia forces into the body force makes it possible to interpret
Newton’s 2nd law as an equilibrium equation. For the body depicted in Fig. 2.5
this equation reads:

/adeA+/bide:0 , i=1,2,3 (2.24)
A X

where oV = &% is the stress vector on dA and 7i = n; is defined as the outward,

unit normal to the plane. The general expression for the stress vector reads:

05 = 045 N (2.25)
giving this x;-component:
ni
N o
01 =01;N5; = [0’11 012 0'13] U =0 - N
ng

Hereby the z1-component of the surface integral in equation (2.24) can be writ-

ten:
/a{VdA = /El-ﬁdA
A A

/X div(s!) dX

1
95 4x - / 971 4x
X al‘j

after adoption of Gauss’s divergence theorem and o1; = 0]1. Similar equations
are valid for the two other components of the surface integral in equation (2.24),
and in general we get

/aivdAz/ 995 4% L i=1,2,3
A X 61‘j
Substitution of this expression into equation (2.24) gives:
/ <a%. +pbi> dX =0 ,i=1,2,3 (2.26)
x \ 0z;
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Equation (2.26) is seen to be satisfied for an arbitrary volume X if

(90@‘

8$j

+pb; =0 (2.27)

which is the general equation of motion for a fluid. This equation is identical
with the equilibrium equation for a solid, but even though stresses are described
by equation (2.25) in both fluid and solids, the cause of stresses is different for
the two types of substance. Also remember also that inertia force and Coriolis’s
force are "hidden” in the body force for a fluid. If only gravity force and inertia
force are taken into account in the body force, we get:

dv;
bi=9i— g

and the equation of motion reads:
80'ij d’Ui

9, +plgi——7)=0

or

dvi 80'2']'
p =
dt 81‘]‘

+ g (2.28)

It is clearly seen that in order to calculate the velocity field a relation between
0;; and v; is necessary, i.e. a so-called constitutive equation for the fluid has to
be established.

2.3 Constitutive Equation for a Newtonian Fluid

In order to establish the constitutive equation for a fluid we attempt to generalize
the knowledge obtained from the description of some simple flows as e.g. resting
fluid, pure translation, rotation of the fluid as a rigid body and the Couette-
flow.

Simple static/dynamic considerations for the first three cases show that shear
stresses are absent in these flows. It is also clear that in these three cases, the
deformation tensor is zero, e;; = 0.

On the other hand, it was seen that for the Couette-flow e;; was constant in the
entire flow domain, and o;; was also constant, but only for ¢ # j. The motions
corresponding to e;; of a originally square body are shown in Fig. 2.6, and next
to it the shear stresses on the same body are shown.

50
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2 2
A A
=K
21
—
c =Ki TG =K
12 12
—
c =K
= Xl 1
motion ~e:: shear stresses

1

Figure 2.6: Deformations and shear stresses in Couette-flow.

As the shear stresses tend to deform the body in the way actually done by e;j,
it is obvious to consider constitutive equations of the type:

oi; = f(esj) (2.29)
where so far the function f is unknown.

This equation cannot, however, describe the conditions correctly in a resting
fluid, where the stress state is isentropic

Uij =

0 0
o 0 = 05” (230)
0 o

o © 9

and all velocity gradients are zero giving:
0 0 0
€ij = 0 0 O
0 0 0

d

Instead of 0;; we consider the tensor o7;, which describes the deviations from

the isentropic stress state, i.e.

0ij = 0 8ij + 0 (2.31)
or
o011 —0 012 013
O-Zdj = Uij -0 61] = 021 092 — o 023 (232)
031 032 033 — 0
where 7 is defined as .
0 = g(o11 + 022 + 033) (2.33)
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This definition is adopted, as the sum of the elements in the diagonal of ¢;; does
not depend on the actual coordinate system. In this way the definition of & is
unique at all points.

In a resting fluid without shear stresses we have afj = 0, and this fact makes it
possible to relate or;ij and e;;.

In order to keep things simple we first consider the simple, linear equation:
ol =C ey (2.34)
where C' is a constant.

Written fully expanded, equation (2.34) reads:

011 — 0 012 013
021 02 — 0 023
031 032 033 — 0
g slant ) sEE+E)
=C- | 3(§2+5%) s 332+ 3%)
(B +5) 3(52+52) S

However, the constitutive equation (2.34) considered is still only a hypothesis,
and at least it has to be shown that adoption of the hypothesis gives correct
results for the four simple flows. Otherwise the hypothesis must be rejected.

The requirements to be fulfilled are:

1) a symmetrical stress tensor, i.e. 0;; = 0j;

2) Newton’s formula for Couette-flow, i.e. 091 = g—;;

3) 0i; =0 in a resting flow for ¢ # j and 011 = 092 = 033

As shown below the hypothesis Ufj = C e;; fulfills these requirements:

ad 1) Ase;; = ej;, equation (2.34) directly gives Ufj = a}ii. According to equation

(2.31) this gives 0;; = 0j;. The stress tensor is therefore symmetrical.
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2.3. CONSTITUTIVE EQUATION FOR A NEWTONIAN FLUID

ad 2) In a Couette-flow with v; = (2k z2,0,0) we have

1 Ovs vy . 1 ovn

=505 T o) T 2 o,

Substitution into equation (2.34) gives:

10v
d 1
ol =0 =2
2 281’2

However, according to equation (2.32) we have 0g, = 091, giving:

1 87}1
= C ——
721 2 8$2

So far C' is an arbitrary constant, but with C' = 2 p it is seen that the stress
predicted by the hypothesis is actually the same as Newton’s formula.

ad 3) In a resting fluid we have e;; = 0, and according to equation (2.34), we
get Ufj = 0. From equation (2.32) is seen that o,; = & d;; and therefore
035 = 0 for ¢ # j. Furthermore we see that o1, = 022 = 033 in a resting
fluid.

Consequently, we can accept the hypothesis with C' = 2 u, which gives:

After substitution of this expression into equation (2.31) the constitutive equa-
tion reads:

ij = 0 0ij +2 pei (2.36)

Notice that equation (2.36) is still a hypothesis and should only be finally ac-
cepted, if it also gives satisfactory predictions for flows in general. However, this
is actually the case for many fluids as e.g. water, air and oil. All fluids hav-
ing this linear relation between the stress and the deformation tensor are called
newtonian fluids.

On the other hand, many fluids do not have a linear relation between the stress
and the deformation tensor. Typical examples are honey, asphalt, sludge from
a sewage disposal plant and non-drip paint, but the description of such fluids is
beyond the framework of this book.

Equation (2.36) shows that in a moving newtonian fluid the normal stresses de-
pend on the orientation of the normal to the plane, but in practice the deviations
from an isotropic stress state are insignificant. The x;-component of equation

(2.36) reads:
_ 1 8’1]1 31)1 _ 61}1
o1 o+ 'u2 <8Z‘1 +8.’1)1> o+ M@ml
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Generally shear stresses are small compared to normal stresses in a fluid, i.e.

81)1 _
021 = U —— <L 0o

(9:112

If the main flow direction coincides with the zi-axis, we have

8’[11 (9’01
61‘1 8302
Therefore,
Ovy _
2u — <Ko
8381
and it is normally assumed that
011~ 0

In a uniform flow directed along the z;-axis we have g—x = 0 and consequently

011 =0.

Similarly we find:

and

Ov
0'33:5'4—2[1,871:2%5'

Due to the fact that a fluid cannot withstand tension stresses (if the pressure is
lower than the saturated vapour pressure, the fluid boils instead), it is practical
to adopt the following unique definition of pressure, denoted p, in a moving fluid:

1
pifa':*g (0’11+O’22+O’33) (237)

With this definition p is always positive, and the corresponding stress state,
—pdyj;, is isentropic, just like the stress state in a resting fluid. In practice it is
only necessary to include —pd;; at the calculation of normal forces on a plane in
a moving fluid.

Substitution of equation (2.37) into equation (2.36) leads to the final version of
the constitutive equation for a newtonian fluid:

Oij = —plij + 2 e (2.38)
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2.4. NAVIER-STOKES’ EQUATION
2.4 Navier-Stokes’ Equation
Based on the equation of motion

d"Ui 8crij
=pg; 2.39
P =PIt G, (2.39)

and the constitutive equation for a newtonian fluid
oij = —poij +2peij (2.40)

it is possible to set up equations for a direct calculation of the velocity field of a
newtonian fluid.

Derivation of the constitutive equation with respect to x; gives this resultant of
the surface forces on a particle:

(90’1']‘ _ 6(—p(5ij —|—2,ueij)
8mj B 8:Ej
op 0 Ov;  Ov;
= - — 2.41
Substitution of this expression into the equation of motion (2.39) gives
dvi ap 0 81)i 8vj
= pg; — i 2.42
P dt Pg 81‘, + 8$]‘ <’u <8£L'J + (9.’1%)) ( )

which is called the Navier-Stokes equation.

In this version of the equation the last term is zero due to the assumption of an
incompressible fluid. Consequently we can rewrite the Navier-Stokes equation
to:

doi _ . _op O
P dt P 8:@ Maxj 8mj

(2.43)

This equation is always valid for flows of a newtonian fluid, but normally it
is adopted only for laminar flows. In most cases of turbulent flows a direct
numerical solution of the equation is too costly, because very small vortices have
to be resolved in the calculation. Instead a kind of ”smoothed” version of the
equation is solved. In this solution the dynamic effect (exchange of momentum)
of the small vortices is taken into account by use of a so-called turbulence model.
See chapter 7.
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The left-hand side of equation (2.42) might be interpreted as mass times accel-
eration of a particle having the volume one unit (m?), and the right-hand side is
therefore the sum of the external forces on this volume.

The first term on the right-hand side is the gravity force and the second term
is the resulting force from pressure p on the volume (see appendix A). The last
term on the right-hand side is therefore the resultant of the so-called wviscous
stresses, which comprise both normal stresses and shear stresses. Normally the
resultant viscous normal stress is insignificant compared to the resulting force
from pressure.

The pressure distribution in a resting fluid is called hydrostatic pressure dis-
tribution, and this pressure is denoted ppyq. It is easily determined from the
Navier-Stokes equation, which for a resting fluid reads:

N 8phyd
8:171'

0=pgi (2.44)

As g; has a vertical component only, pyyq has to be constant on horizontal
planes, and therefore only varies in the vertical direction. If z denotes a wvertical
coordinate (positive in the upward direction), we find by integration of equation
(2.44) that in a resting fluid the expression for pressure reads:

Phya = —pgz+C (2.45)
where C' is a constant.

As ppyq does not create any motion of the fluid, only the part of p deviating
from pp,q is considered in many cases. This deviation in pressure is called either
excess pressure or dynamic pressure. In these notes it is denoted p™, but many
books use the notation pg. Thus, the definition equation for p™ reads:

P =phya+pt (2.46)

Substitution of equation (2.45) gives
pr=p+pgz-C (2.47)

The expression for the pressure gradient can therefore be rewritten to:

Op  Opnya , Op"
op*
= poit (2.48)
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2.4. NAVIER-STOKES’ EQUATION

by substitution of equation (2.44). After substitution of equation (2.48) into
equation (2.42) we have this alternative version of the Navier-Stokes equation:

dvi o 3p+ 0 8vi 8vj

For an incompressible fluid this version of Navier-Stokes equation can be rewrit-
ten to:

dv; Op* 0%v;

p dt - _61‘,' +'u8213j (9:113'

(2.50)

At first glance all versions of the Navier-Stokes equation look rather simple, but
they are in fact nonlinear. The expression for acceleration reads:
dv, Ov; Ov
= + . /Uj
dt 6t 633]'

where the last term corresponding to convective acceleration is nonlinear! This
prevents an analytical solution except for the very few flows, where the convective
term is zero, i.e. when the flow is uniform.

In case of laminar flow the Navier-Stokes equation can be solved numerically in
practice, but considerable computer power is necessary.

In the following some examples of analytical solution of Navier-Stokes equations
are considered.

Example 1: Poiseuille-flow

A steady flow between 2 plane parallel plates with mutual distance a and
slope [ is considered, see Fig. 2.7.

Figure 2.7: Definition sketch, Poiseuille-flow.
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The flow is driven by a pressure gradient in the z-direction, i.e. dp™/0z1 <
0, and this gradient is so small that the flow remains laminar. The flow is
two-dimensional and because the parallel plates give parallel streamlines
the flow is also uniform. The only non-zero velocity component is therefore
V1.

The pressure distribution across the flow is calculated by the z3-component
of the Navier-Stokes equation:

ot (o
Pat = s 0z = 0x3

(2.51)

As vy = 0 everywhere, equation (2.51) reduces to
opt
8172 o

Thus, in sections perpendicular to the streamlines, where x; = constant,
we get:

0

p* = K(z1)
If this expression is substituted into p = ppyq +p* = —pgz+p™*, we find:

p=-pgz+K(z1)=—pgas cosf + K(z1) (2.52)

i.e. the pressure distribution is linear, and it only deviates from the pres-
sure distribution in a resting fluid by the constant factor cos 3. Despite
this factor we also call this distribution a hydrostatic pressure distribution.
Also, notice that equation (2.52) is valid for all flows, where the streamlines
are straight and parallel at the section considered.

The variation (or profile) of v; is calculated by the zi-component of the
Navier-Stokes equation, which reads:

mo_ | (Fu P
Pae = " on dr? = 0x3

Substitution of the rate of change for v, gives:

ov o Ou Ou] o Opt (Pu Ou
Plot " oer 02y — 7 0m 022 ' 0a2

Due to uniform flow we have

Bm 321)1
Oxq ©8 0z?
and due to steady flow we have
81)1
— =0
ot
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parabola
X2
X1

Figure 2.8: Velocity profile in Poiseuille-flow.

As also v = 0, the left-hand side of the Navier-Stokes equation is zero, i.e.
the acceleration is zero. This gives:
02v, _ op*
H 8!E% o 8:1,‘1

This partial differential equation can be changed to an ordinary differential
equation, because v; = v;(x2) and the pressure gradient is constant. The
Navier-Stokes equation now reads:

d?vy  Op*t
a dz?  Om
Integration twice gives:
1 9p*

vy 23+ C1 2 + Cs

- ﬂ (91’1
The constants C; and Cs are determined by adoption of the boundary
conditions:

v1=0 for 19 =0 = (Cy3=0

1 dp*
v1=0 for o =a = Clz——La
2 0x
After substitution of C'; and Cs, the expression for vy reads:
1 op* 2
v = ﬁiaxl (x2 — al’g)
or
1 dp* ( )
vp=—— (r9—a) x
1 21 01 2 2

The velocity profile in the slot is therefore parabolic as seen in Fig. 2.8.
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Example 2: unsteady flow above an oscillating plate

We consider a flow caused by a plate oscillating in its own plane at the
velocity:
27 ¢

v1 = v, cos( T ) = v, cos(wt) (2.53)

Here T is the period and w = 27 /T is the cyclic frequency.

As the motions of the plate in its own plane are unable to produce any
pressure gradients in the x;-direction, we have dp™/0x, = 0. It is also
evident that dvy/0z; = 0 and ve = 0, i.e. the flow is uniform. Therefore,
the zi-component of the the Navier-Stokes equation reads:

31)1 82’[}1
. 2.54
P = Hon (2.54)
X2
3in 1)
2
X2
T
L
i ’ |
> Vo
<> V| =vycos(mt) 0 1

Figure 2.9: Definition sketch and velocity profile at t = 0.

As the motion of the plate is periodic with time, the fluid at an arbitrary
distance from the plate also has to move periodically with time with period
T, but a lag in the phase will be present. At the plate the fluid and the plate
will move together due to adhesion, and it is expected that the motions of
the fluid will decrease with increasing distance to the plate. In principle
the fluid velocity can be expressed as:

v1(x2,t) = v, f(22) cos(wt — O(x2)) (2.55)

The solution to equation (2.54) reads:

v1(22,t) = voe % cos(wt — %) (2.56)
where
5=/
w
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The solution is built correctly according to equation (2.55), but it is left to
the reader to show that it fulfills both equation (2.54) and the boundary
conditions. The variable § is often called the Stokes distance, and it is seen
to be a measure of how far away the motions of the plate can be felt. As
v ~ 1.00 - 1075 m? /s for pure water at 20° C, a period of T = 5 seconds
gives § = 1.3 mm, i.e. a very small quantity.

In Fig. 2.9 the velocity profile at t =n - 27/T (n =0,1,2....) is shown.

2.4.1 Vorticity Transport Equation

A two-dimensional flow of an incompressible fluid is considered. Adoption of the
operator:

9%() , 9*0)
2
= 2.57
VIO =% T o (257)
makes it possible to write the Navier-Stokes equation in the more compact form:
d’l)l 8p+ 2
—_— = v 2.58
Pt 921 +p Vi ( )
dvs opt N
=t 2.59
P B2, +uViv (2.59)

If equation (2.58) is derived with respect to z2 and equation (2.59) is derived
with respect to x1, both equations contain the term:

d%pt
B 8271 8.(62

This term disappears, if equation (2.59) is subtracted from equation (2.58). The
result reads:

O (w9 (dw) 0 ge v 9 (e

After substitution of the operator for the rate of change:

a0 _o0) . 90  9()

R W 2.61
d ot o TV o, (2:61)
and the V2-operator, equation (2.60) reads:
9 (0w 0w, Ou) O (Ov  Ov, —Ov
Oxa \ Ot U1 0x1 vz 0xo Ox1 \ Ot vl 0x1 2 0xo
o (07 0? o (07 02
—EI (SR ) (22 2 (2.62)
p | 0zy \ Oxf 0x} Oxy \ Oz 0x3
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This equation is rewritten to:

0 (v 0w, O (Ov Ovz\, 0 (Ovu Ov
ot \Ozo Oy Yor, \ 0z Oy 2 0xo \Ozy 01,
81)1 81}1 81)2 81)2 8'1)1 81)2

9% [0vi O\ 9% [Ovi  Ovs
\om (- 5) + a7 (5~ 5| 259

Substitution of the continuity equation

87}1 81}2 -
and 5 5
U1 V2 =
0 — prole (rot ¥)3
gives:

d(rot ¥)3 d(rot 7)3 d(rot ) (07 (rotv); O*(rot);
ot " om P am U\ e T om (2.65)

Use of the operator for the rate of change and the V2-operator finally gives:

d(I‘Ot 17)3

e v V2 (rot ¥)3 (2.66)

This equation is called the vorticity transport equation for a two-dimensional
flow, because the equation describes how rot ' is dispersed in a two-dimensional
flow. This is shown by the following example.

Example: Dispersion of a dissolved substance in a two-dimensional flow

The dispersion of a dissolved substance is considered. Concentration of
the dissolved substance may be stated in many different ways, but here
concentration is defined as kg of dissolved substance per m? of the mixture
of fluid and substance, and it is denoted ¢ [kg/ m?’]. By means of continuity
considerations it is possible to derive an equation that describes the dis-
persion of the substance. First of all it should be noted that the dispersion
of a substance is caused by two different transport mechanisms: diffusion
and convection.

We consider a resting fluid, where the concentration profile at a given
moment is depicted in Fig. 2.10. If the flux of substance through a section
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C, X,

—  cross-section, 1 n?

X1

Figure 2.10: Definition sketch, diffusion.

perpendicular to the x;-axis is denoted F}, experiments show that the
expression for this flux reads:

. oc 2
F = D@Tcl [kg/s/m”]

where D is called the diffusion coefficient or the diffusivity [m?/s]. This
equation is called Fick’s 1st law. Notice that this spreading of substance is
caused by the heat-dependent motions of the molecules, and it will always
create a net transport away from the domains with most molecules of the
substance. In the following this spreading mechanism is called diffusion.
It is seen that omitting the description of the motions of the individual
molecules make it necessary to introduce a mechanism (diffusion), which
has the same effect as the details omitted. We have seen this earlier, where
it was necessary to introduce shear stresses, because the individual motions
of the molecules were omitted.

Hereafter we consider convection, which is the transport of dissolved sub-
stance caused by the motion of the fluid particles. The volume flux of
the mixture due to the velocity vy # 0 is vy - 1 [m3/s/m?] through a sec-
tion perpendicular to the zj-axis, and the flux of substance is therefore
cvy [kg/s/m?].

The expression for the total flux of substance (diffusion and convection)
reads:

dc
Fi=-D—+4wvc
8:171
In a similar way we get in the xo-direction:
Jc
F2 = 7D7 —+ V2 C
6(13‘2

If the control surface shown in Fig. 2.11 is considered, the resulting flux
of dissolved substance inwards is equal to the increase in substance stored
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0F>
F+ -d
P2 kg 0
|

OF
X1

dx,| —~ +—F+ -dxq

p 2

dx

X3

X1
Figure 2.11: Fluz of dissolved substance through a control surface.

within the control surface. This can be expressed as:

de OF, OF.
o Qv dey = Fydey — (Fy+ BT:I dzy) das + Fydzy — (Fs + 872 dzs) doy

or
dc 1 0F,
—dzi1dry = ——=——dz1dre — —=dxod
i (PLITE T Ty, Grrate T G, aran
Division by dy dzs gives:
dc BFl 8F2 —0

ot ony | 9z,

Substitution of the expressions for F; og F» gives:

Oc D 2%  d(vic) D d%c n O(vz ¢)

o Por T om Po T om 0

After derivation of the products and substitution of the continuity equation
(2.64), we get this equation:
Oc . Oc . Oc D 2% 9%
— 4 v —F vy — = — + =
ot =t ox Oy dz2 ' 92
The left-hand side is seen to be the rate of change of ¢ that is observed by
following a particle, and the equation can be re-written to:

— =DV? 2.67
o Ve (2.67)

Now we can interpret the vorticity transport equation (2.66) by comparing
it to equation (2.67). It is seen that the two equations are identically
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set up, and it can be concluded that the vorticity (rotv)s is dispersed
in the fluid by convection and by diffusion with the diffusion coefficient
v [m?/s]. In practice all vorticity is created near solid boundaries. It is
therefore possible to get an impression of the dispersion of the vorticity, if
one imagines how dye, discharged at the boundaries, will disperse in the
actual flow. This is a useful tool, when we want to decide whether a certain
domain of the flow is irrotational or not.

2.5 Dissipation

The macroscopic (organized) kinetic energy of fluid particles is constantly trans-
formed into (unorganized) kinetic energy at molecular level in a flow. This trans-
formation corresponds to an increasing temperature of the fluid, and is normally
called dissipation.

As it is impossible to transform the unorganized molecular motions back into
organized motions of particles, the transformation to unorganized motions is
often called loss of mechanical energy, where mechanical energy is defined as the
sum of kinetic and potential energy of fluid particles. It is seen that the concept
of dissipation has to be introduced, because we have assumed the fluid to be a
continuum.

The actual dissipation can be determined, if we first calculate the amount of
work produced by all forces acting on the particle, and from this work subtract
the increase of the kinetic energy of the particle.

We consider a body of fluid having the volume X bounded by the closed surface
A, see Fig. 2.5. The work produced by the external forces during the time dt is
given by:

Aexte'rnal = / Vs dt (sz’) dX+/ Vs dtO’lN dA (268)
X A

Substitution of oY = 05 nj, and use of the divergence theorem on the vector
field I; = v; 045 gives:

Aezternal = (/ Uz(sz)dX+/ MdX) dt (269)
X x Oz
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Per unit volume of the fluid the work of the external forces is:

Aea:te'rnal
Qexternal = X

I(vi 0ij)

o )t

= (Uipgi +

80,»j 8’02‘
= (vipgi+vi +0

axj & axj)dt

Substitution of the equation of flow derived in section 2.2

80'7;j . d’l)i

oz, +p (g a )

gives
dvi 8vi
Qegternal — (Ui PGi — Vi p (gz - E) + Oij 6;_(:) dt
J
ov;
= pvidvi + 045 ai;hdt
J
1 dv;
= d(gpv2) + 045 a7;clt

If the constitutive equation (2.38)
0ij = —p(sij +2peg

is substituted, we get:

6’Ui + ij 8’01'

6mj 8301) 8xj

81}1‘
aTjdzH—/L(

1
Qegternal — d (7 pU2) —p 6@']‘ dt

2

However, for an incompressible fluid the middle term is zero as:

Ovi _ vy
K al'j _8a:j

Thus equation (2.73) can be written as:

1 a’l}i ov;
Gegternal = d (5 PU2) +u ((9:13 + 8xj
j i

81)1‘
(%cj

) 2% g

(2.70)

(2.71)

(2.72)

(2.73)

(2.74)

The first term is seen to be the increase of the kinetic energy (per unit volume)
during the time dt, and the second term is therefore the dissipation per unit
volume, i.e. the part of the work, which is transformed into kinetic energy at

molecular level (heat).
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In many cases the dissipation per unit mass per unit time is considered, and it
is normally denoted €. It is found by division of equation (2.74) by pdt giving

= gt o) o @79
As
g Rl o g ol AT o
= 2 (g;}j_ )2 42 gzj : % (2.76)
equation (2.75) can be rewritten to:
e = ;I/(SZ + ZZ)Q >0 (2.77)

Thus the dissipation is always positive, i.e. mechanical energy is constantly

transformed into heat at all points having a non-zero velocity gradient.
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Chapter 3

Ideal Fluids

3.1 Basic assumptions

In most flows the shear stresses are very small compared to the normal stresses.
Is is therefore natural to omit the shear stresses in the description of a flow. This
is obtained by the assumption

v=20

which e.g. yields:
8’[}1 8’02
091 = pv(—+ —
21 p (81‘2 5:E1
but notice that shear stresses and viscous normal stresses all become zero. Fur-

thermore, if we assume that the fluid is incompressible, the fluid is called an
ideal fluid.

)=0

The theory for ideal fluids gives excellent results in many cases, but in general
the small shear stresses play a decisive role in the course of the flow, e.g. on the
look of the streamlines.

The Navier-Stokes equation for an ideal fluid (v = 0) reads:

d"UZ' - 3p+

This equation is often called Fuler’s equation. It is easy to derive it using
Newton’s 2nd law as shear stresses are missing. Equation (3.1) simply states
that for an ideal fluid the particle acceleration is solely caused by gradients
in the dynamic pressure, pT, i.e. the part of the pressure deviating from the

68



3.1. BASIC ASSUMPTIONS

hydrostatic pressure, ppyq. As

P = DPhyd +pt

and

Phya = —pgz+C
where z denotes a vertical coordinate (positive in the upward direction) and C
is a constant, we have:

pt=p+pgz—C
As only gradients of p™ are able to create motion, the constant C is neglected in
the following. After substitution of the expression for p* into equation (3.1) and
subsequent division by v = p g on both sides of the equation, Euler’s equation is
rewritten to:

1 dv; 0 D
- =]=0 3.2
gdt " oa, <Z+7> (32
The component of this vector equation in the direction of e; = v; /v reads:
1 V; d’l)i (o 0 P
- -t Z)l=0 3.3
g v dt+v8xi<z+7> (3:3)

where v; is the velocity of the fluid particle.

As v; = dx; /dt, where dz; is a vector on the particle path, equation (3.3) can be

rewritten to: J ) de 8
v T; P
PR — — fu— .4
dt (2g>+ dt Ox; <Z+’y> 0 (3.4)

Furthermore, if the flow is assumed to be steady, we have:

d<z—|—p> = 9 <z+p> - dx;
v/ 0w gl

Substitution of this expression into equation (3.4) gives:

d [ v? d P

d p 02
i .2 )=0 3.6
dt (z+7+29) (36)

This equation states that the rate of change of the quantity within the parenthesis
is zero if observed from a fluid particle. This corresponds to

or

2
s+ 2y ;j— = constant along a particle path (3.7)
Y g

This is the famous Bernoulli equation. As particle paths and streamlines coincide
in a steady flow, Bernoulli’s equation is also valid along a streamline. Notice that
the value of the constant normally varies from streamline to streamline.
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Example: Steady flow under a sluice gate

In an open channel with horizontal bottom a sluice gate is placed. A sluice
gate is a vertical plate under which the flow has to pass, see Fig. 3.1.

z
T horizontal bottom

Figure 3.1: Flow under a sluice gate.

In front of the gate the free surface is elevated the distance s, see Fig.
3.1. At point S, where there is a break on the path line (= streamline),
the particle velocity has to be zero. It is so, because a break at points,
where the particle velocity is non-zero, would necessitate an infinitely large
force according to Newton’s 2nd law. The elevation of the surface at S is
calculated applying Bernoulli’s equation to the streamline at the surface
between A and S:

v> v2
aat A A g P8 TS
v 2g Yo 2¢9
where the level z has datum at the bottom of the channel.

Substitution of vg = 0 and ps = ps = Patm yields:

2
vVa
S=1zg—z4="2
S — 2A 29
Thus, the increase in surface level is due to a transformation of the kinetic
energy of the fluid particle at A into the extra potential energy of the

particle, when the particle arrives to S.

A more general equation can be derived from Euler’s equation if the flow is
irrotational flow, i.e. the velocity field fulfils:

rotd = 0 &
8’01‘ 8Uj
_ 3.8
In such a flow the velocities are given by
d¢
i = 3.9
V= o (3.9)

70



3.1. BASIC ASSUMPTIONS

where ¢ is the velocity potential. First the substantial rate of change of v; is
substituted into Euler’s equation:

—_—— —_— _— = .1
sa (z+7> 0 (3.10)
yielding:
1 (9’01' 6’Ui 8 p
- . =) = A1
g(@t +U]8xj)+8xi (Z—I—’y) 0 (3:11)
After substitution of equation (3.9) and equation (3.8) the equation reads:
10 [ 0p 1 Ov, 0 P
-z Z . =) = 12
g ot (3mi>+gvjaxi+8:ci (z+’y 0 (3.12)
or
10 [0y 10 (1 0 P
- 224z S5 ) + — P = 1
g@mi<8t>+g8xi (2vjvj>+8xi <z+7> 0 (3.13)
which is rewritten to:
o (10p v? p
i T =) = .14
oz, (g 8t+29+z+fy 0 (3.14)

As the gradient of the quantity in the parenthesis is zero everywhere in the flow,
this quantity has to be constant in the entire flow domain at a given time, i.e.

2
1
z+ % + % + J %f =C(t) everywhere in the flow (3.15)

where C(t) can only depend on the time. This equation is called Bernoulli’s
generalized equation. Substitution of p™ = p + vz gives this alternative version
of Bernoulli’s generalized equation:

toow?r 10
% + %} + J aff =C(¢) everywhere in the flow (3.16)

Notice that it is not necessary to limit the application of this equation to a single
streamline, but remember the condition of irrotational flow !

Bernoulli’s generalized equation is widely adopted to calculate pressures and
pressure forces for irrotational flows. First the pressure distribution on the sur-
face of a body is calculated. Then the pressures on the body are integrated
yielding the force from the fluid acting on the body.
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3.2 Potential Flow

In this section we solely consider irrotational flows, i.e. flows where the condition
rot ¥ = 0 is fulfilled, and where the velocity field can consequently be calculated
from a velocity potential ¢. Therefore this type of flow is often called potential
flow instead of irrotational flow. In general ¢ fulfills the Laplace equation:

82<p 82<p 82<p

=0 3.17
ox? * ox3 * ox3 (8:17)
which for two-dimensional flows is reduced to
0 290 0 2g0
— +—==0 3.18
oz? = 0x3 (3.18)

The stream function for a two-dimensional flow fulfills equation (1.83), which is
a Poisson equation. Because (rot¥)s = 0 in potential flow, equation (1.83) is
reduced to a Laplace equation

2 2
00, 97% (3.19)

2 z =
Oz = Ox}

For a potential flow both ¢ and ¢ fulfill the Laplace equation, and because this
equation is linear, the superposition principle is valid for potential flow.

If knowledge of ¢ (or ¥) has been obtained for some basic potential flows, these
potentials can be superposed to produce potentials corresponding to more com-
plicated flows. It is always true that superposition of two potential flows gives a
new potential flow, but it is not always possible to fulfill the physical boundary
conditions with the velocities corresponding to the superposed potentials. In the
following some examples of superposition of basic potential flows will be given.

In this connection it should be remembered that the boundary conditions at a
wall are special for an ideal fluid. Due to the missing shear stresses we cannot
demand that fluid and wall shall have the same velocity component along the
wall. The only boundary condition left for an ideal fluid is therefore that fluid
and wall shall have the same velocity component along the normal to the wall.

3.2.1 Line Source and Line Sink

We consider the two-dimensional flow around a line source with discharge ¢ per
unit length along the line, see Fig. 3.2. Due to conservation of volume we have:

q=2mr-1-v,
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or
q 1l kK

Uy =
27r r

where k = ¢/(27) > 0 is called the source strength. Due to symmetry we have
vg = 0, and consequently the velocity field expressed in polar coordinates reads:

5= (vr,vp) = (é,o)

Expressed in polar coordinates the component of rot ¢ perpendicular to the flow

\T/

. N
line \
! source \

Figure 3.2: Velocity field at a line source.

plane reads:

(rot ¥)3 = % (8(2:") - %”;) (3.20)

and it is straightforward to see that (rot )3 = 0 for this flow. Thus we find
rot ¥ = 0, as the two components in the flow plane are always zero for a two-
dimensional flow. Thus, the flow is a potential flow.

In order to calculate the potential for the source, we adopt the expression for a
gradient, which expressed in polar coordinates reads:

_ (¢ 10
gradp = (87‘ 7 89) (3.21)
giving
o= 20 _E & p=klnr+ f(O)+C
ar r

where C is a constant. Substitution of this expression for ¢ into

_10p _

a0 Y

Vo
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gives

which substituted into the expression for ¢ gives:
p=klnr+Cs

As the gradient of a constant is zero, we can omit the constant C5. Therefore,
the potential for the flow around a line source is

Psource = klnr (322)

As it was very easy to find the velocity field around a source expressed in polar
coordinates, we shall also set up definition equations for the stream function
expressed in polar coordinates.

In polar coordinates the expression for divergence reads:

. 10(rv,)  10vg
e 7]

(3.23)

By analogy with the definitions in Cartesian coordinates, we adopt these defini-
tions in polar coordinates:

10w
_ %
v = = (3.25)

Substitution of equation (3.24) and equation (3.25) into equation (3.23), yields
divy = 0. Accordingly the continuity equation for an incompressible fluid is
always fulfilled as wanted.

If equation (3.24) is used for the flow at the source one get:

10 k
r= T, = — =—k0
v rdd r < v + ) +C
where C' is a constant. Substitution of this expression for v into:
oy
= — = 0
Y= oy
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3.2. POTENTIAL FLOW

gives

0+%+0:0 & fr)y=C4

Substitution of f(r) into the expression for i gives

b= —k0+Cy

As the gradient of a constant is zero, we can omit the constant C3 and the
expression for v reads:

Vsource = —k 0 (3.26)

Replacement of ¢ by —q (where ¢ is a positive quantity) in the equations causes
a sign shift of the velocity, i.e. the flow is still in a radial direction, but now
towards the origin corresponding to a line sink.

3.2.2 Two-Dimensional Dipole Flow

A two-dimensional flow is produced by superposition of a line source with dis-
charge +q and a line sink with discharge —g. The sink is placed at » = 0 and the
source the distance s to the right, see Fig. 3.3. Initially the velocity potential

Figure 3.3: Definition sketch, two-dimensional dipole flow.

and velocity are calculated at point P placed at the distance r from the sink and
the distance r; from the source.
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By superposition we get
© = Qsource + Psink = +kInry —kInr (327)

where equation (3.22) has been adopted with positive source strength +% at the
source and with negative source strength —k at the sink.

In the following we only consider the asymptotic expressions for ¢ (and ), valid
far from the sink and the drain, i.e. it is assumed that r >> s, but equation
(3.27) is of course valid everywhere. Seen from point P the distance between the
source and the sink looks very small, and the configuration is named a dipole.

From Fig. 3.3 it is seen that for » >> s, we can approximate the distance from
the source to P by m &~ r — s cos . Substitution into equation (3.27) gives:

Odipole ~ +kln(r—scosf)—klnr

~ (—9) (3.28)

r

kEIn(1 - % cos 0) ~ k(—f cos )
r

r
where In (1 — €) & —e for € << 1 has been used.
Defining the strength of the dipole as

qs
=—=k 3.29

i.e. m > 0 is assumed, the equation for the potential around the dipole reads:

cos 6
Pdipole = —M r (330)
The velocity components at point P read:
0 -1 0
vy = a—f =3 (—m cos ) =m C(;Sz (3.31)
and 10y 1 in 0 in 0
% —sin sin
e = 3.32
RV R (=m) r M2 ( )

The stream function for the dipole flow is calculated by superposition of the
stream functions for a sink and a source, respectively. The general expression
reads:

d} :wsou'r‘ce"_"psink = _k/8+k0: _k(0+04) +k0=-ka (333)
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as B=0+a.
For r >> s we approximate a by

s sin 6 s sin 6 s sin 6

awr—scosﬁzr(l—fcosﬁ)w r

which substituted into (3.33) gives this stream function for a dipole flow:

sin 6

wdipole =—-m (334)

The course of the streamlines can be determined by solving the differential equa-
tion for a streamline, equation (1.15). However, in many cases it is much easier
to make use of the convenient property: the stream function is constant on a
streamline. The course of a streamline is therefore found by locating the curve,
where ¢ = C.

In the expression for 1) we substitute:

Z2

. Z2
r:\/:zr%—kzz:% and sm&:—:ﬁ
r \Vx]+ x5

yielding:

and this expression is rewritten to:
= zi+ 23 + %xg = 0
= w?+(x2+%)2—(%)2 =0
= drme ) = Gy (3.35)

The course of the streamline with ¢ = C' is then found by substituting ¢ = C
into equation (3.35).

This yields:
m |\ 2 m
i+ (22— (55)) = (Gg) (3.36)

i.e. the equation for a circle having the centre at

m

($1,$2) = (07 _ﬁ)

(3.37)
and radius

R= ‘ (3.38)

m
e
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Cc<o0

C>0
C,

C<C,

Figure 3.4: Streamlines, two-dimensional dipole flow.

as the equation for a circle with centre at (a,b) and radius R reads:
(1 —a)* + (z2 — b)*> = R?

If C > 0, the streamline is placed under the zj-axis, and R is decreasing for
|C| increasing. The streamlines are sketched in Fig. 3.4. It is also seen that ¢
is increasing to the right at all positions on the zs-axis, when looking into the
direction of the flow.

3.2.3 Flow past a Circular Cylinder

A circular cylinder with radius R is placed in a uniform flow with the velocity
field: v; = (—v,,0), see Fig. 3.5.

We want to describe the flow by use of the stream function v, which must fulfill
both the differential equation (the flow equation)

V21 =0 (3.39)
and the following two boundary conditions.
The first boundary condition can be expressed as:

v, = 0 for r=R
& ¢ = 0 for r=R (3.40)

as the surface of the cylinder is a streamline. However, the value of the stream
function on this boundary is arbitrarily chosen to be zero. Due to reasons of
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symmetry the xi-axis is a streamline. This streamline splits into two streamlines
at the stagnation point S, where the velocity is zero.

The second boundary condition is
(v1,v2) = (—v0,0) for r— o0 (3.41)

corresponding to undisturbed flow far away from the cylinder.

A

Figure 3.5: Definition sketch. Two-dimensional flow around a cylinder.

The problem is to find out if the potential flow formed by superposition of a dipole
flow (1 source + 1 sink) and a uniform flow with velocity field (v1, v2) = (—v,,0)
fulfills the boundary conditions stated above.

First we notice that the velocity components around a dipole are:

cos 0 sin 0
(vp,v9) = (M 2 M3 ) — (0,0) (3.42)

for r — oo. Consequently the superposed velocity field approaches uniform flow
far away from the cylinder. Therefore, the second boundary condition is fulfilled.

Superposition gives:

sin 0
'(/} = ¢pa7‘ + '(/)dz'pole = _(_'Uo) To + (_m r )
in 0
= 9,7 sin f — msm
r
sinf, , m
— _ - 3.43
Vo r (T Uo) ( )

After substitution of R, , defined as:

R, (3.44)

SEE!
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the expression for the stream function reads:

sin 0

Y =1, (r* — R?) (3.45)

r

For r = R, we have ¢ = 0, and the circle with radius R, is consequently a
streamline. By scaling the dipole strength m, and hereby scaling of R, it is
also possible to 'move’ the streamline having 1 = 0, until it coincides with the
surface of the cylinder.

The demand R, = R is fulfilled if

or

m = v, R? (3.46)

With this dipole strength both boundary conditions are fulfilled, and the corre-
sponding stream function reads:

P =, S 9(7"2 — R? for r>R (3.47)

r

If the potential flow is symmetric with respect to both coordinate axes, so is
the velocity distribution along the surface of the cylinder. The streamlines are
depicted in Fig. 3.6.

X,

A

- T T
/\

—j&:
s\%

_
S O

Y
>

D
D

Figure 3.6: Two-dimensional potential flow around a circular cylinder.

The pressure distribution on the cylinder surface is calculated by use of Bernoulli’s
equation along the streamline on the surface of the cylinder. This gives

2+—+—=C for r=R
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Substitution of the dynamic pressure, defined as the deviation from hydrostatic
pressure, i.e.

pr=p+pgz
where z denotes a wvertical coordinate (positive in the upward direction) gives:

pt—pgz

24—+ —=C
Py 29
or N )
P 2 = (3.48)
pPg 29

As v? is symmetric about both axes, Bernoulli’s equation tells that also the
distribution of pT is symmetric about both axes.

Therefore, the resulting force from p* is zero, which means that the potential
flow does not create any pressure force on the cylinder.

This result is strikingly against all practical experience, and the reason for the
misleading result simply is that the requirement for potential flow, rot v = 0, is
not fulfilled everywhere.

Even though the uniform flow is irrotational, vorticity is evidently dispersed into
the flow from the surface of the cylinder. In real fluids vorticity is constantly
created at a wall due to the presence of the shear stresses, and although the
shear stresses are very small, they are able to change the velocity profile near
the wall significantly, see Fig. 3.7.

X2 X2

\ \

X1 X1
ideal fluid real fluid

Figure 3.7: Velocity profiles near a wall in ideal and real fluid.

If the pressure pt is increasing in the flow direction, the pressure force on fluid
particles will create a negative acceleration. The particles closest to the wall have
the lowest velocities, and consequently they will stop sooner than the particles
farther away from the wall. This means that at some section the velocity profile
has a tangent perpendicular to the wall, and in practice the flow is no longer
following the wall. This phenomenon is called separation.
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X2

[M+0=
rotv+0 >

v~0
S

Figure 3.8: Flow of a real fluid around a circular cylinder.

In case of an un-separated flow the vorticity close to the wall is dispersed very
slowly into the rest of the fluid domain, because the vorticity is transported by
diffusion only. In separated flow the vorticity is normally dispersed very quickly
into the fluid domain, as both diffusion and convection transport the vorticity.

As pT is increasing in the flow direction on the rear side of the cylinder, separation
takes place there, and a lot of vorticity is dispersed into the flow behind the
cylinder. In this flow domain the potential theory is bound to produce false
results, as we have solved the differential equation V2 = 0, and we should have
solved V29 = (rot ¥)3.

An example of the course of the real flow is depicted in Fig. 3.8, but notice that
the course depends on the magnitude of the Reynolds number for the flow.

From this example one should not conclude that potential theory is useless.
However, potential theory shall only be adopted for such parts of the flow, where
the vorticity is confined in a rather thin layer close to the wall. In fact potential
theory gives fine results for the upstream part of the flow around the cylinder!

3.2.4 Hydrodynamic Mass (Added Mass)

The concept of hydrodynamic mass is illustrated by the example given below.

Consider an air bubble with volume X, see Fig. 3.9. At the time ¢t = 0 the
bubble starts to rise, i.e. the velocity of the bubble is U = 0 and the acceleration
dUu/dt # 0.

The initial acceleration, dU/dt, is caused by the external forces on the bubble. In
this case we have the gravity force, F; = pr, X g, and the buoyancy, F,, = p,, X g,
where py, is the air density and p,, is the water density. Notice that buoyancy
is defined as the resultant of the pressure forces on a body placed in a resting
fluid, see Appendix A.
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Figure 3.9: Forces on an air bubble at rest.

Newton’s 2nd law reads:

du

XL =
oL dt

Y F=puXg—pLXg=gX (pw—pr) (3.49)
and division by pr X gives:

AU gX (pw —pr) Ng8OOPL —pL

dt prX pL

=799 g I (3.50)

This initial acceleration looks incredibly large, which is confirmed by measure-
ments.

The reason for the miscalculation of dU/dt is of course that it is impossible to
accelerate the bubble without accelerating some water, and this fact has not
been taken into account by the calculation.

The correct size of the force from the water F' acting on a body having the
acceleration dU /dt is found below. For simplicity it assumed that the flow around
the body is a potential flow and that the fluid is ideal. In practice, they are
excellent approximations until boundary layers are developed and separation
occurs.

Due to the assumption of ideal fluid the force ﬁp is solely caused by pressure

on the surface of the body. If the area vector dA is defined positive from water
towards the body, the expression for Fj, reads:

ﬁp:/pdgz/ —gradpdX (3.51)
A X

according to gradient theorem, see Appendix A. Notice that a uniform pressure
distribution (= grad p = 0) does not create any resulting pressure force on the
body. The total force component in the U —direction can be expressed as:

—

Fy = Fp.éU:/pdE.éU (3.52)
A
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where €y is a unit vector in the direction of the acceleration, see Fig. 3.10.

X3

X

X1

Figure 3.10: Definition sketch.

As we are interested only in the part of the force caused by the acceleration, it

—

is necessary to subtract the buoyancy, F, , caused by the hydrostatic pressure,
Phyd -

The total pressure reads:

P ="DPhya+p" (3.53)
where pT is defined as the deviation from hydrostatic pressure, ppyq-

Substitution of equation (3.53) into the expression for the total force gives:

—

F, = / (phyd +p+)d/¥ = / phyd df_f-i- / erdAa = F_i) + F;+ (354)
A A A
The force component in the U-direction caused by acceleration therefore is:
Ff=Fy &y = / ptdA - &y (3.55)
A

The distribution of p™ on the surface of the body is found by Bernoulli’s gener-
alized equation:

1 Oy
+ ., 5 2 oy _
p+ 5 Pwv + puw 5 C(¢) (3.56)

where ¢ is the fluid particle velocity. The term C(t) is constant in space, i.e. it
does not contribute to the resulting pressure force, so it is assumed that C(¢t) =0
in the following. This gives:

0 1
+_ oy 1 2
P = —puw : 5 PwV (3.57)

Immediately after the start of the motion v? ~ 0 everywhere, and pT can be
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sk
X1

grad ¢

X1

Figure 3.11: Definition sketch. Velocity potential around a moving body.

approximated by:

Op
t~_py T
A T (3.58)

It is now postulated that the velocity potential expressed in the x] x5 =5 -system
fixed to the body reads:

p(ai,t) = Ut)pr(x]) (3.59)

where

U (t) is the velocity of the body with respect to the z1 x2 z3-system fixed in space

¥

¥ is the position vector in the z} =5 z3-system fixed to the body

(1 is the potential around the body corresponding to U = 1

and this expression is verified below for the flow around a moving circular cylin-
der.

As Op(z},t)/0t is the change in potential observed from a fixed position, i.e. for
xf = constant, it is seen from the equations (3.58) and (3.59), that

dp(z;],1)
+ 7
p = Pw ot
ou
= —pu i il 3.60
pu p1(z7) 5 (3.60)
The velocity of the body is only depending on time, giving
w _ou
dt ot
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and the acceleration of the body therefore creates the pressure:

dU
+ = _ . -

Substitution of this expression into equation (3.55) gives:

au -
b [ e i,

dt

or

- dUu
F+:—<pw/<pdA~é'> —
U " 1 U dt

(3.61)

(3.62)

Notice that the force from the fluid is directly proportional to the acceleration

dU/dt.
Hereafter Newton’s 2nd law reads:
dU
m% = Fwater+Fg
= F,+Ff+F,
which is rewritten to:
dU
= _f+t
Mg
o dU
» dA - e 22
(m +p /A Y1 €U> pr
dU
/ PR
(m+m') o

F,+F,

F,+F,

F,+F,

(3.63)

(3.64)

where m’ is called hydrodynamic mass (or added mass). From equation (3.64)

is seen that

m/:pw/ ‘Pldg'éU
A

(3.65)

Sometimes it is possible to calculate ¢; analytically, and subsequently calculate
m’ by equation (3.65). In general, however, m’ is calculated numerically or by

by use of model experiments.

The advantage of the introduction of hydrodynamic mass is of course that for
a given body being accelerated in a given direction, we only need to calculate a
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hydrodynamic mass once. Hereafter we can calculate the dynamic forces from
the water by simply adding m; to the body mass in Newton’s 2nd law, and the
external forces from the water shall only comprise the known buoyancy.

Example: hydrodynamic mass of a circular cylinder

Consider the potential flow around a cylinder moving in the direction of
the z-axis (upwards) at the velocity U in stagnant water. Due to the
motion of the body a water volume is pushed from the upper side of the
cylinder to the lower sider. This flow is very similar to the flow at a dipole
having the source placed at (% , 0) and the sink placed at (—% , O) in the
x} z3-coordinate system, see Fig. 3.12.

Figure 3.12: Boundary conditions for the flow around a moving cylinder.

Is it possible to fulfill the boundary conditions for this flow simply by scal-

ing the dipole strength to a suitable value? The answer is a bit surprising:
” b2

yes”.
Expressed in the x] x3-system fixed to the cylinder, the velocity potential
reads:
cosf
Pdipol = —M r

where m is the dipole strength:

qs
m=—
2w
The boundary conditions are:

1) no flow through the surface of the cylinder < v, = (v;)ey; = U cos@
for r=a
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2) no fluid motion far away from the cylinder < v —0 for r— oo

Fulfillment of boundary condition 2) only requires that the dipole strength
is limited.

As

_ 8<)Ddipol
v

gives:

1 1
Vp = —Mm <2> cosf :mjcose
r r

boundary condition 1) can be rewritten to:

1
Ur:mGCOSOZUCOSQ
a

Boundary condition 1) is therefore fulfilled for all 6, if m = U a?.

Thus both boundary conditions are fulfilled by this dipole strength. The
velocity potential expressed in the coordinate system fixed to the cylinder
reads:

0
Paipot = ~U a> > (3.66)
T

This expression has the form:

¢ =U(t)p1

and the unit potential for the flow around a circular cylinder therefore
reads:

5cosd
p1=—a

- (3.67)

Notice that the flow is unsteady seen from a coordinate system fixed in
space, when the dipole is moving, see Fig 3.13.
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r

X

X

X1

Figure 3.13: Streamlines seen from a coordinate system fized in space.

Substitution of ¢; = —a?(cos#/r) into the expression for m’ gives:

m’ pw/ p1dA - &y
A

2w 0
pw/ (- “2%)(~adh - cos )
0

27
Puwa’ / cos® df
0

P [9 N .‘sin26?]27T

2 4
2

= ppa” T

0

or the hydrodynamic mass for a circular cylinder is equal to the displaced
mass of fluid per unit length !

From this we can conclude that in order to produce the acceleration dU/dt
for a cylinder with diameter D, we need the force:
dUu

du T
F:(m—i—m')ﬁz(m—ﬁ—pszQ)E N/m

After this example we shall return to the calculation of the initial acceleration
of an air bubble.

For a sphere with volume X it is in a similar way (by superposition of a point
source and a point sink) found that m’ = % pwX. Newton’s 2nd law for the air
bubble therefore reads:

au
(m+m’)$ = ZF

1 dU
(2 X + 5 puX) —r = PugX —prLgX
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giving the initial acceleration:

au - gX(pw —pr)
dt X(pr+ 3pw)
~ . Pv
7 S
= 2g !

This magnitude of the acceleration is confirmed by measurements, but it should
be remembered that the basic assumptions are valid only a short time after the
bubble is generated.
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Chapter 4

Boundary Layers

In a real fluid adhesion causes the particle velocity at the wall and the velocity
of a wall to be equal (often zero). If ideal fluid is assumed, only the components
along the normal to the wall have to be equal, and calculations (potential theory
or solution of Euler’s equations) give different values of the tangential velocity
component at the wall. However, measurements often show that the calculated
velocities are in excellent agreement with velocities measured not far away from
the wall. In a domain close to a wall the tangential velocity therefore increases
from zero to the value calculated by the theory for an ideal fluid. See Fig. 4.1.
This domain is called the boundary layer.

Based on this observation, Prandtl (1904) suggested that the flow domain should
be divided into two sub domains:

1) the boundary layer, where the fluid is assumed to be real. The effects from
shear stresses are taken into account, and the Navier-Stokes equation is
used.

2) the domain outside the boundary layer, where the fluid is assumed to be
ideal. In this domain the shear stresses are unimportant, and the flow can
be approximated by potential flow.

This approach is not a guarantee for good results, but it has proven its capability
in the following cases:
e flow immediately after a sudden start of the motion of a body

e the flow caused by relatively high frequent oscillations of a body, if the
amplitude of the motion is small compared to a characteristic dimension
of the body

e the flow around very slender bodies like e.g. wings of an aeroplane.
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4.1 Flow Equations for Boundary Layers

Due to the assumption of real fluid in the boundary layer we must use Navier-
Stokes equations. In order to keep things simple we consider a two-dimensional
flow along a thin plate, where velocity profiles are observed as depicted in Fig.
4.1.

X2
> potential o) iqdqal
v flow uid R
0 Vo [ I
T [ S === 5]
|- ™ real
> e ~ > boundary layer fluid
_ > Xl

o plate

Figure 4.1: Definition sketch, boundary layer.

Notice that the thickness of the boundary layer is increasing down the plate,
and that velocities and streamlines are approximately parallel to the plate, i.e.
Vo KL V1.

The component of Navier-Stokes equation in the xo-direction reads:

dvs opt ( 0%vs  O0%vs9 )

p dt Oz 0x? z3

As vy & 0 everywhere, equation (4.1) is reduced to
op*
a.’Eg -

This pressure distribution was also found in the flow between to parallel plates,
and it is in fact always found in parts of a flow, where the streamlines locally
are parallel.

In a section perpendicular to the streamlines we have approximately:

pT = K(z;) (4.2)

Thus, in the boundary layer the dynamic pressure is controlled by the dynamic
pressure pJ in the potential flow just outside the boundary layer, as they are
equal at the top of the boundary layer, i.e. p™ = p} .
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The Navier-Stokes equation in the flow direction reads:

+ 2 2
p(avl+ av1+v28v1> _ _5P+u<8v1+8v1> (4.3)

ot T oxq 0xo 0z ox? 0z3

As the variations in velocity across the main flow direction are much larger than
the variations in the flow direction, we have:
821}1 32’01
2 2
Oz Ox3

and the equation of motion is therefore reduced to:

(4.4)

ooy Ou Ou Ot P
P\t T 0z, " oz, ) T ory M oa2

Notice that normally we cannot neglect the last term on the left-hand side of
the equation. The component vy is indeed a very small quantity, but dvy/dz
is on the other hand a very large quantity within the boundary layer. Finally
it is seen that due to equation (4.2), the pressure gradient in equation (4.4)
is equal to the gradient in the potential flow, and this gradient is calculated
by adopting Bernoullis’s equation. Equation (4.4) is often named the boundary
layer equation.

In reality there is no well defined transition between boundary layer and potential
flow as the influence of the shear stresses is gradually decreasing. It is therefore
not possible to define the thickness of the boundary layer uniquely.

4.1.1 Boundary Layer on a Flat Plate in Uniform Flow

We consider the flow along a flat plate placed in a steady, uniform flow. In the
potential flow Bernoulli’s generalized equation reads:

top? 0
P Y _onstant as 2 =0 (4.5)
v 29 ot
In the potential flow we have v ~ v, = constant, and thus p™ = constant

everywhere in the potential flow. According to equation (4.2) this means that
pT = constant everywhere in the boundary layer, and consequently we have
dp™* /dz1 = 0 in the boundary layer.

The boundary layer equation now reads:

Ovy ovy 0%
oz 2oz, U 0z3 (4.6)
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Notice that for continuity reasons vs is not zero, even though vy < v; . We need
two equations to determine v; and ve, and the second equation is the continuity
equation:

Oovy  Ovy
S Tt R 4.
8.’131 + Bazg 0 ( 7)

The boundary conditions are:
To = 0 : V1 = Vg = 0
To — OO V1 — Vo

Measurements of velocity profiles along the plate show similar profiles, see Fig.
4.2. This was utilized in the solution presented by Blasius (1908).

In Fig. 4.2 the non-dimensional coordinate perpendicular to the flow direction

reads:
X2

y=—p= (4.8)
Similarity of the velocity profiles can be expressed by

v

%o ) (19)

where f'(y) is a function depending of y only. The stream function can be

expressed as
=~ - () (4.10)

and the correctness of expression is seen by substitution into the first definition
equation for 1, which gives:

o of 9y

_ — 71 . f! — . f!
v = Fro VIV, By Ory NN \/LTI ') =vo- f(y)

Substitution into the second definition equation gives:

oYy 1 [vv,
Vg — —— — —
2 8.%1 2 X

wf'(y) - f(y) (4.11)

If these expressions for v and v, are substituted into the boundary layer equation
(4.6), it is possible to reduce this equation to the ordinary differential equation:

frr+2f"=0 (4.12)

with the boundary conditions:

y=0 : f=f=0
y—oo : fl—=1
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It is not possible to solve equation (4.12) analytically, but it is easy to get a
numerical solution of the equation. The only problem is the boundary condition
at infinite distance from the plate, but in practice excellent results are obtained
if the boundary condition is fulfilled for y > 8. The boundary condition f'(8) =1
has been used to calculate the velocity profile shown with a broken line in Fig.
4.2 .

X2

VX1

Vo

Figure 4.2: Velocity profiles in air flow along a plate corresponding to v, = 10
m/s and v =15 107> m? /s.

In practice the thickness of the boundary layer is infinite, but based on Fig. 4.2
a visual assessment of the boundary layer thickness would be:

T2
y =
fvzy
Vo
From the numerical solution it is seen that v; = 0.99v, for y = 4.9 and v; =

0.999 v, for y = 6.0. It is therefore not evident how to define a thickness that is
of practical use.

~5—6 (4.13)

Often the so-called displacement thickness, §*, is adopted as an objective mea-
sure for the boundary layer thickness. The basic idea is that the discharge
corresponding to the actual profile in the boundary layer shall be equal to the
discharge corresponding to an imaginary velocity profile with v; = 0 for zo < §*
and vy = v, for xg > §*, see Fig. 4.3. This is expressed as:

0o oo ) &
q:/ v1dTo :/ Uod.’EQZ/ vodmg—/ VodTo
0 * 0 0
o0 o0
/ v1dTo :/ VodTg — v, 0
0 0

or
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CHAPTER 4. BOUNDARY LAYERS

which gives:

S N
5_/0 (1— %Y day (4.14)

Vo

X2

VX1

imaginary
velocity

4 /' . profile
!
3

Figure 4.3: Imaginary velocity profile defining §*.

The displacement thickness is therefore a measure of the distance that the po-
tential flow has been displaced from the plate due to the velocity reduction in
the boundary layer. Substitution of v /v, = f'(y) into this expression gives:

st =172, /24

Vo

This value is shown in Fig. 4.3.

4.2 The Momentum Equation

Sometimes it is easier to consider a fluid body of finite volume instead of fluid
particle. Like in chapter 2.2 a fluid body with volume X and surface area A is
considered, see Fig. 2.5, but this time the results are not rewritten to be valid
for a fluid particle. Newton’s 2nd law for the fluid body reads:

dv; )
/de Y :/ degZ-—l—/JZNdA . i=1,2,3 (4.15)
X dt X A
where oV = &N is the stress vector on the area dA. This stress vector is

%

equivalent to a normal force, —pdA;, and a shear force, 7;dA , on dA, and
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4.2. THE MOMENTUM EQUATION

equation (4.15) can be rewritten to:

dv; )
/de Y :/ degif/pdAiJr/TidA L i=1,2,3  (4.16)
X dt X A A

As the resultant of the hydrostatic pressure, pnyq, on A is equal to the gravity
force on X, equation (4.16) can be reduced to:

dv; )
/de Y :—/p+dAi+/ndA . i=1,2,3 (4.17)
X dt A A

where pT is the deviation in pressure from hydrostatic pressure. Substitution of

d’l)i o 81}1« (9111‘
dt 0t  Oxy

Vg (4.18)

gives

ov; ov;
dx L L =— T dA; sdA , i=1,2,3 4.19
/Xp [at +Backvk} /Ap +~/AT ' (19

The second term on the left-hand side is rewritten by use of the divergence
theorem for the vector fields vy vg, vovr and vsvy giving:

/vivdek:/ MdX:/ [8” vﬁw‘%’“] ix = [ 9% ax
A x Oxp x L0z Oxy, x Oy,

for i =1,2,3, where d v /0 xy, = 0 due to the assumption of incompressible fluid.
Hereafter equation (4.19) reads:

ov;
/ P Y dX+/ pv; vpdAy = —/p+ dAi—i—/ 7, dA (4.20)
x Ot A A A

This equation is called the general momentum equation. Notice that it is valid for
any volume X (called the control volume) of an incompressible fluid bounded
by a closed surface A (called the control surface). If the control surface cuts
solid structures, the stresses on such sections should be included into the surface
forces on the right-hand side of equation (4.20). Remember also that dA is
defined positive in the outward direction.

Often equation (4.20) is written in vector notation giving:

p@dX—ﬁ—/p'f)’(ﬂd[l'):—/p*dff—ﬁ—/?dA (4.21)
x Ot A A A
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CHAPTER 4. BOUNDARY LAYERS
4.3 Momentum Equation for Boundary Layers

The general momentum equation is now applied to a boundary layer on a flat
plate. It is assumed that the the boundary layer has a finite thickness, §, even
though the transition from boundary layer to potential flow is not well defined.

The control surface is depicted in Fig. 4.4, and it is extended by 1 m perpendic-
ular to the flow plane.

X2 .

2

7 M3

- control surface

5 M M
- X

a dxy b
L

Figure 4.4: Control surface for boundary layer flow.

Consider the z; component of the momentum equation. The 1st term on the
left-hand side (change of momentum within the control surface) reads:

81)1

s
p—dX:dxyl/ 0
x Ot 0

8'1)1

ot

d.’172

and the 2nd term (change of momentum due to different inflow and outflow of
momentum trough the control surface) reads:

[ o ad)
A

Here 7-dA is the discharge (volume flux) through dA, and pv; (7-dA) is thus the
momentum flux through dA. Before this integral is determined, it is practical to
consider the fluxes of mass through the control surface. For an incompressible
fluid we have:

My = M; + M; (4.22)
where M7, My and Mj are shown in Fig. 4.4. The mass flux through the surface
aa’ is:

5
M1:/ pvidxs -1
0
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and the mass flux through bb’ can be expressed as:

oM
My = My + — !

) §
dl’l :Ml-I-diL'li/ P U1 dl’g
1 81‘1 0

After substitution of M; and M into equation (4.22) the mass flux inwards
through the top side of the boundary layer reads:

b é
Mg = d.iCl (97:1?1 / P U1 d.’ﬂg (423)
0

According to the definition of mass flux we might also express M3 as:

Y
Mgz—/ p (- dA) (4.24)

’

and comparison of the two expressions for M3 :
b’ . ) §
/ p(U-dA) = —dx, —/ pvy dxs (4.25)
a 8.’E1 0

The next step is to find the momentum flux through the control surface. Through
the surface aa’ the flux reads:

5 5 5
B, = / puvy (T-dA) = / pv1 (—vrdee) = —/ pvidzy (4.26)
0 0 0

and through the surface bb' it is:

) 4
0
By = / pv1 (v1 dxe) + dq —/ pvi (v1 dxs) (4.27)
0 3:171 0

At the top side of the boundary layer (the surface a'b’) the expression for the
momentum flux reads:

-,

v v
By = / pvl(ﬁ-dA):vo/ pT-dA

9 5
= —vodajla—ml/o puydzsy (4.28)

as v1 = v, at the top side of the boundary layer, and equation (4.25) has been
substituted.

On the right-hand side of the momentum equation the resultant of the pressure
forces is rewritten to:

+
Pr= —/ ptdA; = —/ gp dx (4.29)
A X

X
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CHAPTER 4. BOUNDARY LAYERS

by use of the gradient theorem derived in Appendix A. As the extent of the
control surface in the x;-direction is infinitesimal and p™ does not vary in the
xo-direction, we know that Op™ /dx; = constant within the control surface. Con-
sequently we can rewrite the pressure force on A to:

+ + +
P,+:_/ W™ x = 9P /dX:—(?)p X (4.30)
. i

and the component in the z;-direction reads:

Op™ op™
Pr=—2F_X=—"".dz;-6-1 4.31
1 81‘1 81‘1 . ( 3 )

Shear stresses are only present at the bottom of the control surface. Being
directed opposite to the flow direction, the x;-component can expressed as:

T1 = —To* dl’l -1 (432)

where 7, (> 0) is the shear stress at the plate. Substitution of these expressions
into the momentum equation and division by dx; on both sides gives:

5 § é
vy b ) ) op*
=1 - — Vy — =50 — 4.
/0 T dws + Oz /0 puids = v O0x1 /o pur g ° Oz, o (433)

or

4 ap-i,-
— dxy + —/ pu1(v1 — Vo) dre = =0 =— — 7, (4.34)
0

This equation is called the momentum equation for boundary layers. In practice
it is used to calculate approximate values for the thickness of the boundary
layer and the wall shear stress 7,. The pressure gradient is determined by the
pressure gradient in potential flow outside the boundary layer, and if similar
velocity profiles along the plate are assumed, only a single velocity profile has to
be assessed in order to find ¢ from equation (4.34).
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Example: Calculation of the thickness of boundary layer on a flat plate

X2

> - 8p+ MY .
v 0x, =0 -

0 vy [ P—

P Sl - 7
> ””, ’\/1 ¥> 8
_ X4
- plate

Figure 4.5: Boundary layer on a flat plate.

The flow depicted in Fig. 4.5 is steady assuming v, = constant. For the
potential flow Bernoulli’s generalized equation reads:
pt 0P

— + — = tant as
. % constan 9t

9% _ (4.35)

In the potential flow we have v ~ v, = constant, and thus p* = constant.
According to equation (4.2) this means that pt = constant everywhere
in the boundary layer, and consequently we have Op*/0x; = 0 in the
boundary layer.

Thus the momentum equation for the boundary layer reads:

(9:1?1

The assessed velocity profile has to fulfill the following boundary condi-
tions:

b 6
0+ 7/ pvi(vy —v,)dze = —0— 1, (4.36)
0

1) vy =0for 3 =0
2) vy =, for zo = ¢
3) g—;’; = 0 for 9 = 0 (corresponding to no shear stress at the top layer)
These conditions are fulfilled by the profile:
V1 = v, Sin % (4.37)
but they can also be fulfilled by an appropriate polynomial.

The shear stress at the plate is calculated by Newton’s formula, which after
substitution of the assessed profile reads:

Ovq T, TXo TV,
> = — JE—— = . 1 4.
To=H <3x2>m2_o sy (COS 2 )12:0 sy (4.38)
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Substitution of vy gives:

§ 5
/0 pvi(vy —vo)dry = / P sin =2 o% (vo Slnﬁ —vo) dxo
_ <0 T2 (oo T2 T2
= v / 1n sin % 1) d 2%
20
_ 2 o
= PU— (4 1) (4.39)

As § depends on z; only, the left-hand side of the momentum equation
reads:

0 0 2 /m do
o pv1(v1 — v,) dxg = pvi; (Z - 1) do, (4.40)
Substitution of the equations (4.38) and (4.40) into equation (4.36) yields:
2 dé _ pmy
2 o
“(5-1) 1.41
P <4 d CL‘1 20 ( )
or ds2 2 2
e L ——— (4.42)
dry  2pv,(1-%)  2v,(1—-7%)
where = v p has been substituted. Integration gives:
2
v
= C 4.43
20,(1— ) 1+ Cq (4.43)

The constant C; is determined by using the boundary condition: § = 0 for
x1 = 0, which gives C; = 0. The approximate expression for the boundary
layer thickness therefore reads:

5= L%ZZL.SO va

20,(1 - %) Vo

(4.44)

The corresponding displacement thickness reads:

VIq

5
5 = / (1 —sin “2) dzy = 0.3636 = 1.74
; 2

Vo

The choice of a velocity profile could be crucial for the accuracy of the estimates.
That’s why estimates obtained by two different assessed profiles are shown in the
table below. Note that 7 = 25/ in the table.
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f(n) =150 —057° | 1.74 0.32
f(n) = sin(5n) 1.74 0.33
correct profile 1.72 0.33




4.4. SEPARATION

It is seen that both the displacement thickness and the shear at the plate are
estimated well by the momentum equation for boundary layers, and apparently
the choice of velocity profile is not important.

4.4 Separation

In general the velocity profiles in a boundary layer are not similar. Such layers
can be analyzed by a method proposed by Pohlhausen (1921).

It is assumed that the flow is steady, and that the velocity profiles can be de-
scribed by a 4th order polynomial, i.e.

v
2= f(n) = an+by* 4+ cen® 4 dn* (4.45)

Vo
where 1 = %2, i.e. it is assumed that the thickness of the layer is finite. This

polynomial is seen to fulfill the boundary condition v; = 0 for x5 = 0.

The four coefficients a, b, c and d are determined by adopting the following bound-
ary conditions:

1) Continuous velocity profile:

U1 T2

f(1) =1, corresponding to — =1 for 5= 1
Vo
2) No shear stress at the top of the boundary layer:
f'(1) = 0, corresponding to a—;}:; =0 for % =1

3) No curvature of the velocity profile at the top of the boundary layer:

(921}1

x
f"(1) =0, corresponding to —— =0 for —= =1
Ox3 ]

4) Very close to a wall the velocities remain low. Consequently also accel-
erations are small close to a wall, and the equation of motion (4.4) is
approximated by:

opt R
O ——— + >
6:1:1 8.’)32
or o2 -
V1 10p
0z3 W 0xq or a2 ( )
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Here dp™ /0x; is controlled by the flow outside the boundary layer and by
use of Bernoulli’s generalized equation i.e. p™+1/2pv? = constant derived
with respect to x; , the gradient reads:

opt Ov,
Loy, a2 44
Barl pY (9.’131 ( 7)
As 52
v Vo
W%l =52 f(n)
equation (4.46) can be rewritten to:
noy L — 199"
vof (0)52 - ’uaxl
or 2 ot
" p
= - 4.4
0= (145)

Notice that close to a wall the curvature of the profile depends on the
pressure gradient outside the boundary layer.

Defining the parameter A as:

2ot

A =
1o, 0xy

(4.49)

and making use of the four boundary conditions for f(n) gives (after some alge-
bra) expressions for a, b, ¢ og d. Without going into details the result can be
expressed as:

v
;1 = F(n) + AG(n) (4.50)
where
F(p) = 2n-2n’+n*
1
Gm) = Z(n-30"+3n"—n")

6

Thus, the velocity profiles are not similar, but they are part of a one-parameter
profile family with form parameter A.

Substitution of this expression into the momentum equation makes it possible to
calculate the boundary layer thickness § and wall shear stress 7, the same way
it was done for similar profiles.
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X
-2
A M= 5
1 4
_-28
N g
N )
e
v,
v, fo)
0 1

Figure 4.6: Non-similar velocity profiles in boundary layers.

The sign and magnitude of A are, however, decisive for the shape of the velocity
profile, see Fig. 4.6.

If the fluid particles are flowing towards decreasing pressure, we have A > 0,
as the pressure gradient is negative. From Fig. 4.6 it is seen that the velocity
profiles are close to being similar for A > 0.

On the other hand, if the fluid particles flow towards increasing pressure, we
have A < 0, as the pressure gradient is positive. In this case the shape of the
profile strongly depends on A. From Fig. 4.6 it is seen that for A = —12, the
tangent to the velocity profile at the wall is perpendicular to the wall, and for
A < —12, the flow is reversed in the area closest to the wall. The spot in the
boundary layer, where A = —12 appears, is called the point of separation. On
the length after this point, we say that the flow is separated from the wall.

If we consider the flow past a circular cylinder, see Fig. 3.8, the pressure is de-
creasing from the upstream stagnation point up to the point, where the xs-axis
intersects the cylinder. Therefore, separation does not occur on this length. On
the downstream side of the cylinder the pressure is increasing in the flow direc-
tion, and separation occurs as depicted in the figure. In practice, the position of
the point of separation and the course of the flow behind the cylinder strongly
depend on Reynolds’ number, and the appearance in Fig. 3.8 only occurs for
10 < Re < 40.

105



Chapter 5

Turbulent Flows

A transition from laminar to turbulent flow always takes place, when either the
characteristic velocity or the characteristic length in Reynolds’ number, Re =
V L / v, exceeds a certain value. For the flow in a circular pipe with diameter
D and discharge (volume flux) @, the diameter D and the average velocity
V = @Q/A are often selected as characteristic length and characteristic velocity,
respectively. Experiments show that the transition to turbulent flow takes place
at

VD
Re = —= ~ 2300 (5.1)

As for pure water v ~ 107% m? /s, the transition takes place at V = 0.046 m/s
for a flow in a pipe with diameter D = 0.05 m. Consequently nearly all pipe
flows are turbulent in practice.

Turbulence is caused by instability of a flow. If a disturbance is introduced into
a flow, it has been shown that an increase of the energy corresponding to the
disturbance always takes place if the Reynolds number is large enough. The
disturbance is spread into the entire flow, and the result is the very chaotic type
of flow, which we call turbulent flow.

The velocity field corresponding to smoothed (with time, i.e. low-pass filtered)
values of the velocities is called the mean flow, and a turbulent flow may be con-
sidered as the mean flow superposed by eddies causing the velocity fluctuations
of stochastic nature.

Navier-Stokes equation is still valid for the fluid particles in a turbulent flow, but
an analytical solution is excluded. Also, a direct numerical solution is excluded
in most cases, as it is necessary to describe (resolve) all the small eddies in the
flow. In practice this demands so many grid points in the calculation that both
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memory and computational speed are inadequate except for the so-called super
computers. However, some direct numerical solutions exist, and they are used as
benchmarks for the approximate solutions obtainable with ordinary commercial
numerical solvers and computers. These solvers do not try to resolve the small
eddies, but they attempt to take the effect of the eddies into account by use of
so-called turbulence models.

5.1 Stability of Laminar Flow

In the following it is shown that for sufficiently large values of Reynolds’ number,
any disturbance in a laminar flow will grow with time, and transition to turbulent
flow takes place.

The stability analysis is based on the vorticity transport equation for two-dimensional
flow, i.e.
d(rot )3 9 .
——2= =y V?(rot v)3 (5.2)
dt
and a flow close to a wall is considered, see Fig. 5.1.

X2
A

streamline
Un

Figure 5.1: Disturbance of an initially steady, laminar flow close to a wall.

In this section variables corresponding to the initially, steady flow are denoted
with capital letters and the disturbances with small letters.
The velocity field in the undisturbed laminar flow is:

U1 = U(l‘g)
Vg = 0

and the angular velocity of the fluid particles, €2, in the undisturbed flow therefore
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reads:
1 o
Q = i(rot ¥)3
B 1((%2 %
o 8$1 8:1:2
10U

Substitution of Q = 1/2(rot ¥)3 and the expression for rate of change into equa-
tion (5.2) gives:
o0 o0 o0

— — =vV?Q 5.4
ot o  "om, (5:4)
Here 0Q/0t = 0 due to steady laminar flow, and vy = 0 gives:
o0
U= — w20 5.5
oz, " (5.5)
After introduction of the disturbance, the velocity field is:
V1 = U(SL‘Q) -+ uy (t)
Vg = 0 + uo (t)

and equation (5.2) reads:

o+ w) O+ w) Q2+ w)
ot 0z, O
where w is the angular velocity corresponding to the disturbance. As the changes

of the undisturbed flow are much smaller in the flow direction than in the direc-
tion perpendicular to the flow direction, it is assumed that:

9] [2)9)

+ (U +w) + (0 4 ug) =vV3(Q+w) (5.6)

— <L 7
(91,‘1 < 6132 (5 )
Again 9Q/0t = 0, and substitution of equation (5.5) into equation (5.6) gives:
Ow ow Ow oN
a+(U+u1)a—+(0+uQ)a s qua—m?+l/V2w (5.8)

According to the expression for rate of change the left-hand side of this equation
is the substantial rate of change for w, and equation (5.8) is rewritten to:

dw _ o0 2
After multiplication by w on both sides, the equation reads:
d 1, o0 Pw  Pw
- 1
39 T g, et re G axQ) (5.10)
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Next the individual terms of this equation will be interpreted on a physical basis.

The term on the left-hand side is proportional to the rate of change of the
rotational energy of a fluid particle. If this rate of change is positive, more
energy is bound to the disturbance, i.e. the disturbance will grow.

The first term on the right-hand side of equation (5.10) describes the production
of rotational energy in the disturbance, as shown below. The fundamental vari-
ation of € is depicted in Fig. 5.2. Notice that 2 < 0, as the particles are turning
clockwise. Consider a fluid particle, which at the time ¢ = 0 has the angular

X2
A
Q

|@p)| |Qp|

updt
b w/ o, I ’

a X1

P

Q,o

Figure 5.2: Production of rotational energy.

velocity Q, + w, at the distance a from the wall. At the time t = 0 4 dt the
particle’s distance to the wall is b = a + us dt, and due to the limited influence of
viscosity during dt, the angular velocity of the particle remains nearly constant,
i.e.

Qo +we = Qp +wyp

Substitution of 50
Qp =0y + — uadt

8$2
gives
o0
W X — Ug dt + wyp
awz
or
dw  wp — wq o0
- = e A p— J}
dt dt dxo

Multiplication by w on both sides of the equation gives

d 1, a0
a(iw )N —871‘2’(1/20.)
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When the right-hand side is positive, there is an increase of the rotational energy
of the particle corresponding to the disturbance, and consequently

—— Ugw

(91‘2 2
may be interpreted as a term that represents the production of rotational energy
corresponding to the disturbance.

The last term on the right-hand side of equation (5.10) represents the work done
by the viscous forces, i.e. the transformation of mechanical energy to heat, also
called dissipation. This term has to be negative, as a disturbance will always
fade away unless the flow is constantly supplied with energy.

The ratio between production and dissipation can be assessed from equation
(5.10) on non-dimensional form. Below, non-dimensional variables are marked
with an apostrophe, and to obtain non-dimensional variables we make use of the
variables:

1) the thickness of the boundary layer near the wall, where Q # 0
Q, the angular velocity at the wall
U,, the velocity outside the boundary layer.

The equations defining the non-dimensional variables are chosen to be:

t=0/Unt , Q=Q,9 , w=Q,u
up =Unub , x1=90x] , x2=0a}

Integration of equation (5.10) over the thickness of the boundary layer and sub-
sequent substitution of the non-dimensional variables yield:

d 1y L aq 2w/ 52w
@ . i(w/)Z dl’é = ‘/0 (—aTU dx2 / /2 + )d.’ljz (511)
2

where

It is seen that Re can be interpreted as a Reynolds number for the flow. It is
also seen that for increasing values of Re, the importance of the last term of
equation (5.11) decreases.

If Re is small enough, the dissipative term becomes large compared to the pro-
duction term, and all disturbances introduced to the laminar flow will fade away.

On the other hand, if Re is sufficiently large, the dissipative term becomes small
compared to the production term, and consequently any disturbance will grow,
until the flow ends up as a fully turbulent flow.
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5.2 Description of Turbulent Flow

Often turbulent flow is considered as the mean flow superposed by eddies causing
velocity fluctuations of stochastic nature.

Even though all turbulent flows are per definition unsteady, we talk about steady
turbulent flow, if the mean flow is steady. If we consider a steady mean flow in
a pipe, time series of the three velocity components will in principle look as
depicted in Fig. 5.3. In the rest of this book the velocity field of the mean flow

0

u,(t) v, ()
W‘\,VVMWI%WM,\ LA AL tid
U 1 V3 (t)
—A@AWVAAM«WWVH—» tid
tid

Figure 5.3: Time series of velocity components in steady mean flow

is denoted U; and the turbulent fluctuations are denoted ;.

For an unsteady mean flow the general velocity field v;(zg, t) reads:
vi(xg, t) = Ui(zg, t) + ui (2, t) (5.12)

Fig. 5.4 shows a time series of fluctuations in a pipe flow, where the discharge
(volume flux) is varying periodically with time. Notice that the discharge is
varying much slower than the turbulent fluctuations do.

The fluctuations can be considered as stochastic variables, so we are in practice
satisfied, if it is possible to determine the mean flow U;(xg,t) after, in some way
or another, the effect of the fluctuations has been taken into account.

If At denotes a sufficiently large time span (compared to the time scale of the
fluctuations), a smoothed value of the variable a(t) is defined as:

- 1 At/2
t) = — t+t")dt’ 1
=5/, (5.13)

where denotes a value smoothed over time (low-pass filtered).

Thus velocity components in the mean flow reads:

1 At/Q
/ v;(t +t')at’ (5.14)

Ui(t) = vi(t) = Al s s
— At
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2.0

1.5

-
o
I

velocity [m/s]

o
o
|

0.0

time [secs]

Figure 5.4: Time series of velocity component in pipe flow with slowly varying
discharge.

If the x;-axis coincides with the pipe axis, we see that Uy (zg,t) # 0 and the two
other components are zero.

Application of At = 4 secs when smoothing the time series in Fig. 5.4, leads to
the mean flow and fluctuations depicted in Fig. 5.5. Notice that the breakdown
into mean flow and fluctuations by smoothing with time only makes sense if
Ty < At < T,,, , where Ty and T,,, are typical periods in fluctuations and mean
flow, respectively.

Substitution of equation (5.12) into equation (5.14) yields:
1 A2 At/2
Ui (t :—/ Ui(t+t’dt’+—/ w;(t +t)dt’
( ) At —At/2 ) At —At/2 ( )

If the variation with time of the mean flow is so slow that the velocity varies
approximately linearly over At, we get:

Ui(t) = U1<t) + Ui(t)

and therefore:

;=0 (5.15)

In the following it is necessary to calculate smoothed values of derivatives like
e.g da(t)/0x;. In such a case we find:

da 1 (A2 9at+t) ., o 1 [AY? o Oa
_ 1 — - - 1
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Figure 5.5: Time series mean flow and fluctuations in pipe flow with slowly
varying discharge.

The smoothed version of the continuity equation reads:

Bxi - (9331 + 81‘2 o a.’tl + 5:& =0 (517)

and application of equation (5.16) to the last term gives:

ou, ow;
el el (5.18)

As 0u;/0z; = 0, when w; = 0 everywhere, the continuity equation for the mean
flow reads:

ou;

5o, =0 (5.19)

Consider the Navier-Stokes equation:

d'l)i 8p+ 0 ({91)1' avj

= — —-— 5.20
p dt 83?1 + 8$j (/1' <8.’L‘] + 81‘1‘ ( )
Below a smoothed version of this Navier-Stokes equation is derived. The accel-

eration term is rewritten to:
d’l)i Bvi 81)1‘ 31)7; + 0 (1) v ) 8vj
— v = (v 0;) — v
dt ot &vj J ot 8:5]- J 8Z‘j

(5.21)
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where the last term according to the continuity equation is zero. Substitution of
equation (5.21) into equation (5.20) gives:

Ov; 0 _ opt 0 dv;  Ov;
ot tP oz %) = o T o, <” (axj +8wi>> (5:22)

Like the velocities, the dynamic pressure pT is , divided into a smoothed part
pt and a fluctuation (p*)’, i.e.

P

pr=pt+ (@) (5.23)
where (pT)’ = 0 per definition.
Substitution of equation (5.12) and (5.23) into equation (5.22), and subsequent
smoothing give:

oU; 0 _0(pt) 0 oU;  oU;
P TP oy, (Uit w) Ui +u) ===5 =+ 5 (“ (azj oz,

B (5.24)
where U; = U;, w; = 0 and (pT)’ = 0 has been used. The second term on the

left-hand side is rewritten as follows:

0
T%(UZUJ—FUZU]—FUZU]'FUZUJ) =
0
T%(UZUJ—FUZ’LL]—FUlU]—FulU]) =
o Uj)  0Uiw;) 0w Uj)  O(uiwy) o U;) | O(uiuy)
= 2
(3il,'j + 611;'j + 8w]‘ + 8iL'j 8.’13j + 611;'j (5 5)

where u; = 0 is applied.

The left-hand side of the smoothed Navier-Stokes equation (5.24) is then rewrit-
ten to:

= U.: Uii g7
P ot tp Oz tp Oz T TP ]8:cj+p Oz tp O0x;
— U AT T
p 8t +,0 ]812]' +p 8:1:]-
= F dt +P a:Ej

where the expression for rate of change and the continuity equation for the mean
flow (5.19) have been used. In this way the smoothed Navier-Stokes equation
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reads: o
dUl - _8p+ 87 aUZ an _ a(uz Uj)
p dt - 81‘, + 8xj (’u (81}] + alL’i )) p (911]' (526)
or
du;  opt 0 oU; | dU;
P dt o 83% + 8.’13]' (H (833] 8@) p i uj) (527)

This version is also named the Navier-Stokes equation for turbulent flow.

Notice that the last term on the right-hand side appeared, when the acceleration
term in the Navier-Stokes equation was smoothed. Therefore, this term describes
an acceleration (and change in momentum), which cannot be described by use
of the velocities in the mean flow. As shown below, this term describes the effect
of the exchange of momentum caused by the fluctuations. The term is therefore
quite similar to the viscous term (the next-to-last term on the right-hand side),
which describes the effect of the exchange of momentum caused by the motion
of the molecules.

Notice that if the continuity equation for the mean flow is used, we can rewrite
equation (5.27) to:

(5.28)

AL ) p—
p dt Ba:i 6a:j p it

- M&mj

Example: The effect of exchange of momentum between two trains

Two trains, denoted L(eft) and R(ight), are moving in the same
direction at different velocities. Train L has the velocity U; + AU,
and train R has the velocity U;. Suddenly, the staff on the trains
start to spray water on each other. Both teams use a discharge of
Q m?/s, see Fig. 5.6.

LX]

fQ 1Q

B

Figure 5.6: Ezchange of momentum between two trains.
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Even though the mass of each train is constant with time, the engine
driver on train L has to increase the driving force from the engine
in order to keep the velocity unchanged. The opposite happens for
train R. Why ?

The conditions in the direction of the z1-axis are considered. Q At m?>
of water is transferred from train R to train L during At secs. As
the velocity of this water is increased from U; to U; + AUy, the
momentum of the water is also increased. This requires the impulse

Fltery At =m (U + AUL) —mUy = m AUy = pQ At AUy

where FJ,,.,  is the force from the train on the water. After division

by At the expression for this force reads:
F£ater,1 =pQAU >0

As action = re-action (Newton’s third law) the force from the water
on train L becomes:

Flraing = —Fatern = —pQAUL <0
Similarly we find for the water transferred from train L to train R:
Ffater,l =pQ(-AU;) <0
and therefore
Ftlf’ain,l = _Ffatem =—pQ(-AU) = pQAU; >0

The exchange of momentum is therefore equivalent to the shear for
F = pQ AU, between the trains.

YQ 1Q — F= r

Figure 5.7: Dynamically equivalent descriptions of two trains.

Notice that you need not describe the discharges between the trains,
if you remember to include their effect, which is the shearing force
between the two trains, see Fig. 5.7.
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Figure 5.8: Dynamically equivalent descriptions of turbulent flow.

In many cases, the eddies, causing the fluctuations in a turbulent flow, will also
cause an exchange of momentum across a section dividing two parts of the flow.
If we do not want to describe these eddies, i.e. we only want to calculate the
mean flow, we must remember to include their dynamic effect in the calculation.
This is done by introducing shear stress to the mean flow, see Fig. 5.8.

The z1-component of equation (5.27) for a two-dimensional flow reads:

. opt 9 (90 OUL\
Poat = oz oz \M\ oz 0z ) P

A C A
8m2 s 81172 6.271 p U1tz

In case of uniform flow in the direction of the z1-axis, we have 9U; /dz1 = 0 and
0 (urwy)/0x1 = 0, which gives this version of the Navier-Stokes equation:

dU, opt 0 Uy AU, .
a _ g g, 92 2
L Do + 02, (,u <6x2 + Bxl) pUL u2> (5.29)

Because most literature on fluid mechanics denotes shear stresses 7, this is also
done in the following.

As p (0Uy/0xq 4+ OU/0x1) is a smoothed value of the shear stress caused by
viscosity, we introduce the name viscous shear stress, and we have:

VisC % + %
21 —H 81‘2 81‘1

Equation (5.29) can now be written as:

duy _ Opt | 0
P ot = om + . (3% UL UZ) (5.30)

and it is seen that the term —pu7 uz can be interpreted as an extra shear stress
caused by the turbulence.
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In turbulent flows we thus have two contributions to shear stress:

T = The i (5.31)
where
visc aUZ aU] . .
Thise = <8xj + 6xi> for i#j (5.32)
and
T;Wb =—pUu; G, for i#y (5.33)

Except in certain domains, where large velocity gradients are present (usually in

very thin layers close to fixed boundaries), we find Tﬁisc < Tﬁ”"b.

In general the term —pu; u; can be interpreted as extra stresses normally named
Reynolds’ stresses.

Unfortunately, equation (5.27) cannot be applied to calculate the mean flow, be-
cause a relation between T;Z?”b = —pu; u; and U; is missing. Despite considerable
research within the area, no general theory exists, and in practice we are forced
to apply approximate relations describing the relation between turbulence and
mean flow. These approximate relations are normally named turbulence models,

and in the following the oldest and most simple turbulence model is described.
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5.83. MIXING LENGTH THEORY

5.3 Mixing Length Theory

Figure 5.9: Exchange of momentum across a section in the flow direction.

A uniform turbulent flow may be interpreted as the mean flow superposed with
eddies of different size. These eddies will cause an exchange of fluid and mo-
mentum across a section parallel to the wall. At a given section it is assumed
that the size of the eddies is comparable to a length scale £, but the size of this
scale is unknown for the time being. It is assumed that an eddy of size ¢ can
transport fluid from level I up to level 11, if the distance between these two levels
is of the order of magnitude ¢. Therefore, ¢ is often named the mizing length.
Due to continuity the same amount of fluid has to be transported downwards.

Thus we have two equal, oppositely directed discharges (volume fluxes) through
the area A. The magnitude of these is denoted Q(> 0).

Prandtl (1925) assumed that fluid particles were able to move a finite distance
crosswise before they adopt the velocity of the surrounding fluid. Thus he as-
sumed that fluid particles moving upwards from level I will reach level II, before
they are moving in the x;-direction at the same velocity as the surrounding fluid.
Thus the fluid particle increases its velocity by
oU
AU, = U1(:)32 + é) — Ul(iL’Q) = 571 (534)
8:@
As shown in the previous example, this exchange of momentum is equivalent to

the shear force
F = P Q AUl

and substitution of F' = 7 A and the expression for AU; gives:

_ @ o
T=pYy ﬁaxz (5.35)

Furthermore, Prandtl assumed that the order of magnitude of the fluctuations in
the z1-direction was proportional to the change of velocity in the mean flow over
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the distance £. If the standard deviation is used to assess the order of magnitude

of uy, we have:

oU
Oy, = kl |AU1| = klg 8756; (536)

but k; is so far unknown. An eddy causes fluctuations in both directions, where-
fore the fluctuations must have the same order of magnitude in both directions,
ie.

Ouy R Oy (5.37)

The exchange of fluid across A is caused by the eddies, wherefore @ is propor-
tional to the size of the crosswise fluctuations. This gives:

Q=kyou, Axkaoy, A (5.38)
or o
—ko -kt v A 5.39
Q=ks k1 Dy (5.39)
Substitution of this expression into equation (5.35) yields:
ovy| 1 oUy o\ | QUL | OUy
= pokaky 0|2 AT 1 = (ke ky £7) |52 T2
T=p kel Oza| A 6311?2 plkkz £) Oz | Oxo

Shear stress in a turbulent flow, can thus be expressed as:

oU,

8:1:2

oU,

P (5.40)

T =pl3

where 612, = k1 ko 0. Tt can be a bit confusing that £, is also named the mizing
length, but in practice this causes no misunderstandings. We can determine /¢,
only by measuring corresponding values of 7 and ggzl . Therefore, the magnitudes
of k1 ko and ¢ remain unknown.

Equation (5.40) is of no use, unless we can determine the variation of the mixing
length ¢;. In order to do so, a few general considerations are relevant.

At the wall no turbulence is present, and, consequently, ¢, = 0 at the wall. As
the size of the eddies is increasing with the distance to the wall, we also expect
ly to be is increasing with the distance from the wall. Thus, the simplest and
dimensionally correct assumption is that ¢ is proportional to the distance from
the wall zo giving

by = Kz (5.41)

The constant k is named von Karman’s universal constant. Experiments have
shown that for fully developed turbulent flows close to a wall, k ~ 0.41, but it
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5.83. MIXING LENGTH THEORY

should be remembered that ¢, = k x5 is valid only within a limited distance from
the wall, see Fig 7.1.

The exchange of momentum caused by the eddies in a turbulent flow is quite
analog to the exchange of momentum caused by the heat dependent motions of
the molecules. As we do not want to describe the individual molecular motions,
i.e. we assume the fluid to be a continuum, it is necessary to take their effect into
account. This is done by the introduction of equivalent shear stresses, named
viscous shear stresses, given by Newton’s formula:

. oU oU:-
To1*¢ = PV(aTC; + Txf)

In the technical turbulence theory we do not want to describe the fluctuations,
but their effect (exchange of momentum) is taken into account by the introduc-
tion of equivalent shear stresses, named turbulent shear stresses. Often they
are modelled by Boussinesq’s approximation, which is an equation similar to
Newton’s formula:

oU,  0Us
Oxy  Ox1

turb __
1 = prr(

(5.42)
where vr is named the eddy viscosity. If the equations (5.40) and (5.42) are
compared for Us = 0, it is seen that

o,

o (5.43)

uTzég

Notice that v varies in space in contrast to v, which is a constant depending of
fluid type and temperature only. Therefore, in technical turbulence theory the
expression for the total shear stress reads:

— oUu,  0U,

o1 = T3 + 15" = p(v + vr) (Tu + B, (5.44)

In general vy >> v, and often 7vi5¢ is ignored. However, the assumption 7 =
Tt is not valid in general. For example it would lead to 7% ~ 0 at a smooth

wall, even though the largest shear stresses are found at the wall in reality.

Notice that according to equation (5.43) we find v = 0 at places, where
|0U; /05| = 0. This is fairly unfortunate seen from a physical point of view.

Consider the flux F' of a dissolved substance through a section parallel to the
direction of the mean flow, see Fig. 5.10. Concentration is denoted c¢ and has
the unit kg (substance) per unit volume of the mixture (substance/fluid). A
gradient of ¢ into direction of the xzo-axis is present.
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X2 X2
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Figure 5.10: Fluz of dissolved substance across the flow direction.

As the mean flow has no velocity component perpendicular to the section, the
only cause to the flux is diffusion, i.e.

Oc oc
F=—-(D+Dr)=— ~—-Dp — 5.45
(D + Dr) Dg T 5es (5.45)
where D is the ordinary diffusion coefficient (corresponding to the thermal mo-
tions of the molecules) and Dr is a diffusion coefficient (m?/s), whose magnitude
depends on the strength and size of the eddies. Unless the section is very close
to the wall, we normally have D < Dr.

Next equation (5.42) is rewritten to
turb __ aUl a(p Ul)

To1r = pPVr Dy vr 02 (5.46)

where pU; is momentum per unit volume.

Except from different signs, equation (5.46) and equation (5.45) are built in the
same way. Thus, we can interpret 75%® as the flux of momentum through the

section, and interpret vy as the diffusion coefficient of the process.

In technical turbulence theory it is often assumed that Dr = vy, i.e the disper-
sion mechanism for matter is the same as the dispersion mechanism for momen-
tum.

The presence of eddies will always create a mixing of matter across the direction
of the mean flow, and, consequently, the turbulent diffusion coefficient used to
describe this mixing should be different from zero. It is therefore unfortunate,
that equation (5.43) predicts vy = 0, at places where |0U; /0z2| = 0. In practice
eddies are present there, and calculations based on Dy = vy will underestimate
the flux of matter.

Thus more advanced models of the connection between turbulence and shear
stress are normally applied. The minimum requirement is usually a model, which
always predicts v > 0 in domains with eddies.
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5.4 Velocity Profiles in Turbulent Flows

Consider the velocity fields in a turbulent flow. For the sake of simplicity only
two-dimensional, steady and uniform flows in channels are considered. However,
the results are valid in nearly unchanged form for flows in completely full pipes.

We consider the flow in a very wide channel with uniform bottom slope 3 (the
angle between the bottom and horizontal). In steady, uniform flow the use of
simple dynamic considerations gives that the shear stress at the bottom has to
be in equilibrium with the gravity force component parallel to the bottom, if we
ignore the very small shear stress between fluid and air at the surface. It is also
easy to show that the shear stress varies linearly over a section perpendicular to
the bottom. Both results are valid for both laminar and turbulent flows.

Thus the shear stress at the bottom reads:

To=pgD sinf (5.47)
where D is the constant fluid depth, and the distribution of the shear stress is
T2
=To(1— = 5.48
r=n(l-2) (5.49)

Furthermore, it turns out to be practical to introduce the quantity named friction
velocity, which is defined as:

5.4.1 Smooth Bottom

For flows with a smooth bottom the velocity profile near the wall can be calcu-
lated by use of the mixing length model. Equation (5.44) with Us = 0 reads:

% =Ww+vr) % (5.50)
Substitution of equation (5.48), the expression for Ur and equation (5.43) give:
U%(l—%) = (V+VT)%
= (V—l—f% % > g—g;
, % 2 % % (5.51)
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Close to the bottom we have ¢, = kx5 and z5/D < 1, which after substitution
into equation (5.51) gives:

ouU UL \?
2 1 2 1
Up~v D5 + (kx2) (8302) (5.52)

Even though v is a very small quantity, the first term on the right—hand side
will always be dominant if we are close enough to the bottom. This corresponds
to TV > 7turb very close to the bottom. If we ignore the turbulent stresses,
equation (5.52) is reduced to:

9 oU,

which, after usage of the boundary condition U; = 0 for x5 = 0, gives:

U, Ur
= £ .54
UF o To (55 )

The velocity profile of the mean flow close to the bottom is seen to be linear, and
the flow turns out to be mainly laminar. Fluctuations might occur, but as the
viscous stresses are dominant, such fluctuations do not grow to real turbulence.
This flow domain is often named the viscous sub-layer.

However, we need not go particularly far away from the bottom before vy > v,
and the turbulent stresses become dominant. In that case equation (5.51) is

reduced to: )
oU
U = (kx2)? <8x21>

as we still have x9/D < 1. Because U; = Uy (z2), the equation can be rewritten
to:

1d
U, = Up—222 (5.55)
K T2
which, after integration, reads:
U, 1
— =1 K 5.56
Ur  n Ny + £ (5.56)

The velocity profile is seen to be logarithmic, but we are not able to determine
the constant K; by use of mixing length theory. To do so, experiments or
more advanced turbulence modelling is necessary. In Fig. 5.11, measured data
from experiments with full pipes are shown. The drawing is based on the non-
dimensional distance (Up z2)/v from the wall. As the data points in the semi-
logarithmic coordinate system fit a straight line excellently, except close to the
wall, the theoretically logarithmic velocity profile is confirmed.
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Figure 5.11: Smooth wall. Velocity profiles in pipes measured outside the viscous
sub-layer.

A fit of the data (for Upzo/v > 50) to a straight line in the semi-logarithmic
coordinate system gives:

U U,
Ule = 5.7+2.45 1n(7Fx2) (5.57)

According to equation (5.56) the factor of 2.45 has to be equal to 1/k, which
gives k ~ 0.41.

The deviation of the points from the straight line close to the wall in Fig. 5.11 is
caused by the transition from a logarithmic profile to a linear profile within the
viscous sub-layer. The linear profile, shown with the broken line in Fig. 5.11,
is curved in a semi-logarithmic coordinate system. In practice we use the linear
profile, equation (5.54), up to the intersection point with the logarithmic profile,
equation (5.57), and the logarithmic profile above that point. See Fig. 5.12.

The thickness of the viscous sub-layer, 4, is thus defined as the distance from
the wall to the intersection point of the two types of profile, i.e.

Ur

v

§=5.742.45 ln(%é) (5.58)
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Figure 5.12: Smooth wall. Velocity profile close to wall.

which solved with respect to 0 gives:

_ 11.7v

1)
Ur

(5.59)

In most cases § is a very small quantity, and it should be noticed that ¢ decreases
with increasing values of Up.

Example : Thickness of a viscous sub-layer

Consider a channel with constant water depth D = 1 m and slope
B = 1073. According to equation (5.47) we have 7, = 10%-9.81-1 -
sin 1073 = 9.81 N/m?. This gives Ur = /9.81 /103 = 0.099 m/s,
and, accordingly the thickness of the viscous sub-layer is:

§=(11.7-1079)/0.099 = 1.2 - 10~* m = 0.12 mm

5.4.2 Rough Bottom

In practice it is impossible to obtain a completely smooth wall from a physical
point of view. Even if the surface looks smooth to the naked eye, a look on the
surface with a microscope will reveal roughness elements on the surface, and in
the following the characteristic size of these roughness elements is denoted k.
While 6 > k, i.e. the roughness elements are small compared to the thickness of
the viscous sub-layer, the roughness has no influence and the velocity distribution
corresponding to smooth wall is valid.

However, from equation (5.59) it is seen that ¢ is inversely proportional to Up,
and if Up becomes large enough, & becomes comparable to k, i.e. the largest
roughness elements are no longer covered by the sub-layer.
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In that case the shear stress on the wall, 7, , is gradually changing from viscous
shear stress to drag forces on the individual roughness elements, where the drag
force on an element is due to excess pressure on the upstream side of the element
and low pressure on the downstream side. Formally it can be expressed as a
shear stress in this way:

1 2
Fwall o Z Felement o Z Cp - 2 pPv Aelement
Awall Awall Awall

To =

where cp is a drag coefficient, Agjement 1S the area of an element projected on
a plane perpendicular to the flow direction and v is a reference velocity like e.g.
the velocity immediately above the top of the roughness elements.

The size of the gradient OU; /0x4 is normally so large immediately above the top
of the roughness elements, that 7V%°¢ is a significant part of the total shear stress
7 there. However, the importance of the viscous stresses is only significant at
points very close to the wall, and normally it is assumed that 7 ~ 7t when
the distance to the top of the elements is of the same order of magnitude as k.

In the domain (approximately 1/10 of the depth or radius), where 7 ~ 7t“"* and
the mixing length is given by ¢, = k z9, calculations similar to the calculations
made for a smooth wall give:

Uy 1
— = -1 K. 5.60
UF K 2 + 2 ( )

Again the velocity profile is logarithmic, and again we must rely on experiments
in order to determine the integration constant Ks.

In Fig. 5.13 measured data from experiments with full-flowing pipes are shown.
The value of k for the roughness elements is the so-called Nikuradse sand rough-
ness (or equivalent sand roughness), which is the diameter of sand grains (glued
to the wall) that gives the same shear stress on the wall as the actual roughness
do. Some typical values are given in the table below, but notice that coatings
building up over time on plastic or steel surfaces can increase k by a factor 3 to
5!

Wall material | equivalent sand roughness, k
mm

Plastic 0.02

Steel 0.1

Concrete 1

Soil (channel) 10

Table 5.1: Typical values of equivalent sand roughness.
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Figure 5.13: Rough wall. Measured velocity profiles.

The drawing is based on the non-dimensional distance z5/k from the wall. In
case of a rough wall it is of course difficult to define the location of zo = 0. In
practice it is done during the fit of the points to a straight line. The location of
zo = 0 is simply varied systematically until the best possible fit to a straight line
is obtained. In most cases is x5 = 0 situated close to the peaks of the roughness
elements, but fortunately the exact placement is not very important in practice.
As the data points in the semi-logarithmic coordinate system fit a straight line
excellently, the theoretically logarithmic velocity profile is confirmed. The best
fit of the the data to a straight line in the semi-logarithmic coordinate system
reads:

U1 T2
— =8. 2.451n — .61
T, 8.6+ 2.45In — (5.61)

This equation can also be expressed as:

U1 i)
Z1 9451
Ur " k/33

(5.62)

The expression predicts U; = 0 at zo = k/33, i.e. close to the top of the
roughness elements. The equation is in principle only valid in the domain, where
ly, = kxo. In practice the deviations between the actual velocity profile and the
profile predicted by equation (5.62) are so small that equation (5.62) is often
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used in the whole range from the bottom to the surface in a channel or to the
centre of the pipe in case of pipe flow.

5.5 Considerations on energy in turbulent flow

The turbulence in a uniform, steady turbulent flow, e.g. a pipe flow, is named
preserved turbulence, as the three standard deviations of the turbulent fluctua-
tions at a given point keep their size and distribution constant with time. This
is not always the case. For example, if turbulence is created by the motion of a
grid through a stagnant fluid, this turbulence will fade away as time goes by.

In pipe flow the turbulence at a given point can be preserved, because energy
is steadily transferred from the mean flow to turbulence (in order to keep the
main flow steady, we must therefore submit energy to the main flow from e.g. a

pump).

Below it is attempted to explain how turbulent energy is produced in uniform,
steady main flow.

The definition of turbulent kinetic energy, k, per unit mass reads:

1 1
k= i(u% +uj +uj) = 5 Wi Ui (5.63)

i.e. k is the kinetic energy due to the fluctuations.

The total kinetic energy per unit mass of the fluid is 1/2v?, and smoothing
yields:

1— 1 1 1
5112 = §W: §(U1+uz) (UiJrui) = §UiUi+uiui+2Uiui
1 5 1 1 5 =
2U1+2uu 2U1+ (5.64)

It is seen that the total kinetic energy after smoothing is the sum of the kinetic
energy of the mean flow and the smoothed turbulent kinetic energy.

Consider the change of k, when, due to velocity fluctuations, a fluid particle is
moving across the streamlines of a mean flow.

Due to us the fluid particle moves from the level zo = a to the level zo = b
during the time At. Thus, the distance between the two positions is:

Azy =b—a=us At
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Figure 5.14: Production of turbulent kinetic energy.

See Fig. 5.14. If the action of the external forces is neglected, this change in
position is seen to correspond to a change in k. We have:

vi(a) =~ wv1(b) =
Ui(a) +ui(a) = Ui(b) +ui(b) =
oU-
Ui(a) +ui(a) = Uy(a)+ 571 - Azy +uy (b) =
2
oU-
ui(a) = a—x; - ug At 4 uq (b)
Thus at x5 = b the size of the x1-component of u; is:
ouU
ur(b) = wi(a)— %21 - ug At

The two other components of fluctuations are not changed, because the corre-
sponding two components of the mean flow are zero at both levels.

The corresponding change of the of the turbulent kinetic energy of the particle
per unit volume during the time At becomes:

plky —ka) = D) +us(a)? +ua(@)?] = S ur(@) + ua(a)? + uala)’]
= g[ul(a)—%'ugAt]Z—ful(a)Q
= g[ul(a)g—&-(g(a{; us At) —2u1(a)g—[x]21 us At] — Ly (a)?
- g[(%-uzAt)Q—zul(a)%-uQAt]
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5.5. CONSIDERATIONS ON ENERGY IN TURBULENT FLOW

or, after division by At :

ky—ka Ak p,0UL

Ak _p Uy
At PAar T 2\ 0a,

“ug)? At—ﬂ?ﬂ(a)aim ug

For At — 0 this expression reads:

dk O
pdt_ P 28x2

Therefore, the smoothed rate of change of the turbulent kinetic energy per unit
volume is:

dk U,

— = —pU U3 —— 5.65

P dt pu U2 D ( )

In fully developed turbulence the shear stress is identical to the Reynolds stress,

ie. 791 = 7" = —puyus , and the right-hand side of equation (5.65) can be
written: U
1

— 5.66

21 5 (5.66)

As both terms in this expression are positive, we say the expression corresponds
to production of turbulent energy, as k increases during the shift in position.
The expression can also be interpreted as the work done on a unit cube, i.e.
per unit volume of the fluid. In turbulent flow the work of the shear stresses is
initially transformed into turbulent energy in contrast to laminar flow, where the
work done on a particle is initially transformed into heat. The turbulent kinetic
energy is not transformed into heat in the large eddies, as closer investigations
have shown that the turbulent energy is transformed to still smaller eddies, and
the main transformation into heat, i.e. dissipation, takes place in the smallest
eddies. The dissipation per unit mass is again denoted e.

From equation (5.65) it is seen that the production of turbulent energy is largest
close to the wall, as both 7 and the velocity gradient are largest there. It is also
seen that the production is 0, where 7 or the velocity gradient is 0 as e.g. at the
pipe axis or the free surface in channel flow.

From experiments and dimensional analysis it is known that the smoothed dis-
sipation per unit mass can be expressed as:

e

al

Il

S
e\‘ !
<%

(5.67)

where A is a non-dimensional factor, and ¢; is a measure for the size of the
eddies. Names as dissipation length or length scale of turbulence are often used
for 4,.
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diffusion
I+10)

production
(I1m)

Figure 5.15: Energy balance of turbulent energy, k, in a pipe flow. Roman
numerals refer to the terms of equation (7.14).

It is possible to show that A ~ 0.09, and that ¢4 has the same order of magnitude
as the mixing length ¢, see chapter 7.

From equation (5.67) it is seen that dissipation takes place at all points, where
k > 0. As k > 0 at the centerline of a pipe, where the production is zero, a
transport of energy from the wall towards the centerline must take place, and
because this direction is perpendicular to the streamlines of the mean flow, it is
diffusive transport only. Finally, a closer examination shows that the work done
by the fluctuations of the pressure also creates a transport of energy towards the
centerline. However, this contribution is included in the total diffusion, so the
transport by pressure is shown only by a broken line in Fig. 5.15.

In Fig. 5.15 size and distribution of the above-mentioned contributions in a pipe
flow are depicted, and the equation describing these contributions is discussed
in chapter 7.
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Chapter 6

Turbulent Boundary Layers

All boundary layers are turbulent if the Reynolds number is sufficiently large.

The turbulent eddies cause the dividing surface between potential flow and
boundary layer to move irregularly, and these motions have an effect on the
potential flow. Even though the potential flow upstream of the boundary layer
is steady, the motion of the dividing surface causes the potential flow to be
weakly unsteady near the boundary layer.

If the mean flow in a turbulent boundary layer is considered, the same charac-
teristics are found for laminar and turbulent boundary layers, i.e. gradients of
velocity and pressure are much larger perpendicular to the flow direction than
in the flow direction. Consequently, part of the terms in the equations of motion
can be discarded.

Even though the thickness of the turbulent boundary layer increases along the
plate (in the x;-direction), and continuity therefore gives Us # 0, we normally
find Us <« U;. Thus, the streamlines of the mean flow are also nearly parallel.
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CHAPTER 6. TURBULENT BOUNDARY LAYERS

6.1 Flow Equations for Turbulent Boundary Lay-
ers

The x-component of the Navier-Stokes equation for turbulent flow, equation
(5.27), reads:

v, ot 0 Uy UL _
P dt B 8.’132 83:1 H 8331 8x2 pU2t1
0 oU;  0Us
— — 22 - 1
* 0z2 (M (8902 * 5902) Pt U2> ©1)

As Us = 0 everywhere, the accelerations of the mean flow in the zs-direction are
also small, and because the gradients in the x;-direction are small compared to
the gradients in the xo-direction, equation (6.1) can be reduced to:

0

Fr. (Tp%-_ pm) ~0 (6.2)

From equation (6.2) we find for a section perpendicular to the plate:

pt = —puguz + K(z1) (6.3)

If the dynamic pressure in the potential flow is denoted pJ, equation (6.3) reads:
pt=py — pu Uz (6.4)

as K(z1) = pF + pusuzle,—s = pJ, because uzuz = 0 at the transition to
potential flow.

Normally we have —pTz iz < pt , and this is the case also for turbulent bound-
ary layers. The dynamic pressure within the boundary layer is therefore deter-
mined by the dynamic pressure in the potential flow, i.e.

pt=p (6.5)

The component of the Navier-Stokes equation in the flow direction reads:

w0yt 0 ( (oUy oni\
p dt B o1 0z H# Oxq O0x1 prath
0 oUu,  0U,
+ (972?2 <,U ((9332 + (9331) — pul UQ> (66)
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Again it is used that gradients in the z;-direction are much smaller than gradients
in the zo-direction, so equation (6.6) can be reduced to:

dUl - 6pj 0 6U1 6U2
P dt N 8131 +81‘2 a 82132 82131 p iz (67)

As shown in section 5.2, the quantity in the last parenthesis is equal to the shear
stress 721, and the flow equation can also be written as:
p W Op O™
dt 81‘1 81‘2

(6.8)

If a particle with unit volume is considered in the mean flow, equation (6.8)
can be interpreted as an ordinary Newton’s 2nd law for the particle, where the
Reynolds stresses are part of the shear stresses.

6.2 Momentum Equation for Turbulent Bound-
ary layers

After smoothing of the ordinary momentum equation for boundary layers, equa-
tion (4.34), reads:

é b S ap-l,-
N g+ 2 [ S UL (U = vy) dag = —5 ZPo — 1 .
/0'0816 x2+8x1/0p 1(Ur = o) a2 oz, (6.9)

Notice that a finite value of the boundary layer thickness is assumed, and for
convenience the smoothed value of the wall shear stress is simply denoted 7, in
the following. In the second integral a small term has been neglected, as we
normally find wu; < 0.01 - U2 for flows having the same character as boundary
layer flow.

Equation (6.9) is named the momentum equation for turbulent boundary layers.
Usage of this equation makes it rather simple to find approximate values of
the thickness of the boundary layer after assessment of a velocity profile and
a relation between the velocity outside the layer and the wall shear stress. It
is, however, not possible to express directly the smoothed wall shear stress by
the assessed velocity profile, as shear stress in a turbulent flow consists of both
smoothed viscous shear stresses and Reynolds’ stresses.

Measurements of velocity profiles in turbulent boundary layers have shown the
existence of a domain close to the wall, where the velocity profiles with good
approximation can be described as shown in section 5.4.
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Consider e.g. the velocity profile close to a rough wall:

Ul(l‘g) o
=2.45ln —— 6.10
Ur s (6.10)

where the friction velocity Up is defined as:

To

Up = ]2 (6.11)
p

If we consider a point at the top side of the smoothed boundary layer, equation
(6.10) gives this relation between the friction velocity and the velocity outside
the boundary layer, v,:

v )
— =245ln —— 6.12
U " %/33 (6.12)
After substitution of equation (6.11) the relation between v, and 7, for a rough
wall reads:

Vo )
= 2.45In —— 6.13
= bl es (6.13)
P

If this expression and equation (6.10) are substituted into the momentum equa-
tion, we get a differential equation. Unfortunately no analytical solution exists,
as ¢ appears on the right-hand side of equation (6.13).

A numerical solution of the momentum equation based on equation (6.13) is
described in Fredsge (1990). Below a simpler method of solution is described,
which is based on the same assumptions, i.e. steady, uniform mean flow.

If we consider the boundary layer on a pipe wall or on the bottom of a channel,
the thickness of such a boundary layer increases until the top of the boundary
layer reaches the axis of the pipe or the free surface in the channel. Downstream
of this section the flow becomes an ordinary turbulent flow. Uniform, turbulent
flow in pipes or channels may therefore be considered as boundary layer flow
which fills up the entire cross-section.

From dimensional analysis of uniform flow in pipes or channels it is known that
the relation between the average velocity (in the mean flow) over the cross-
sectional area, A, and the wall shear stress reads:

1
To=f" §pV2 (6.14)
where f is named the friction factor, and V is defined as:
1
V= —/ U, dA (6.15)
A Ja
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A is the area through which the fluid is flowing. As shown in basic books on fluid
mechanics it is practical to introduce the quantity hydraulic radius, R, defined
as:

A
R=— 6.16
where P is the length of the wetted part of the perimeter. If R is chosen as
the characteristic size of the cross-section, measurements show that the friction

factor is given by Colebrook & White’s formula:

2 k 4.7
- =64—-24In( -+ ——= 6.17
f ! <R Rey/F ) (647
where k is the equivalent sand roughness, and Re is the Reynolds number defined
as:
VR

Equation (6.17) is valid for all steady, uniform turbulent flows, but it is im-
plicit. In order to avoid an iterative solution of this implicit equation, f can be
approximated by:

0.341
[in (77 + A8%)]

Notice that this expression is only valid for 4 - 107° < k/R < 0.08 and 1000 <
Re < 2.5-107.

f= (6.19)

For a smooth wall equation (6.17) is approximated by:
_0.056
V' Re

and for a rough wall the approximation reads:

f for Re < 31000 (6.20)

2 R\*®
z=81 <k> for 0.0033 < k/R < 0.21 (6.21)

With respect to the assessment of the velocity profile in turbulent boundary
layers, an often adopted expression reads:

Ulqum) _ <%)* (6.22)

where the magnitude of n slightly depends on the type of flow. In many cases
n = 7 is a good approximation, and this value is also used here. It has been
shown earlier that the values of  obtained by the momentum equation are rather
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insensitive to the shape of the velocity profile assessed. Thus, the mean velocity
becomes:

1 J o % 5 J o % i) 7
v1 (%2)" :7/ (%) a(%) =+ 6.23
5/0”"5 275 ), s 5/ 8% (6.23)
With these assumptions an analytically solution of the momentum equation for
turbulent boundary layers becomes possible.

6.2.1 Turbulent Boundary Layer on a Smooth Plate in
Uniform Flow

Assume that v, = constant in a uniform flow, i.e. the potential flow is steady.
Bernoulli’s generalized equation gives p* = constant in the potential flow, and
thus the smoothed momentum equation for the boundary layer reads:

b é
87/ pU (U — v,) dxe = —7, (6.24)
1.Jo

Furthermore similar velocity profiles are expected, based on the experience ob-
tained from laminar boundary layers. Substitution of Uy (z2), equation (6.22),
into the momentum equation, gives:

pvg% 05 [(:1;2)? B (:1;2>;)} dxe = 7’01)‘%8%1 (;25) = —To

7 06
2
— =1, 2

U5 73 021 T (6.25)

As a smooth wall is assumed, f is given by equation (6.20):

0056 0056 _ 0.056
N v Re N 4/VR B 4/ Tv, 8

as R = 0 for the actual boundary layer. Substitution of this expression for f
into equation (6.14), where V =7/8v, , gives:

or

f

1
0.066 1 /7 o\ ¢
. fp(gvo)z = 0.022pv2 <1}Z> (6.26)

1/ Zvoé 2
v

To =

As ¢ only depends on z; , equation (6.25) is an ordinary differential equation,
which after substitution of equation (6.26) reads:

7 do 08\ T3
99 0.022 2
2de, 00 ( Y ) (6.27)
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Integration gives

51 72 fvo\ %
720,022.7( ) L+ C (6.28)
2 7 12
where C' is a constant.
Yo
opt T
XZ 6)(1 B 0 ,/,’ =
/'/ U
V1 =Vg Vo /,/
~ )
___.-~ turbulent

X1

plate

Figure 6.1: Sketch of the transition between laminar and turbulent boundary
layer.

To determine C' is not trivial, as the boundary layer is laminar close to the edge
of the plate, see Fig. 6.1. At a certain distance from the edge the boundary
layer becomes turbulent, and we will assume that the thickness of the laminar
layer is equal to the thickness of the turbulent layer at a point of transition, even
though the transition in fact takes place over a finite reach. In literature it is
often stated that the transition takes place for

VoT1

Re,, ~ ~3.5-10° (6.29)

but this value is only valid if the potential flow is nearly perfectly uniform and

the plate is very smooth.

In practice even small disturbances in the potential flow or roughness elements
on the plate will lead to a transition to turbulent boundary flow for

VR w

v v

Re ~ 600

as it is also seen for ordinary pipe or channel flows. If we use the approximate
expression for ¢ in a laminar boundary layer, i.e.

12851

Stam = 4.8
Vo

139



CHAPTER 6. TURBULENT BOUNDARY LAYERS

it is seen that transition takes place at z1 ~ 2220 _if v = 1.3-107% m?/s (~
water). For v, = 1 m/s the transition takes place a few centimeters from the
leading edge, and the thickness of the boundary layer is only

Stam = 4.84/1.3-10-6 - 0.020/1 = 0.00078 m ~ Imm

Consequently, it is often assumed that the boundary condition for the turbulent
layer is § = 0 for 27 = 0, giving C' = 0 in equation (6.28). Thus the thickness of
a turbulent boundary layer on a smooth plate reads:

§=037 <”) z
Vo

Notice that the turbulent boundary layer grows approximately linearly with the
distance from the leading edge, whereas the growth of the laminar boundary
layer is parabolic only.

=l

(6.30)

If v, is sufficiently increased, any plate surface will change from smooth to rough.
For a rough plate the thickness of the turbulent boundary layer also grows almost
linearly with the distance from the leading edge.

6.3 Free Turbulence

So far we have only considered turbulent flows, where the presence of solid bound-
aries has been of vital importance for the course of the flow in the entire domain.

As a contrast to that kind of flows, we have flows dominated by so-called free
turbulence. This name is used, if the turbulence is due solely to the interaction of
fluids with different velocities, and such flows have substantial shear stresses even
at large distances from the solid boundaries that created the velocity difference.

In Fig. 6.2 the three most common types of free turbulence are depicted. All
three types have in common that the pressure gradients are very small, as pres-
sure gradients are normally due to convection caused by solid boundaries. Fur-
thermore, we only consider the flow domains situated far downstream of the
solid boundaries that initiated the turbulence. Within such domains the flows
have the same character as boundary layer flow, i.e. gradients across the flow
direction are much larger than gradients in the flow direction, and it is also a
good approximation to assume similar velocity profiles.
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P o g

(a) (b) (¢)

Figure 6.2: Three types of free turbulence: (a) mizing layer, (b) submerged jet,
(c¢) wake behind a body

6.3.1 Turbulent two-dimensional, submerged jet

Consider the fluid flow through a slot into a half-space filled with stagnant fluid.
The fluid of the jet is identical to the stagnant fluid. If the volume flux through
the slot exceeds a certain value, the downstream submerged jet becomes turbu-
lent. As the flow is two-dimensional, the jet is named a two-dimensional jet. In

_ ]
LL } el 5(x)

>

Y

/|| W
|

Figure 6.3: Sketch of flow in two-dimensional jet.

Fig. 6.3 it is depicted, how the velocity profiles of the jet are changing in the flow
direction, but notice that it is only a sketch with unprecise dimensions in the
two directions. Where the jet meets the stagnant fluid turbulent mixing layers
are formed, and the thickness of these layers is growing quickly. At a distance
of the same order of magnitude as the width of the slot, the jet is turbulent
over the entire cross-section. After that point the velocity profiles are gradually
approaching a shape similar to a Gaussian density distribution. At distances
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greater than 20-50 times the width of the slot, the velocities are approximately
similar, i.e

Ui = U, f(5) (6.31)

where U,(z1) is the maximum velocity in a velocity profile, and §(z;) is half of
the total width of the jet. In the following only the domain with similar profiles
is considered. Measurements show that the volume flux of the jet is slightly
increasing in the flow direction, and thus surrounding fluid is drawn into the jet.

Some insight can be obtained by applying the general momentum equation
(4.20), to a closed control surface, where the sections a and b are both perpendic-
ular to the zi-axis, see Fig. 6.4. The hight of the control surface perpendicular
to the flow plane is 1, and the width of the control surface is 24,. The ;-
component of the momentum equation is considered, and we also assume that
the volume flux in the slot is constant with time. We note that no momentum in

X, control surface

Figure 6.4: Sketch of control surface.

the x1-direction enters the control surface trough the parts of the surface parallel
to the x;-axis. On the two sections a and b we have pressure forces of equal mag-
nitude, as the pressure is constant in the x;-direction due to the absent pressure
gradient outside the the jet. Finally, we have no shear stresses outside the jet.

After smoothing of the z1-component of the momentum equation, it reads:

—/prdA+/pU12dA:o (6.32)

a b

which, due to symmetry with respect to the xj-axis and because U; = 0 for
x9 > J, at section a, can be written:

Sa b
-2 / pUZ dxy +2 / pUZdry =0 (6.33)
0 0
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From this is concluded that:

s
/ U? dxo = constant (6.34)
0
for all sections perpendicular to the jet. Substitution of equation (6.31) yields:
J T
/ U? fz(f)d.’tz = constant (6.35)
0
or s
/ U? 5f2(g)d(ﬂ) = constant (6.36)
0 1) 1)
With introduction of the substitution:
o
== 6.37
(=2 (6:37)
equation (6.36) reads:
1
Ugé/ f2(¢)d¢ = constant (6.38)
0

as both U, and ¢ only depend on z1. As f(¢) is the same at all sections, it can
be concluded that for all cross-sections of a two-dimensional jet we have:

U2 § = constant (6.39)

The way ¢ depends on x; can be investigated by use of several methods. The
most simple method is dimensional analysis. The dominant forces in the con-
sidered part of the jet are solely inertial forces, as the turbulent shear stresses
are equivalent to inertial forces. In the domain with similar velocity profiles the
width is assumed to depend on 1) the distance from the slot, 2) the density of
fluid and 3) a characteristic velocity, i.e.

§=g(x1,p,U,) (6.40)

As the mass-dimension is present for p only and the time-dimension for U, only,
the only possible, dimensionally correct expression for the width reads:

0=Kiz1 + Ky (641)

where K; and K5 are unknown constants.

By the way, this expression can also be derived under the assumption of similar
shear stresses in the cross-sections, i.e.

To1 = pU?2 f1(%) (6.42)
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Figure 6.5: Two-dimensional jet. The distance from the slot to a velocity profile
is given in the legend. The theoretical curve corresponds to equation (6.46).

and a subsequent substitution of this expression into the flow equations.

Combination of equation (6.39) and equation (6.41) shows that the velocity at
the centre of the jet varies principally as:

Up ~ —— (6.43)

If more detailed information about velocity profile and shear stress distribution is
required, one has to use technical turbulence theory. In a flow along a solid wall,
it was seen that the size of the eddies, and thereby vr, was linearly increasing
with the distance to the wall. In the present jet we have no solid boundaries at
which the turbulent fluctuation are prevented. Consequently, it is often assumed
that vp is constant over the entire cross-section of the jet, and a rational and
dimensionally correct expression reads:

vr ~ U, (6.44)

The size of ¢ is not well defined, as the velocities near the boundary only asymp-

totically go towards zero, which is a problem also faced at the determination of
the thickness of ordinary boundary layers. For jets, the width of the jet is often
estimated by the quantity 6/, , which is defined as the distance from the axis
to the point in the cross-section, where U; = 1/2U,. Measurements have shown
that in general we rewrite equation (6.44) to:

vr = 0.03781 50U, (6.45)
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If this expression is adopted at the solution of the flow equations and the conti-
nuity equation, the result reads:

U1 2 T2
— =1—tanh“(c —— 6.46
- 52 (6.40)

where ¢ is a constant, whose magnitude is unknown, but measurements show
that o ~ 0.88. In Fig. 6.5 the measured velocity profiles at different distances
from the slot and the theoretical expression (6.46) are depicted. The agreement
is seen to be excellent except close to the edges of the jet.
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Chapter 7

Turbulence Models

In most cases it is sufficient to determine the mean flow . However, we cannot
solve the Navier-Stokes equation for the mean flow without a so-called turbulence

model, which is a relation between U; and T;Z—m’b = —pu; u;. In technical turbu-
lence theory the Reynolds stresses are modelled by Boussinesq’s approximation:
oU; 90U,
turb 1 J . .
T2 = pu + for 1 7.1
1= ovr (G, ) # (71)

where the eddy viscosity, vy, is calculated by a suitable turbulence model. Notice
that vy can be interpreted as a diffusion coefficient, so it is preferable only
to apply turbulence models that predict vy > 0 in a domain with turbulent
fluctuations.

The eddy viscosity must depend on both the magnitude of the turbulent fluc-
tuations and the size of the eddies, see e.g. equation (5.35). As k denotes the
smoothed turbulent kinetic energy per unit mass, i.e.

_ 1 — — — 1
k= 5(u% +ud+ul) = 3 Uit (7.2)

Vk can be interpreted as a characteristic velocity fluctuation. In order to follow
the tradition in the literature on the subject, we shall in the following denote
smoothed turbulent kinetic energy by & and smoothed dissipation by €, i.e. we
omit the over bar for these quantities.

As the characteristic size of the eddies we shall use the length scale, ¢4, which
was used at the calculation of the dissipation per unit mass, see equation (5.67).
Instead of ¢4 we could have adopted the mixing length £, but the choice is not
very important, as a relation between {4 and /; exists, see section 7.2.
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MODEL)

A dimensionally correct expression for v reads:

v = gd \/% (73)

This expression predicts increasing values of vy for increasing values of /4 and k,
as it is expected, and the expression fulfills the requirement v > 0 at all points,
where k£ > 0.

In principle, equation (7.3) can be considered as the equation that defines £g4,
because both v and k can be measured in an experiment.

It is seen that if equation (7.3) shall be of any practical value, two extra equations
determining ¢, and k are necessary.

7.1 Mixing Length Model (Algebraic Model or
Zero-Equation Model)

Algebraic (or zero equation) turbulence models are not based on equation (7.3).
Instead the calculation of v is based on the mizing length ¢ like e.g. in the
simple turbulence model set up in chapter 5.3:

oU;

VT:él%

This model is not based on a characteristic velocity fluctuation, and therefore
the mixing length theory erroneously predicts vy = 0, where 0U;/0z; = 0.
Furthermore, it is impossible to calculate the variation ¢, analytically except in
the layer close to a wall. In practice the variation af ¢ is found by substitution
of measured shear stresses and velocity profiles into equation (5.40), and we
hope that the expression obtained has relevance for flows of the same character.
Finally, mixing length theory cannot describe convection and diffusion of the
turbulent kinetic energy, phenomena which are important in many cases.

Despite these shortcomings, mixing length theory has shown good results at least
in flows, where a reasonable estimate for the variation of ¢, exists. Below some
examples of flows are given, where the variation of ¢, can be predicted with
reasonable accuracy.

e Boundary layer on a wall

In most cases the thickness of the viscous sub-layer can be neglected. The
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Figure 7.1: Variation of mizing length in a pipe flow.

simplest and dimensionally correct assumption about ¢, i.e. a variation
proportional to the distance to the wall, is adopted for the quarter part of
the boundary layer closest to the wall. In the rest of the boundary layer
ly, is assumed constant. Thus, the expression for the mixing length reads:

by = Ko for T9 < 0.258
4 = k025§  for 0.256 <x2 <9 (7.5)

where k = 0.41 is the universal Kdrmdn constant and § = (1) is the
local thickness of the boundary layer. The thickness is here defined as
the distance from the wall up to the point in the velocity profile, where
U; =0.99U, and U, is the velocity outside the boundary layer.

Fully developed turbulence in pipes and channels
From experiments it is known that the variation of ¢, can be expressed as:

éb T2 .9 T2 \4
— =0.14 - 0.08(1 — =) — 0.06(1 — — 7.6
“ (-2 0060 - 2) (76)

where R is radius of the pipe or one half of the distance between the two
walls in a channel, and x5 is the distance from the wall. See Fig. 7.1. For
channel flow with a free surface, R is the depth of the channel, and x5 is
the distance from the bottom. Notice that close to a wall, equation (7.6)
correctly predicts £, = 0.41 x5, see Fig. 7.1.

Free turbulence

Experiments have shown that £, can be assumed to be constant within the
turbulent domain and proportional to the thickness of the turbulent layer



7.2. THE K MODEL (ONE-EQUATION MODEL)

type of flow mixing length
148

2-D mixing layer 0.074

2-D wake 0.08 0

2-D jet (into stagnant fluid) 0.04546

3-D jet (into stagnant fluid) 0.038 6

Table 7.1: Expressions for mixing length, free turbulence.

here denoted 6. Some characteristic values for § are given in the table
below. In the first case, J is the distance between the two points, where
Uy, =0.01U, and U; = 0.99U,, respectively, and U, is the velocity of the
driving layer. In the last three flows, § is the distance between the points
where U; = 0.01U, , and U, is the velocity of the flow upstream to the
wake or the velocity at the line of symmetry of the jet.

7.2 The k Model (One-Equation Model)

In order to avoid predictions like v = 0, we need to base the calculation of the
eddy viscosity on vy = £g Vk.

We would also like to calculate flows, where the local level of turbulence depends
on the flow conditions either upstream or downstream.

If it is possible to establish a reasonable assessment of the variation ¢4 (based
on e.g. ), only one extra equation is necessary. The equation that determines
k is named the transport equation for k. This transport equation describes:

1) how much turbulent kinetic energy is produced
2) how much turbulent kinetic energy is transformed into heat (dissipation)
3) how is the turbulent kinetic energy transported by the mean flow (convec-

tion and diffusion)

This transport equation is set up by a multiplication of the three components
of the Navier-Stokes equation, equation (5.20), by the corresponding velocity
fluctuation followed by adding the three equations into one equation. Expressed
by index notation the result reads:

p i dt a ! 833‘, ds 8%‘]' 8a:j

(7.7)
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This equation is then smoothed. First the term on the left-hand side is consid-
ered.

d(Ui + ui) 8(U¢ + uz) 8(Ui + ui)
U —————= = U _
dt ot 8.1Ej
B 8 - oU; U ou; o %
T Uiy TGy, T e, T Y gy,
ok oU; ok ok

= i U s
ot %o, T Y on, T g,

ok an ok O(u; k)

= — 4w u — N,
uzujaxj j&nj 8$]‘

+ ’U/Z'(Uj —|-U,j)

ot

The continuity equation for the fluctuations:

6"&]‘

has been used to rewrite the last term of equation (7.8). The continuity equation
for fluctuations is derived by substitution of the continuity equation for the
mean flow, OU;/0x; = 0, into the continuity equation for the total velocity,
c’)vj/axj = B(Uj + Uj)/a:lij =0.

Smoothing of equation (7.7) and substitution of equation (7.8) yield:

Ok Ok O(u; k) 8U opt 0% (u;)
Pop TPUige TP gy, TP Yoz T " Fag; ba;

1

Equation (7.9) makes it possible to rewrite the first term on the right-hand side
to:

opt 8p+ Ou;  O(u;pt)  O(ujp™)
om0 dx; Oz dz; (7.11)
and equation (7.10) then reads:
8k E)k a(u] k) E)Uz 8(1@ p+) 82(161)
@ RN 2RI 7y et A ; 12
Pt TPUige, TP oy, TPE g, oo, T Ulan e, (1Y

After using the expressmn for the rate of change, equation (1.19), the definition
equation pT = pt —i—p+ and @; - pt = 0, equation (7.12) finally reads:

dk O(ujk)  O(ujpt’) oU; 0%(u;)
Pa = P oa, or, " %oz, VMg, o,

(7.13)
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7.2. THE K MODEL (ONE-EQUATION MODEL)

In order to give a physical interpretation of the individual terms in equation
(7.13), this equation is applied to a turbulent boundary layer on a plate. It is
assumed that the boundary layer is caused by a uniform flow free of turbulence,
and we again use that gradients in the direction perpendicular to the flow are
dominant. After using these assumptions, equation (7.13) is reduced to:

dk O(uz k)  O(uzp™’) o, 0%(u;)
—=— - - — P Sai 8 14
p dt p 6$2 (91?2 purtz 81‘2 + pu 81‘]' 61‘j (7 )
——— N——
I II II1 v

The left-hand side of the equation is the increase of turbulent kinetic energy per
unit volume for a fluid particle.

The terms I and IT can be interpreted as net diffusion of kinetic energy across
the boundary layer. Term I is directly seen to be the net transport of kinetic
energy due to the turbulent fluctuations. It is a bit more difficult to interpret
term II, but it can be considered as the increase of energy due to work done on
the particle by the pressure fluctuations. Both terms are diffusive terms, which
is seen by integrating the terms from the plate up to the top of the boundary
layer. Outside the boundary layer no turbulent fluctuations are present, and
at the plate the velocity fluctuations are zero causing both integrals to be zero.
Consequently, these terms do not create any change of the total kinetic energy
in the boundary layer, i.e. they only redistribute the energy.

As pointed out in section 5.5, the production of kinetic energy is described by
term III.

Consequently, term IV has to be a sink of turbulent kinetic energy, i.e. it must
describe the dissipation.

A similar equation can be derived for a uniform pipe flow, and the corresponding
variations of the terms (I4+II), IIT and IV are shown in Fig. 5.15. Term II is
shown as a broken line.

Equation (7.14) is of no immediate use, as prescriptions of how to calculate the
fluctuations are missing. Instead we make the following assumptions:

e Diffusive terms (I and II)
These terms are lumped together into one term, and it is assumed that
the diffusion coefficient can be approximated by the diffusion coefficient
for momentum, i.e. by vy, as the diffusion of energy and momentum are
caused by the same turbulent fluctuations. Thus, the flux of turbulent
energy is expressed in the same way as the flux of momentum, i.e.
ok

7pﬂf’[1,2p+/ :pVTaimz (715)

151



CHAPTER 7. TURBULENCE MODELS

e Production term (IIT)

ULy OUL o, aUg) o, (716)

TPz 8$2 ks 81132 - prr (6:1,‘2 + 8(1?1 8272

e Dissipation term (IV)
The term describes the dissipation per unit volume. This dissipation is
equal to the dissipation per unit mass, equation (5.67), multiplied by p,
ie.
0?(u;) k2
u; =—pA— 7.17
Ui ae — P AT, (7.17)

In the following example it is shown that A =~ 0.09.

Substitution of these expressions into equation (7.14) gives:

dk a(f)l/T gfk) 8U1 8U2 8U1 k%
— = Tt ) e —pA— 1
Pt 0z T (axz 6m1> Fr ey (7.18)
Finally
vr = LgVk (7.19)

is substituted into equation (7.18), giving the transport equation for k in a bound-
ary layer:

3
2

AplyVk 2&
dk  9(pla 6m2)+p€d \/E<6U1 6U2> ouy K (7.20)

P =" om 0y 0y ) By POU,

It is seen that knowledge of the length scale for the turbulent eddies, ¢4, is nec-
essary in order to determine k. In a one-equation turbulence model an equation
for the determination of ¢; is missing, and one has to rely on the best possible
guess of the variation of £; at the solution of the flow problem. Exactly as we
had to do with the mixing length model.

The only improvement obtained by solving an extra equation seems to be that
a k-model does not predict vy = 0.

In the next example it is shown that a relation between £, and ¢4 exists for wall
turbulence, and that we can determine the value of the constant A by looking
at wall turbulence.

Example: The k-equation in the equilibrium layer

In section 5.5 it was shown that for a turbulent pipe- or channel flow,
we have almost equilibrium between production and dissipation of
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7.2. THE K MODEL (ONE-EQUATION MODEL)

turbulent kinetic energy within a layer extending from the wall up to
approximately 15 % of the radius or depth, see Fig. 5.15. Naturally,
this layer is named the equilibrium layer.

In Fig 7.2 the measured distribution of k/U% over the cross-section
of a pipe is shown. Uy is the friction velocity i.e. Ur = (7,/p)°5,
and 7, is the shear stress at the wall. In the figure also the linear
distribution of the shear stress is shown.

ii2 pipe axis

. I N
y
R
U, T
o i equilibrium layer
X, T, o 1 2 3
velocity profile of shear turbulent
mean flow stress energy

Figure 7.2: Variation of T and k in turbulent pipe flow.

Within the equilibrium layer it is assumed that production is equal
to dissipation:

Uy ., k2
— ) =pA— 7.21
por (527 =p AT (r.21)
Multiplication by v on both sides and substitution of 7/p = v (0U; /0x2)
gives:
(=) =vp A~ = Ak? (7.22)
p

where the right-hand side has been rewritten by use of vp = £4Vk .
The expression for shear stress therefore reads:

T =pVAEk (7.23)

From Fig. 7.2 it is seen that k is varying approximately linearly
except close to the axis of the pipe. The linear variation of k& can be
expressed as:

R
ke~ % .3.3U2 & p U2 ~ L 080 (7.24)
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where y is the distance from the pipe axis, and R is the radius of the
pipe. The linear variation of the shear stress can be expressed as:

Y

Y
T = To = E . p U% (7.25)

i
and by combining equation (7.24) and equation (7.25), we find:
T~03pk (7.26)

This expression is valid, where k is varying approximately linearly,
i.e. it is also valid in the equilibrium layer.

Comparison of equation (7.23) and equation (7.26) gives:

VA=~03

or

A~ 0.09 (7.27)

Notice that the expression for dissipation, equation (5.67), is valid
in general for a fully developed turbulent flow. The value of A is
therefore also valid outside the equilibrium layer.

Within the equilibrium layer it is possible to find a relation between
fy and 4.

Consider the two expressions:

T 2 3U1 2
- - 2
LG50 (7.28)
and
T _ .90
P g 0z
oU,
= LgVk— 7.29
aVk 02y (7.29)
The latter is rewritten to:
Ty o T ,0U1, T o 1 00U,
-) = — & =l —= (= 7.30
Comparison of equation (7.28) and equation (7.30) yields:
2= ! (7.31)

‘VA

Substitution of A ~ 0.09 means that in the equilibrium layer we have:

by = AY4 0y ~ 0554, (7.32)




7.8. TWO-EQUATION MODELS
7.3 Two-Equation Models

One of the drawbacks of the k-model is the lacking knowledge of ¢4 in the gen-
eral flow situation. In many cases a k-model will not predict better results
than those obtainable with a mixing-length model, even though the solution of
the k-transport equation in the entire domain increases the computational work
considerably.

It is therefore natural to set up a transport equation for ¢4 also, and thus elim-
inate any guesses or prior knowledge of ¢; . If £; and k can be calculated by
transport equations, we can find the eddy viscosity by use of:

vr =L Vk (7.33)

A turbulence model including a second transport equation is named a two-
equation model. In the course of time many different versions of a second
transport equation have been proposed. The most frequently applied turbu-
lence models do not have a transport equation specifically for ¢;, as we shall se
in the following.

7.3.1 The k-¢ Model

Instead of a transport equation for ¢4, the k-e model uses a transport equation

for the dissipation i.e. for:
3

€= AkZ (7.34)
Ly

where A = 0.09 is valid everywhere as mentioned above.

If £ and € are calculated by use of transport equations, we can subsequently
calculate ¢; by equation (7.34) and vp by equation (7.33). In principle, the
transport equation for € and k are set up in the same way. Without going into
details, after smoothing the e-transport equation contains some terms depend-
ing on turbulent fluctuations, and these terms are rewritten in the same way as
the 'fluctuation terms’ were rewritten in the k-equation. The rewriting causes
introduction of some extra coefficients like the coefficient A. All of these coef-
ficients are named closure coefficients. The resulting transport equation for a
fully turbulent flow is given below.

As shown in e.g. Wilcox (1994), Rodi (1984) or Versteeg (1995), adoption of
the k-e model means that the calculations of the mean flow are based on these
equations:
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Continuity equation:

=0 (7.35)

Navier-Stokes’ equation:

= (7.36)

Shear stress:

ou; 0U;
turb ? J
turb 7.
Tii pvr <31‘] + 8:1,‘1) ( 37)
Eddy viscosity:
vp = bV (7.38)
Dissipation:
k3/2
e=A—- (7.39)
Ly
k-equation:
dk 3 vr 8k7 turb an
o7 (T2 turb — 1 Al
Pt paxj <ak 8xj> i ox;j pe (7.40)
e-equation:
de 0 vr O¢ € 4urp OU; €?
>*_,7 (220 — qlur — — 41
Pt paxj (06 8xj>+clkTﬂ Ox; C2pk‘ (7.41)

The coefficients o and o, are introduced in order to have a possibility to com-
pensate for the errors introduced by the assuming that the diffusion coefficients
for momentum, turbulent energy and dissipation are equal.

After substitution of T;Z?”b into the Navier-Stokes equation, the k-equation and
the e-equation, knowledge of the closure coefficients A, oy, 0., C; and Cs means

that we have 8 equations with these 8 unknowns:
[]17 UQ, U3, }F, vr, éd, k og €

i.e. with proper boundary conditions we are able to solve the system of equations
and determine the mean flow.

Often applied values of the closure coefficients are:
A=0.090,=10,0.=1.3,C; =144 and Cy = 1.92

as these values have resulted in accurate prediction of many flows. However,
notice for special flow problems that it can be necessary to adjust the values for
some of the coefficients. In the literature it is often claimed that the k-e model
might give inaccurate results for flow with adverse pressure gradients, i.e. if the
flow takes place in the direction of increasing pressure.
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7.3.2 The k-w Model

In order to improve the predictions for flow with adverse pressure gradients, the
literature often recommends application of the k—w model, which is a turbulence
model, where the second transport equation is set up for the so-called specific
dissipation rate, w, defined as:

w=—-— (7.42)

Thus, no transport equation is set up for ¢, directly, but knowledge of w makes
it possible to calculate £4 by the expression:

by = — 7.43
4= (7.43)
This expression is derived by substitution of :
X
e= A (7.44)
Ly

into equation (7.42), which gives:

e _Aki/ta _Vk

_ € _VF 4
YT Ak Ak 0 (7.45)
or
k
by = £ (7.46)
w
If this expression for £, is substituted into vy = £4 VEk , the result reads:
k
= 7.47
vr =~ (7.47)

which is the equation for the eddy viscosity in the k-w model. The setup of the
transport equation for w is rather spectacular, see e.q. Wilcox (1994). The most
simple version of the transport equation for w (for fully turbulent flow) is given
below.

As shown in Wilcox (1994) adoption of the k-w model means that the calculations
of the mean flow are based on these equations:

Continuity equation:
oU;
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Navier-Stokes equation:

dU; B 0 F 0 T;Z;er

= —_— 4
p dt 81‘1' 8arj (7 9)
Shear stress: o oU
T;iurb =pvr <8:1:l + (9$j> (7.50)
J 3
Eddy viscosity:
k
vr = — (751)
w
Dissipation:
k3/2
e=A— (7.52)
Lq
k-equation:
dk 0 vr 0k turb 8U1
it S i furb Z 70 7.53
pdt paxj (Ukcr)xj>+T“ 0, pe ( )
w-equation:
dw 0 ow W pury OUs 2
*w_ g dhadt = pturb Z 7t 7.54
Pa =P ag; (””Tax)”‘k”z oz, PP (7.54)
turb

After substitution of 7/*"® into the Navier-Stokes equation, the k-equation and
the w-equation, knowledge of the closure coefficients A, oy, o, a and 3 means
that we have 8 equations with these 8 unknowns:

U17 U27 U3a F? vr, k7 w and €

i.e. with proper boundary conditions, we are able to solve the system of equations
and determine the mean flow.

Often applied values of the closure coefficients are:
A =0.09, 0, =1.0, 0 = 0.5, « = 0.56 and 5 = 0.025

as these values have resulted in accurate prediction of many flows. However,
notice for special flow problems that it can be necessary to adjust the values for
some of the coefficients, see e.g Wilcox (2006), where a modified version of the
transport equation for w is presented. For flows with adverse pressure gradients,
i.e. if the flow takes place in the direction of increasing pressure and separation
is likely to occur, application of the k-w model is normally recommended.
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Chapter 8

Transport Equation for
Dissolved Substance

In a flow the transport of a dissolved substance is caused by two transport
mechanisms named diffusion and convection.

The flux through a section due to diffusion reads:

Fp=—Dgradc (8.1)
or
dc
Fp)i=-D 2
(Fo)i =D 2= 52)

where c is the concentration of the dissolved substance (kg/m?), grad c is the
gradient of ¢, |Fp| is the flux of substance (kg/s/m?) through a surface perpen-
dicular to grad ¢ and D is the diffusivity (often named the diffusion coefficient)
(m?/s). As mentioned in section 2.4.1, diffusion has to be introduced, because
we not intend to describe the motions of the individual molecules. Normally D
is of the same order of magnitude as the kinematic viscosity v of the fluid.

Consider a fixed, closed surface A of arbitrary shape, bounding the volume X,
see Fig. 8.1. The inflow of substance through dA is the sum of convection and
diffusion, i.e.

dc
0 T,
where dA; is the outward area vector. The increase of substance within the
volume X has to be the net inflow of substance through A plus the substance

FdA = —cv;dA; — (Fp)idA; = (—cv; + D

) dA;
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v Yi
X
3 Q’b‘
X
X1

Figure 8.1: Definition sketch, inflow of substance.

added to X from any internal sources. Expressed mathematically this reads:

@dX:/(—cviJrD 8C)dAZ-+/ SedX (8.3)
Xat A 8 7 X

where S, is the source strength (kg/m3/s). If the surface integral is rewritten
by use of Gauss’ divergence theorem:

/lidAi: Ol 1x
A Xaﬂ%

equation (8.3) reads:

dc O(cv;) O dc
i — D — X = 4

Equation (8.4) is, however, only fulfilled for an arbitrary volume if:

dc  O(cv;)) 0 dc

a+ oz, fami(Dawi)—Sczo (8.5)

or

@+Cavi+v‘£* 0 (D dc
ot 81'1' l@xiiaxi 8331

For an incompressible fluid, 0 v; /0 z; = 0, equation (8.6) is reduced to:

dc ' Oc 0 dc

)+ Se (8.6)

)+ Se (8.7)

If we finally use the expression for the rate of change, equation (1.19), we can
write equation (8.7) as:

de 0 ( dc
dt_c‘)mi E)xl

)+ Se (8.8)

This equation is named the transport equation for substance.
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8.1. TURBULENT FLOW
8.1 Turbulent Flow

In a turbulent flow the instantaneous value of concentration reads:
c=c+c (8.9)
where ¢ is the smoothed concentration and ¢’ is the fluctuation, i.e. ¢/ = 0.

Substitution of equation (8.9) into equation (8.5) and a subsequent smoothing
give:

dc  O(cvy) 0 oc
E+ 0x; _8wi(D8xZ—

The second term on the left-hand side is rewritten as follows:

)+ Se (8.10)

O+c)(Ui+u)  0(@U+ U +cu; + w)
8$i n 61’1'
. 0 (6 U, + ui)
. 8(EUi)+8c’ui
o 85171 8%1
o¢c 0cdu;
= U 8.11
where the continuity equation for the mean flow:
oU;
=0 8.12
92, (8.12)

has been used. Substitution of equation (8.11) into equation (8.10) gives:

e _ . 8E+8Tm_ 9 ( oc
ot Zaill‘i 8331 7833}‘ 8$l

)+ Se (8.13)

which after use of the expression for the rate of change, equation (1.19), reads:

@_ﬁ_@c’iui_ 0 (D oc
dt dx; Oz 0x;

)+ S (8.14)

The term ¢’ u; can be interpreted as a convective transport of substance through
a surface, but equation (8.13) is of no use in practice unless a relation between
the mean flow and the term ¢’ u; can be established.

Consider the area A of a section parallel to the wall in a uniform mean flow
along the flat wall, see Fig. 8.2. The smoothed value of the convective flux of
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Xy X2
Q <4 0C b
section } foof oty ¢
> X4 L —» ¢

Figure 8.2: Definition sketch, convective transport caused by fluctuations.

substance through the section can be expressed as F' = c'uy. However, if the
way of thinking from the mixing length theory is applied, another expression
describing the same convective transport can be set up.

The fluid crossing the section in the upward direction is on average coming from
a domain positioned 0.5 ¢, under the section. Here ¢, is the mixing length. The
concentration of this fluid is denoted ¢, and it can be expressed as:
oe oc —4
Cu=t+— Axg=cC+ — —
v 0 xI9 2 + 0 X2 2
The average concentration of the water crossing the section in the downward
direction, denoted ¢g, is similarly expressed as:
ac ac b
d 6 To 2 (9 o 2
Based on continuity the upward discharge (volume flux) has to be equal to the
downward discharge, and the magnitude of these is denoted ). The average
transport of substance (positive in the direction of the z3-axis) caused by this
swapping of volume reads:

FA = Qec,—Qtcqg

. _ oc —4, _ oc /4
= Oty o) 0l D)
Jdc Jdc
= t@-Q -Qly —=-Qly - (8.15)

Thus the smoothed flux of transported substance reads:

7o Qb dc
Fe=—p o (8.16)

We can interpret F as the result of a diffusion process, because equation (8.16)
can also be written as: P
c

F=-Dr 2%
T@xg

(8.17)
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where the turbulent diffusion coefficient, D7 , reads:
_Qu
A

As both @Q and ¢, vary as the distance from the wall changes, it is seen that also
the turbulent diffusion coefficient will vary over the flow field.

Dy (8.18)

As ’ uy = F (both describe the convective transport caused by the fluctuations),
we have: P
c

cuy=—Dp — 8.19

2= —Dr oo (5.19)

and in this way a relation between fluctuations and the mean flow has been set

up. As turbulence normally causes a very strong dispersion, we have Dp > D

in most cases.

In section 5.3 it was shown that turbulent shear stress is caused by exchange of
momentum, and can be expressed as:
d(plh)
turb
T. =vp ——= 8.20

21 T O 2o ( )
However, this expression also shows that turbulent shear stress can be interpreted
as diffusion of momentum with diffusion coefficient vp. As the exchange of both
momentum and substance is caused by the same eddies, it is often assumed
that the two processes have approximately equal diffusion coefficients. If the
non-dimensional Schmidt number is defined as:

1%
oo = D—Z (8.21)

it is therefore expected that we have o, =~ 1. An often applied value is o, = 0.9.
With this assumption we can find Dr from equation (8.21), when the eddy
viscosity v has been calculated by a suitable turbulence model.

The one-dimensional equation (8.19) can be generalized to:
oc
3 xT;

c U; = —DT (8.22)

and after substitution into equation (8.14), we have the transport equation for
substance in a turbulent flow:

dEi 0 vy, O¢C
il v ((D+ U—C) a@) + 5. (8.23)
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Chapter 9

Transport Equation for
Thermal Energy

The sum of kinetic and potential energy for a fluid particle is often called the
mechanical energy. Besides this energy a fluid particle also has the so-called
internal energy e, which for an incompressible fluid simply is thermal energy
(Nm/m? or J/m?®). The increase in thermal energy for an incompressible fluid
is found by de = pcdT, where c is the specific heat (J/kg/K) and T is the tem-
perature (degree Kelvin, K). The flows considered in civil engineering normally
have so small flow velocities that even air can be considered incompressible, and
only rather small pressure variations are present. It is therefore a good approx-
imation to estimate the increase in thermal energy by de = pc, dT’, where ¢, is
the specific heat at constant pressure.

The concept of thermal energy has to be introduced, because we want describe
the fluid as a continuum instead of a set of molecules. The thermal energy is thus
the kinetic energy corresponding to velocities that cancel out, when the average
velocity of the fluid particle is calculated.

In the following it is assumed that thermal energy can only propagate by conduc-
tion (exchange of energy on molecular level) and by convection, but in practical
heat transfer problems also propagation by radiation is important.

Thermal energy propagating by conduction is described by Fourier’s law:
d=—AgradT (9.1)

or
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orT
8.73i

¢ =—A (9:2)

where |g;| is the thermal flux (J/s/m?) through a surface perpendicular to the
temperatur gradient, X is the thermal conductivity (J/m/grad/s) and T is the
temperature.

As equation (9.2) can be rewritten to:

A 0(peT)

e oe (9.3)

q; =

i.e. the thermal flux is proportional to the gradient of the thermal energy, it is
natural that the quantity:

D;=-" 9.4
o (0.4)

is named the thermal diffusivity (m?/s), or thermal diffusion coefficient. Notice
that often a is used to denote the thermal diffusivity.

The non-dimensional ratio between the kinematic viscosity and the thermal dif-
fusivity is denoted Pr and is named Prandtl’s number:

Pr=— (95)

Thus Prandtl’s number is a constant for a given substance. Prandtl’s number is
for water Pr ~ 7 and for air Pr ~ 0.7.

X3 &
X2
X1

Figure 9.1: Definition sketch, inflow of thermal energy.

Consider a fixed, closed surface A of arbitrary shape, bounding the volume X,
see Fig. 9.1. The inflow of thermal energy through dA is the sum of convection
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and conduction, i.e.

oT
8:13i

FdA=—c,Tpv;dA;, —qidA; = (—c, T pv; + A )dA;

where dA; is the outward area vector. The increase of thermal energy within
the volume X has to be the net inflow of thermal energy through A plus the
thermal energy added to X from internal heat sources as e.q. the dissipation e.
Expressed mathematically, this reads:

oT oT
/ —cpde:/(—cprvi—l—)\—)dAi—&—/ epdX (9.6)
If the surface integral is rewritten by use of Gauss’ divergence theorem:

/lidA,»: Ol 1x
A Xaﬂﬁi

equation (9.6) can be written as:

oT o(wv;T) 0 orT B
/X[cppat—l—cpp o2, _3mi()\8mi)_6p dX =0 (9.7)

Equation (9.7) is, however, only fulfilled for an arbitrary volume if :

orT o(w;T) 0 oT
cppWJrcpp or; 81"(>\8.’L"

)—ep=0 (9.8)

or

N <8T+8(viT)> 0 0T ., 09)

For an incompressible fluid, where 0 v; /0 z; = 0, this expression can be rewritten

to:
oT oT 0 oT
- i — | = A 9.10
C””(at” axi> oz Moz TP (9.10)
If the expression for the rate of change, equation (1.19), is used, we can write

equation (9.10) as:

dr _ o, 0T
s dt _8$Z 8901

)+ep (9.11)

This equation is named the transport equation for thermal energy or simply the
enerqy equation.
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9.1. TURBULENT FLOW

9.1 Turbulent Flow

In a turbulent flow we have: B
T=T+T (9.12)

where T is the smoothed concentration and 7" is the fluctuation, i.e. T/ = 0.
After substitution of (9.12) into equation (9.9), a subsequent smoothing gives:

<8T 8(Ui+ui)(T+T’)> 8 0T
Cpp +

The second term on the left-hand side is rewritten as follows:

OUi+w)T+T)  OUT+UT +wT+u;T)
81‘1‘ o (9.’13,‘
_ 8 (Uz T + u; T’)
- 6.’1)1‘
8 (Uz T) 8’(1,1' T’
.14
and substitution into to (9.13) gives:
hdiall = 1
Cpp(@t + 8.%1‘ + 8:!72 8m2()\8x2)+6p (9 5)
If the continuity equation of the mean flow is used
oU;
Zr 1
oz, 0 (9.16)
equation (9.15) can be rewritten to:
oT oT ou; T’ 0 oT
il 2 = € 1

If the expression for the rate of change, equation (1.19), is used, equation (9.17)
reads:

dl' Ou; T 0 oT
Cpp < Y ) )+ep (9.18)

+ = A
The term pcpu; 1" = u; pcpy T' can be interpreted as a convective transport of
thermal energy through a surface, but equation (9.18) is of no use in practice,
unless a relations between the mean flow and the terms wu; 7’ and € can be
established. The expression for the smoothed dispersion reads:

({9’07; + 8vj 61;1-
8.Tj 81‘1‘ 8a:j

(9.19)

e= v
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CHAPTER 9. TRANSPORT EQUATION FOR THERMAL ENERGY

but as the non-linear fluctuation terms have the same character as the Reynolds
stresses, we must either use the expression for € , equation (5.67):

k3/2
A
Lq
where A ~ 0.09 and ¢, is the length scale for the eddies, or calculate the dissi-
pation directly, as it is done by a k-e¢ turbulence model. If a k-w model is used,

we know that ¢4 = k/w. If a k-model is applied, assessed values for £, have to
be used.

(9.20)

The term pcpu; 1" = u; pcy I’ can be interpreted as the transport of thermal
energy due to the fluctuations, and we describe it as a diffusion process, i.e
as a product of a diffusion coefficient and a gradient of the ’concentration’ of
the thermal energy pc,T. We did exactly the same, when the transport of a
substance from fluctuations had to be described. This gives:

0pc, T
313

where Djp is named the turbulent thermal diffusivity (diffusion coefficient)
(m?/s). As the exchange of both momentum and thermal energy is caused by the
same eddies, it is often assumed that the two diffusion processes have approxi-
mately the same diffusion coefficient. If the non-dimensional number named the
turbulent Prandtl number is defined as:

upcp T’ =—Dyr (9.21)

vy
Djr

oh (9.22)

the value o}, =~ 1 is expected. Notice that the turbulent Prandtl number is
sometimes also denoted Prp. For fluids having a Prandtl number Pr =v/D; >
0.7, experiments show that o, (= Prp) = 0.9 — 1.0 is a good estimate except for
free turbulence (jets, wakes and mixing layers). In the latter cases o, = 0.7 is a
better estimate.

Substitution of equation (9.21) and equation (9.22) into equation (9.18) gives:

dT_ 0 pCp VT oT B
P 3 " Ba <()\+ah)8xi>+€p (9.23)

The equation is named the transport equation for thermal energy in turbulent
flow. Division by ¢, p gives:

dT 0 ( A vr 8T> €
= +

— = —+ — — 9.24
dt 0xz; \ cpp oh)axi +cp ( )
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9.1. TURBULENT FLOW

Substitution of the expression for the thermal diffusion coefficient, equation (9.4),
gives finally:

dT_ 0 vr oT €
i oz, <(DJ—|—) ) + — (9.25)

It is seen that the equation has the same structure as the transport equation for
a substance in turbulent flow, i.e. the rate of change is equal to a gradient of the
diffusion plus a source term. This is not surprising, as ¢, p1" can be interpreted
as the ’concentration’ of thermal energy.
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Chapter 10

Non-Homogeneous Fluids

Sometimes the density of a fluid is varying within the flow field. These variations
may be caused by e.g. variations in the concentration of dissolved matter or
variations of the temperature of the fluid. Variations in density create buoyancy
forces, which sometimes affect the course of the flow considerably. Typically
buoyancy force has to be taken into account for cases like e.g. flow in a heated
room, flows caused by fire, smoke plumes from chimneys and the outlet of waste
water into a recipient.

Below it is described how flows of fluid with a continuous variation of the density
can be treated.

10.1 Boussinesq’s approximation

The flow of a mildly non-homogenous fluid can by analyzed properly by adopting
an approximation proposed first by Boussinesq.

It is assumed that density gradients are so small that the local equation of
continuity can be written (as usual):

611,»

This implies that the Navier-Stokes equation can be written (also as usual):

d'Ui - 8p 0 8vi ij
p dt o 8:1:1- +pgl+ 833‘j (’u <8.’17] + 8331)) (102)
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10.1. BOUSSINESQ’S APPROXIMATION

but p is now a variable quantity. The equation expresses that the inertial forces
are balanced by pressure forces, gravity forces and viscous forces.

Solution of the Navier-Stokes equation coupled with a transport equation for
dissolved substance and the energy equation for thermal energy, yields the actual
variation of the density, as

p=p(cT) (10.3)

is assumed to be a known relation.

In some cases, most frequently with flows of air, it is sufficient to assume

p=p(T) (10.4)

and in such cases the Navier-Stokes equation is often rewritten as shown below.
The purpose of the rewriting is primarily a simplification of the computations
during the solution of the equations.

The gradients of p are assumed to be small, which means that the effect from
density variations on inertial and viscous forces can be neglected. The density in
the expression for the inertial force is therefore replaced by a reference density
denoted p,, and the viscosity u = pv is replaced by p, v.

On the other hand, to replace p in the gravity term by p, is not allowed. For
example, a local heating of a resting fluid leads to unequal sizes of the buoyancy
and gravity force on the heated particle, and this net force creates a motion of
the fluid.

In order to obtain a unique definition of the dynamic pressure pt, ie. the
difference between the actual pressure and hydrostatic pressure, it is necessary
to calculate the hydrostatic pressure on the basis of the reference density. The
definition equation for p* reads:

p=p" —pogz (10.5)
where z is a vertical coordinate, positive upwards. This implies that 9 z/0 z; is
a vertical, upward unit vector giving g9 z/0x; = —g;. From equation (10.5) is
seen that 5 -

p p

= — ; 10.6

Substitution of this expression into equation (10.2) and the actual density for
the inertial and viscous forces replaced by the reference density gives:

dv;  Op* 0 dv;  Ov;
Podt = o +(p_p°>g’+a:cj<p°”(axj+axi>> (10.7)

The deviation of the actual density from the reference density is denoted Ap, i.e.
Ap=p—po (10.8)
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CHAPTER 10. NON-HOMOGENEOUS FLUIDS

Heating of a mass m with volume X increases the volume, and the expression
for the increment reads:
AX =X AT (10.9)

where £ is the spatial coefficient of thermal expansion and AT is the increment of
the temperature. For an ideal gas (as e.g. air) the coefficient is 8 = 1/Tkeivin =
1/293 = 3.4- 1073 deg~!. The coefficient is varying from fluid to fluid and e.g.
B~5.0-107° deg™! for water.

The corresponding change of the density is calculated based on the principle of
conservation of mass:

Am=A(pX)=XAp+pAX =0 (10.10)
giving
Ap=—p——=—pBAT (10.11)

after substitution of equation (10.9). If T, corresponds to p,, the deviation in
density is:
P = Po = _pﬂ(T_To) ~ _poﬂ(T_To) (1012)

which substituted into the Navier-Stokes equation gives:

dvi o 6p+ 0 6’Ui a’Uj
po% - _a.’)Zi _poﬁ(T_To)gz""aixj (po’/ (8% + 8:131)) (1013)

Application of this equation makes a separate calculation of p unnecessary. Equa-
tion (10.13) is valid for snapshots of turbulent flow. The equation valid for the
mean flow is obtained after smoothing, which gives:

dU; opt —
—_— = — — T-T,) ¢g;
dt O, po B ( o) 9i

0 oU;, oU;
+87:cj <pol/ (axj + 8@) pouzuj> (10.14)

In technical turbulence theory the Reynolds’ stresses —p, u; u; are modelled as

Po

oU; 0U; o
—Po U U; = VT (axj + 3wj> for i#j (10.15)

where v is calculated by a suitable turbulence model.

All in all we have:

av;  op* - L0 oU; | 0U;
P at = o _pOﬁ(T_TO)gH_axj (po(V+VT) ((%cj * (9%))

(10.16)
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10.1. BOUSSINESQ’S APPROXIMATION

Notice that we cannot expect the usual expressions for vy to be valid for flows
having very large density gradients corresponding to a stratification of the fluid.

In order to decide whether variations in density shall be taken into account or
not, we need a parameter related to the differences in density.

Consider a boundary layer flow solely driven by differences in density like the
flow along a heated, vertical wall, where the velocity outside the boundary layer
is zero, v, = 0. The constant density outside the boundary layer is denoted p,
and the density at the heated wall is denoted p,,.

The forces acting on a fluid particle within the boundary layer are the vertical
pressure force (buoyancy) and the gravity force.

According to the gradient-theorem derived in Appendix A, the pressure force
reads: O = |—gradp|- X, where X is the volume of the particle. As usual the
pressure gradient within the boundary layer is equal to the gradient outside the
layer, and outside the layer the fluid is at rest giving |—gradp| = pog . Thus
the buoyancy reads: O = |—gradp| - X = p, g X.

Due to the variation of the density across the boundary layer, the gravity force
depends on the position of the particle. A typical value of the gravity force is
found by using the average value of the density i.e. p = 1/2(po + pw), and in
this case the total vertical force on the particle reads:

Po + puw 1
= Xg=5(po— pu)g X (10.17)

F=0-G=p,9gX — 5 5

Introduction of the notation:
Ap = Pw — Po (1018)

means that the total force can be expressed as:
1
F= 3 |Aplg X (10.19)

Being at rest at the time ¢ = 0, a particle will start to move upwards due to
the force F. Having moved the distance L, the velocity of the particle V' can
be calculated by the classical energy theorem for a particle stating that the
increment of kinetic energy is equal to the work done by the external forces. If
we approximate the external forces by F' (i.e. friction forces are ignored) we
have:

1 1
5|Ap|gXL~ 5pXV2 (10.20)
or .
A 2
V= (g L|pp|> (10.21)
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This velocity can by adopted in the following definition of a Reynolds number:

IR
Rep=——=~ 2/ (10.22)
v v
However, in most literature is applied a parameter, which is the Reynolds number
raised to the power 2, i.e. defined as:

L3 |A
Gr = (Rep)? = gyz|pp| (10.23)

and the parameter Gr is named Grashof’s number.

If the differences in density are caused by temperature, Grashof’s number can
be expressed as:

L3 B|AT
Gr = % (10.24)
v
after substitution of equation (10.11)
Ap = —pBAT (10.25)

In situations where the boundary flow is driven by differences in density and by a
flow outside the boundary layer at the velocity v,, the influence of the differences
in density on the course of the flow can be assessed by a comparison of Grashof’s
number and the usual Reynolds number squared, i.e. Re? = (v, L/v)?.

In this context one has to distinguish between these two completely different
types of flow in the boundary layer:

1) forced convection, where the flow in the boundary layer is mainly driven
by the flow outside the boundary layer, i.e. differences in density are
unimportant. This corresponds to Gr < Re?.

2) free convection, where the flow in the boundary layer is driven mainly by
differences in density caused be e.g. differences in temperature or concen-
tration. This corresponds to Gr > Re?.

For air having 8 = 3.4-1073, differences in temperature give this ratio between
Grashof’s number and the squared Reynolds number:

Re? 2 2

] o

(Gr> _gLB|AT| 9.81-L-3.4-1073-|AT| 0.03L|AT)|
air v,

2
vz v
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Chapter 11

Transfer of Heat

In many cases the total transfer of heat between a body and the flow past the
body is the main issue, and the details of the heat transport are only of minor
importance.

The transfer of heat, denoted ¢, between the body and the flow is determined by
Fourier’s law applied at a point in the flow just outside the surface of the body.

Thus

oT
q(z1) = =\ A (11.1)

where A is the thermal conductivity, T is the temperature. The unit for ¢ is
J/m? /sec.

11.1 Forced Convection in Boundary Layers

An exact solution (due to Blasius, see section 4.1.1) exists to the equations of
motion for a laminar boundary layer.

No exact solutions exist for turbulent boundary layers, but use of the momen-
tum equation for boundary layers with an assessed velocity profile can provide
approximate solutions, where the accuracy of the calculated thickness of the
boundary layer is approximately 5-10%.

If variation of the density is neglected, the Navier-Stokes equation reads:

e ) o
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11.1. FORCED CONVECTION IN BOUNDARY LAYERS

If this version of the Navier-Stokes equation is compared to the transport equa-
tion for thermal energy c, pT', which reads:
d(cp pT) 9 A 9 (cppT)

- = (——— 11.
dt 8xj(cpp 0 ) ep (113)

it is seen that the Navier-Stokes equation may be interpreted as a transport
equation for momentum B; = pv;.

Thus, it makes sense to believe that the approximate methods for the calculation
of flow in boundary layers can be used to calculate the heat/substance transport
in boundary layers.

11.1.1 Boundary Layers on a Plate at Zero Pressure Gra-
dient

Application of the usual boundary layer approximation:

0 0
e < s and vy < vy (11.4)

gives that the equation for momentum (B; = pv;) in a two-dimensional, steady
flow without a pressure gradient reads:
v ov 9%,

— — = 11.
U18x1 UZ@a:g V&r% (11.5)

with corresponding boundary conditions:

1)

vy=0 and v9 =0 for x9=0

2)
ﬂ—>1 for 29—
Vo

Based on an assumption of similar profiles, equation (11.5) and the continuity
can be solved numerically giving:

U1 T2 V2 T2
— =g | —— and — =g | — (11.6)
Vo vy Vo vy

Vo Vo

where the functions g;() and g2() are known functions, first derived by Blasius
(1908). The function g1() is seen in Fig. 4.2.
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If the boundary layer approximation is used for the transport equation for ther-
mal energy in a two-dimensional, steady flow gives:

2
oT 8T>_ o°T a1

P (vlﬁxl +U28:L’2 - T 0

The dissipation € is unimportant for flows with small velocity gradients or large
differences in temperature between the outer flow and the wall. Therefore the
dissipation term is often neglected for small values («1) of the Eckart number,
E., defined as

02

- 11.8
cp (Tw — To) (11.8)
where v, is the velocity outside the velocity boundary layer, T, is the temperature
outside the thermal boundary layer, and T, is the temperature of the wall.

E. =

Neglecting dissipation makes it possible to rewrite the transport equation for
thermal energy to:

oT oT A 0T 02T
=~ —_ _D,—— 11.9
vl@an +U281‘2 Cpp o2 J@x% ( )
where D is the thermal diffusivity defined as:
A
Dy=— (11.10)
PCp
If a non-dimensional temperature, 6, is defined as:
T-T,
=_—-" 11.11
the transport equation for thermal energy reads:
00 00 020
— — = — 11.12
ow T "0 923 (11.12)
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477""""""'"7 """"""""""
ot
2,, ,,,,,,,,,,,,,,,,, : ,,,,,,,,,,,,,,,,,
1 e B T-T,
0 1 1 i i TomTw
0 02 04 06 08 1 12 vq
v,

Figure 11.1: Profiles of velocity and temperature in air, Pr = 0.7, 9p* /0 x1 = 0.

with boundary conditions:
1)

2)

The boundary layer equations for momentum and transport of thermal energy
are two coupled differential equations, which can be solved numerically to any
specified accuracy.

A single solution is known already, as the equations for momentum and transport
of thermal energy and corresponding boundary conditions are identical for Dj; =
v, i.e. if the Prandtl number is Pr = 1. In this case the profiles for velocity and
temperature are coincident.

For Pr # 1 the deviation between the temperature profile and the velocity profile
only depends on the Prandtl number. In Fig. 11.1 both profiles are shown for
air flow (Pr = 0.7). It is seen that the extent of temperature profiles is largest.
The opposite is true for fluids with Pr > 1. For water, Pr = 7.0.

After some algebra, including the use of equation (11.1), the transfer of heat
from the wall to the fluids can be expressed as:

a(z1) = 0.332APr/3 | (T, - T,) for 06<Pr<10  (11.13)
VI
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Heat transfer is often expressed by use of a non-dimensional quantity named the
local Nusselt number. It is defined as:

_ q-T
Nu, = T —T) T =T, (11.14)

where x; is the distance from the leading edge of the plate. Comparison of the
equations (11.13) and (11.14) gives:

Nug = 0.332 Pr'/3 \/Re, for 0.6 < Pr <10 (11.15)

where Reynolds’ number is defined as:

Vo T1

Re, = (11.16)

11.1.2 Boundary Layers on a Plate at Zero Pressure Gra-
dient, Approximate Calculation

Approximate methods based on assessed velocity profiles normally predict the
thickness of a velocity boundary layer, §, with an accuracy of say 5-10%. The
same approximate methods will now be adopted to calculate the thickness of
thermal boundary layers , dr.

Consider a two-dimensional, steady, laminar flow of an incompressible fluid.
Along a heated plate boundary layers for velocity and temperature are formed,
see Fig. 11.2.

To
X2 <
Vo
e e A Vi
Ty
ey >

Figure 11.2: Definition sketch. Boundary layers for velocity and temperature on
a heated plate.
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control surface

Figure 11.3: Definition sketch. Thermal boundary layer. @Q is volume flux and q
is the transfer of thermal energy from plate to fluid.

The resulting inward transport of thermal energy through the control surface
depicted in Fig. 11.3 is considered.

Inflow of thermal energy:

aa’ s
T
/ peyTvidry  (J/s/m)
0
a’ b
pcpTod@
b b’
§T 8 5T
—(/ pcpTvld:m—&——/ pcpTvldxg-dx1>
0 511 0
ab:
q - dz;

Due to continuity the inflow of volume through the surface a’ b’ can be expressed
as:

o [
dQ = — v dzs - dx 11.17
Q gy ), rdez-dnm ( )
Neglecting the thermal energy due to dissipation, the resulting inflow of thermal
energy has to be zero, as the situation is steady, i.e. the temperature is constant

at any fixed point. Mathematically this is expressed as:

St ) o
/ pcpTvld:Eg—i—pcpTo—/ vy dxs - doy
0 61'1 0

o [T
37/ pepTvidry-dxy +gdzy = 0 (11.18)
1Jo

o
—/ pep T vidry —
0
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or

0

or
q(z1) = 57561/0 pep(T —T,) v1 dzo (11.19)

This equation is the local energy equation for thermal energy on integral form
for a boundary layer. The left-hand side can also be expressed as:

orT
g(z1) = =X 5 —

11.2
s (11.20)

332:0

Substitution of assessed profiles of temperature and velocity into equation (11.19)
makes it possible to calculate ér as shown below. The choice of profiles is not
very important, and e.g. parabolic profiles may be used. The assessed velocity
profile:

V1 o I%

v - 2? - ﬁ (1121)

substituted into the momentum equation for boundary layers gives:

VI

60=~5.5 11.22
- (1122
Substitution of the assessed temperature profile:
T-T, To x%
=1-2—-+ = 11.23
T, T, or o2 (11.23)
into equation (11.20) gives:
2. 2N(T,-T,
q(z1) = AT, = Tp) (——) = AT~ To) (11.24)
or or

If g(x1) is given, this expression makes it possible to calculate d directly. How-
ever, in practice we want to find ¢(z;).

This means that dr(x1) has to be calculated by a numerical solution of equation
(11.19) after substitution of equation (11.24). If the partial derivative on the
right-hand side of the equation is substituted by a finite difference, equation
(11.19) reads:

2A(T, — T, A [0
( v ) ~ Ml/ pep(T — Ty) vy das (11.25)
0

or

B A
2T, - T,) - foéT pep(T —T,)vr deg — fO(sT pep(T —T,) v1 dao
6’1" - AIl

(11.26)
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Ax

Figure 11.4: Definition sketch. Numerical calculation of thermal boundary layer

Assume that the conditions at section A including 67 are known, see Fig. 11.4.
The next step is to find the placing of the section, where the thickness of the
thermal boundary layer is increased by Adr. The size of Aédr is chosen before-
hand, i.e. 08 = 64 + Aér is known, but 28 = 24! + Az; is unknown. Equation
(11.26) is then used to calculate the distance Az; between section A and sec-
tion B. Iteration is necessary, as T, and § (and hereby v1) depend on z;. This
calculation is repeated from one section to the next one until dr(z1) is known
along the entire plate. Finally the transfer of heat g(x1) is calculated by equation
(11.24).

11.2 Free Convection in Boundary Layers

11.2.1 Boundary Layer at a vertical, heated plate

It is assumed that the fluid outside the boundary layer is at rest, i.e. v, = 0.
Temperature and density at the wall are denoted T, and p,,, respectively, and
outside the thermal boundary layer they are denoted T, and p,. As Gr > Re?
for this flow, the flow type is free convection, where density variations have to
be taken into account. This is done by use of the Navier-Stokes equation for
non-homogeneous fluids, equation (10.13).

Moreover, assume two-dimensional steady flow and the usual boundary layer
approximations to be valid, which implies that the component in the direction
of the z1-axis (positive upwards) reads:

LACTRCC B o Ovy
po<vlal‘1+v28$2)_ 3:171 pOﬂ(T To)gl+a$2 po¥ 8I2+0

The pressure gradient within the boundary layer is (as usual) equal to the pres-
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sure gradient outside the layer. Thus

op* _

=0
(9301

within the boundary layer, as pT = 0 in the resting fluid outside the layer.
Substitution of the pressure gradient and g; = —g, yields after division by p,:

o o 821)1

L A S 1 APy ) P 11.2
vlaxl +U28x2 +A( )9+ 3 (11.27)

Having three unknowns, v, v2 and T', two more equations are necessary to solve
the problem. These equations are the continuity equation:

8 U1 8 V2
—+-—=0 11.28
8331 + 8x2 ( )
and the transport equation for thermal energy rewritten to:
oT oT 03T
— — = — 11.29
Ula$1+v28$€2 Jé)a:% ( )

where D; = \/(cp p) is the thermal diffusivity and the effect of dissipation has
been ignored.

The boundary conditions read:

1)

v1=0 and v =0 for a9=0

vy —0 for x9— 0

T—1T, for zo5— 00

These equations can be numerically solved in the same way as the equations for
forced convection of the boundary layer were solved. See e.g. Schlichting (1979).
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Appendix A

The Gradient Theorem

The subject of this appendix is the calculation of the total pressure force on a
closed surface in a fluid.

Denoting the closed surface A bounding the volume X, means that the total
pressure force on A can be expressed as:

Q:AM%M (A1)

where p is the pressure and dA is the outwards directed area vector. As it may be
difficult to calculate the surface integral, we shall next derive a theorem, which
can be applied in many cases with advantage.

Gauss’s divergence theorem applied to the vector field ¢ = —p E, where k is an
arbitrary constant, reads:

/a.dZ:/ divé dX (A.2)
A X

or
/fplg-d;l:/ div(pr)dX:f/ div (pk) dX (A.3)
A b'e X
Here
., O(pk) O(pk2)  O(pks) , Op dp dp
divipk) = 0z * 0z * dxz klaxl ke 0z ks Ox3
= Fk-gradp (A4)

as k is a constant vector.
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APPENDIX A. THE GRADIENT THEOREM

Substitution of this expression into equation (A.3) yields:
/ —pE-d_Az/ —k-gradpdX (A.5)
A b's
As k is (still) a constant vector, equation (A.5) is rewritten to:

k- (/ —pd?l—i—/ gradde> =0 (A.6)
A X

The first integral in this equation is seen to be the total pressure force on A, and
the equation is rewritten to:

k- (F’p +/ gradde) =0 (A7)
X

As the direction of k is arbitrary, the vector within the parenthesis must be the
null-vector, which gives:

—

Fp:/ —gradpdX (A.8)
X

This equation is sometimes named the gradient theorem, and it shows that
the pressure force on an arbitrary, closed surface A can be found as the volume
integral of the negative pressure gradient over the volume bounded by the surface.

Notice that the pressure force from a constant pressure is always zero, as the
gradient of a constant is zero!

In a resting fluid the pressure is constant, as ppyq = —p g 2 gives:

gradphyd = (07 Ov _pg) (Ag)

when the z3-axis is vertical and positive upwards. Substitution of this pressure
gradient into equation (A.9) yields:

—

Fyra = [ —gradpdX = [ ~(0.0,-p9)dX = 0,009 X (A0

This force is the pressure force on the fluid body from the surrounding fluid.
However, if X is replaced by e.g a solid body at rest, the pressure distribution
on A is unchanged, resulting in the same pressure force. In this way it has been
shown that the pressure force on an immersed body in a resting fluid is a force
directed upwards and equal to the gravity force on the displaced volume of fluid.
This was formulated by Archimedes back in antiquity, and today this pressure
force is named the buoyancy.
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Appendix B

On the Notation of
Cartesian Tensors

The subject of this appendix is the index notation of Cartesian tensors.
The components of a 3-dimensional vector & are denoted z1, zs, x3, i.e.
T =€ +T3€ +T3€3 = (T1,T2,T3)

where €1, €5 and €3 are unit vectors in the x1-, x2- and x3-directions, respectively,
of an ordinary cartesian coordinate system.

Sometimes equations can be expressed in a short form by use of index notation.
The first convention of index notation reads:

if an index is a lower-case letter, it shall run through its range, which is normally
1, 2 and 3.

In general the range of the index i of an n-dimensional vector is the set of integers
from 1 to n.

The second convention of index notation reads:

a variable with one of the numbers 1, 2 or 8 as index, indicates the component
of the variable in either the x1-, x2- or x3-direction.

Thus, with index notation the vector & can be expressed as ;.
The third convention of index notation (Einstein’s summation convention) reads:

repetition of an index in a term denotes summation with respect to that index
over its range
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An index that is summed over is called a dummy inder and one that is not
summed over is called a free indez.

Consider two vectors a; and b;. Due to the summation convention the scalar
product (or dot product) of the vectors expressed by index notation reads:

CLibi = albl + a2b2 + a3b3 (Bl)

Since a dummy index simply indicates summation, it does not matter what
symbol is being used. Thus a;b; may be replaced by a;b;, which is obvious if the
following expression (in ordinary notation) is considered:

3 3
Zaibi = Zajbj (BQ)
i=1 j=1

Another example of an equation with a dummy index is the continuity equation
for an incompressible fluid:

P (9’01 (9’[12 ()’03
_ = B.
divi=0 =4 ) + ) + 5 0 ( 3)

which in tensor notation reads:

8’(11‘
8$Z‘

=0 (B.4)

Next consider an example of an equation with one free index:

- Op JOp Op
it A B.
gradp=k & (3:171’ Iy’ 9273) (k1, k2, k3) (B.5)

in ordinary notation. In index notation equation (B.5) reads:

op
(9:111‘ n

k; (B.6)

So far only scalars and vectors have been considered. It is, however, also possible
to express matrix equations in index notation. To do so, we use two indices. The
first index corresponds to the row number and the second index to the column
number. Consider a 3x3 matrix [A] defined by:

Ain A Asgg
[A] = | A21 Az Aps (B.7)
Az Az Ass

With index notation this matrix is expressed as A;;.
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If we post-multiply [A] by a 3x1 column vector & , the result is a 3x1 column
vector ¥/, i.e.

Y1 A A Asg z1
Yo | = | Aar Asx A T2 (B.8)
Y3 Az Azy Asg z3

With index notation and use of the summation convention, equation (B.8) reads:
Yi = Aijxj (Bg)

where j is a dummy index and ¢ is a free index.
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Index

curly dynamic pressure
definition, 16 pT, 56
added mass, 82, 86 Eckart’s number, 178
area vector, 13 eddy viscosity, 121, 146
eigenvalue, 24
Bernoulli’s equation, 69 eigenvector, 24
generalized, 71 energy equation, 166
body force, 48 equation of motion, 50
boundary layer, 91 equilibrium layer, 153
bulk modulus, 5 Euler’s equation, 68

buoyancy, 188
Fick’s 1st law, 63

closure coefficients, 155 flow
conduction, 164 laminar, 9
constitutive equation, 50, 53, 54 non-uniform, 8
continuity equation, 15 steady, 7
continuity equation for fluctuations, 150 turbulent, 9
Coriolis force, 49 two-dimensional, 7
Couette—flow, 28, 48 uniform, 8
unsteady, 8, 60

deformation tensor, 23 Auid
density, 2 ideal, 68
diffusion, 63 newtonian, 53
diffusion coefficient, 63, 159 fluid particle, 2
diffusivity, 63, 159 forced convection, 174
dipole flow Fourier’s law, 164

plane, 75 free convection, 174
dipole strength, 76 free turbulence, 140, 148
discharge, 38 friction velocity, 123
displacement thickness, 95
dissipation, 65 Gauss’ divergence theorem, 14
dissipation length, 131 grad ¢
div v polar coordinates, 73

polar coordinates, 74 gradient theorem, 100, 187, 188
divergence, 14 Grashof’s number, 174
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INDEX

hydrodynamic mass, 82, 86 pressure distribution
hydrostatic pressure distribution, 56, 58 hydrostatic, 56, 58
pressure gradient, 56
ideal fluid, 68 production of turbulent energy, 131
instantaneous velocity field, 21
isentropic stress state, 51 rate of change
. local, 11
Jet substantial, 12

submerged, 140 Reynolds’ number, 10

o . Reynolds’ stresses, 118
Karman’s universal constant, 120 rot 7

kinetic energy definition, 16
turbulent, 129 ’

olar coordinates, 73
Kronecker’s symbol, 24 polar rdin ,

rough bottom, 126

laminar flow, 9

Laplace’s equation, 35

length scale of turbulence, 131
line sink, 72, 75

line source, 72

separation, 81, 103

shear stress, 4

smooth bottom, 123
source strength, 73

spin tensor, 23

mean flow, 10, 106 steady turbulent flow, 111
Stokes’ distance, 61
Stokes’ theorem, 17
stream function, 36
streamline, 8

mechanical energy, 164
mixing length, 119
mixture layer, 140
momentum equation, 96

momentum equation, boundary layer, Stress, 2
98 stress state
isentropic, 51

Navier-Stokes’ equation, 55 stress tensor, 43

turbulent flow, 115 stress vector, 40
Newton’s formula, 4 sublayer
newtonian fluid, 53 viscous, 124
Nusselt’s number, 180 submerged jet, 140

surface force, 42
particle path, 7

plane dipole flow, 75 technical turbulence theory, 121
point of separation, 105 tensor notation, 189
Poiseuille-flow, 57 thermal conductivity, 165
Poisson’s equation, 39 thermal diffusivity, 165
potential flow, 31 turbulent, 168
Prandtl’s number, 165 transfer of heat, 176
turbulent, 168 transport equation for thermal energy,
preserved turbulence, 129 166
pT, 56 turbulent flow, 168

194



INDEX

transport equation for k, 152
turbulence, 106
free, 140
preserved, 129
turbulence models, 146
ke-model, 155
kw-model, 157
k-model, 149
two-equation models, 155
mixing length model, 147
one-equation model, 149
turbulence theory
technical, 121
turbulent
Prandtl number, 168
thermal diffusivity, 168
turbulent energy, 129
turbulent flow, 9
turbulent Prandtl number, 168
turbulent thermal diffusivity, 168
two-dimensional flow, 7

uniform flow, 8
unsteady flow, 60

varying flow, 8
velocity field, 7

instantaneous , 21
velocity gradient-tensor, 22
velocity potential, 31
viscosity

dynamic, 4

eddy, 121

kinematic, 4
viscous shear stress, 117
viscous sublayer, 124
volume flux, 38
vorticity meter, 17
vorticity transport equation, 62

wake, 140
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